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JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI

ANNUAL EXAM
2023-24
CLASS — XII
ENGLISH CORE
MODEL QUESTION PAPER

Time:3 hrs Marks-80

General Instructions:-

Candidates should answer in their own words as much as possible.

All questions are compulsory.

Total number of questions is 52.

Question No. 01 to 30 are multiple choice questions, each question has four
options. Select the correct option. Each question carries 01mark.

Question numbers 31 to 38 are very short answer questions. Out of which it is
mandatory to answer any 6 questions. Each question carries 02 marks.

Question numbers 39 to 46 are short answer questions. Out of which it is
mandatory to answer any 6 questions. Each question carries 03marks.

Question numbers 47 to 52 are long answer questions. It is mandatory to
answer any 4 questions. Each question carries 05marks.

MULTIPLE CHOICE QUESTIONS

1. Where is the salutation placed in a notice?
a. Just above the date
b. Just below the date
c. Along with the date
d. There is no need to write salutation in a notice
2. Notices in schools and colleges contain certain announcement for-
a. Principal
b. Headmaster
c. Students
d. Peon
3. Letters to the Editor are written for —
a. Newspaper
b. School
c. College
d. Club
4. What is the setting of ‘The Last Lesson’?
a. The Franco-Prussian War
b. The Indo-China War
c. The Indo-Pak War
d. None of these
5. Which country did Franz belong to?
a. Spain
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10.

11.

12.

13.

14.

15.

b. Germany
c. France
d. Prussia
‘Is your school Ready?’ who asked this question?
a. Saheb’s mother
b. Saheb’s friend
c. Mukesh
d. Saheb
The ragpickers have no identity, but they have —
a. Permits
b. Passports
c. Ration cards
d. Pan cards
‘Deep Water’ is an excerpt taken from-
a. The Life of Mahatma Gandhi
b. Of Men and Mountains
c. Lost Spring, Stories from Stolen Childhood
d. My Years with Boss
Why did Douglas hire an instructor?
a. To participate in swimming competition
b. To cross the English Channel
c. To flaunt
d. To overcome his fear of water and to learn swimming
What did the old man offer to rattrap peddler?

a. Porridge
b. Biscuits
c. Tobacco

d. Both (a) and (c)
What amount of money was stolen from crofter’s pouch?
a. 30dollars
b. 30 kronors
c. 30 rupees
d. 40 dollars
Where was the annual convention of the Indian National Congress Party held?
a. Lucknow
b. Pune
c. Kanpur
d. Patna
Pancake was the brand name of the-
a. Cookies and cakes
b. Chocolates
c. Make-up material
d. Bags and baggage
Who was the Boss of Gemini Studios?
a. Kothamangalam Subbu
b. Krishna Sastry
c. Stephen Spender
d. Mr. Vasan
Danny Casey was a player in the football team of-
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a. Ireland
b. Denmark
c. England
d. Finland
16. Sophie was a young girl who dreamt to be :
a. A Manager
b. An Actress
c. A Fashion designer
d. All of the above

Read the given extract and answer the question.
Driving from my parent’s
Home to Cochin last Friday
Morning, I saw my mother,
Beside me
Doze, open mouthed, her face ashen like that
Of a corpse and realised with pain

17. The given extract is taken from the poem-
a. Keeping Quiet
b. My Mother at Sixty-six
c. A Thing of Beauty
d. A Roadside Stand
18. Where was the poet driving to?
a. Parent’s home
b. Cochin airport
c. Cochin market
d. Cinema hall
19. Who was sitting beside the poet?
a. Her daughter
b. Her mother
c. Her sister
d. Her friend
20. What type of wars does the poet talk about in the poem, Keeping Quiet?
a. Green wars
b. Wars with gas
c. Wars with fire
d. All of these
21. Whom did the enchanted youth, Endymion resolve to seek?
a. Cynthia, the moon goddess
b. Nature
c. His beloved
d. Cupid, the god of love
22. What are things of beauty mentioned in the poem?
a. Sunand moon
b. Young trees and streams
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c. Flowers
d. All of the above
23. Who was Sam in The Third Level?
a. Adoctor
b. A friend
c. A psychiatrist and a friend of Charley
d. None of the above

24. “Let tigers beware!” Who said this?
a. Astrologers
b. Palmist
c. The Prince Jung Jung Bahadur
d. The dewan
25. For how many years ago did Gondwana exist?
a. 650 million years
b. 500 million years
c. 600 million years
d. 700 million years
26. What is the ‘Akademik Shokalskiy’?
a. An Indian Research vessel
b. A Russian Research vessel
c. A Chinese Research vessel
d. An American Research vessel
27. The wounded soldier of the story ‘The Enemy’ belonged to-
a. The Russian army
b. The British army
c. The Japanese army

d. U.S. Navy
28. What did Mr. Lamb grow in his garden?
a. Cherry
b. Mango
c. Peach
d. Apple

29. Why did Bama reach in one hour instead of 10 minutes?
a. Because she used to stop at every shop
b. Because she used to watch shows on the road
c. Because she used to enjoy all fun on the roads
d. All of the above
30. Why did Zitkala not like to cut her hair?
a. Because she liked long hair
b. Because she did not like anyone to touch her hair
c. Because her mother had told her that mourners and cowards keep such hair
d. None of the above
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Read the following passage carefully and answer the questions that follow:

The sun was warm but the sea breeze kept up its cooling effect all along. Soon the steamer turned
away and anchored gear a creek by the river. The muddy fringe and the mangrove vegetation declared
the gateway to the Bhitarkanika Wildlife Sanctuary in Odisha. The steamer could not negotiate these
creeks at low tide, so a similar motorboat was hired to ferry us to the Dangmal forest rest-house in the
heart of the mangrove forest. From the motorboat we had a good look at a large crocodile basking in
the sun.

The boat moved on, taking us deeper into the forest. Here we felt as though we had stepped into a
time warp. In plumage: this awesome and mysterious place, birds of extraordinary covering a bir
phimage appeared before us. For the moment we revelled in the magnificence of nature which had us
completely in its thrall. Among the birds, the kingfishers were the stars of the show. Crocodiles, large
and small, slid into the water at our approach. Through the foliage we could see chital deer delicately
browsing on fresh outcrops of leaves.

A herd of wild boar was spotted searching for succulent roots. High above us, open-billed storks stood
sentry-like following our progress through their remarkable kingdom. The evening sun was beginning
to paint the tree-lined horizon crimson and gold and a brooding silence enveloped us all.

Answer any six. 2x6=12

31. Where was the author going?

32. Where was the forest rest-house?

33. How did the group manage to get there?

34. Which creature did they see first?

35. Who were the stars of the show?

36. What does the author mean by the magnificence of nature?

37. How are the kingfishers and the open-billed storks described?

38. What were the chital deer and the wild boar doing when the motorboat went past them?

Answer any six. 6x3=18
Read the following passage carefully and answer the questions that follow:

There are a number of reasons why we must conserve the world's plants and animals. Plants are
essential for our own survival. Only they can use the sun's energy to make food. So plants are the vital
first link in the food chain of which we ourselves form part. One of the by-products of the food
making process in plants is oxygen, without which very few forms of life can exist on earth.

Animals need plants in order to survive, but plants also need animals. All animals and plants are
bound together in delicately balanced communities or ecosystems. The removal of just one species
can drastically alter a whole ecosystem.

Our own survival may be threatened if we cause too much disruption to the natural processes that
occur in this planet. The destruction of the world's rain forest is causing some concern in this respect.
In some areas the removal of the rain forest has already reduced the local rainfall. Some scientists
suggest that if too much forest is destroyed, the rainfall in crop- growing areas will decrease, and
these areas will become deserts.

Another important reason for preserving wildlife is that it is a potentially inexhaustible natural
resource. We use many plants and animals to supply us with food, materials and chemicals. If we
exploit these species to the points at which they cannot replenish themselves. they will no longer be
available to us. At the moment we understand the biology of only a tiny fraction of the world's
wildlife. We do not know what useful materials we will lose in this destruction.

JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI [Annual Examination] [Session: 2023-2024] Page 5 of 7



39.

40.

41.

42.

43.

44,

45.

46.

47.
48.
49.
50.
ol.

52.

On the basis of your reading of the above passage make a note on it. You may use
headings, sub-headings, and abbreviations.

Write a summary of the above passage in about 80 words.

You are Virat/Advika, the head boy/girl of S.S.+2 High School, Silli. Your school is
organising a tour to Netarhat. Write a notice inviting the students who are willing to go
the tour in not more than 50 words.

You are David/ Dorothy, the Secretary of Cultural Club of St. Francis School, Khalari.
Write a notice for your school notice board inviting students to give their names for a
Fancy Dress Competition in not more than 50 words.

You are Tarun/Taruna, write a letter to the Editor of ‘The Express’, Ranchi complaining
about the frequent breakdown in the supply of electricity in your village.

The Electoral Literacy Club of you school organised a Voter Awareness Program in the
school campus. Write a report in about 80-100 words for the school magazine describing
the event. Sign as Mukul/Mansi of Zila+2 High School, Ranchi.

Write an article on ‘Climate Change’ or “‘Women Empowerment’ in about 80-100 words.

What happened to William Douglas at YMCA when he was eleven years old?
Answer any four. 4x5=20

Why did M. Hamel put on his special dress?

What do the parting words “see you soon Amma’’ of the poetess and her smile signify?
What did Charley claim for in ‘The Third Level’?

Why do rural people make roadside stands?

In what conditions do the bangle makers of Firozabad live? Why can’t they come out of
the state of poverty?

How did Dr Sadao help the American soldier?
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JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI

ANNUAL EXAM
Session: 2023-24
CLASS — XII
ENGLISH CORE
MODEL QUESTION PAPER
ANSWER KEY
1 b 11 b 21 a
2 c 12 a 22 d
3 a 13 C 23 C
4 a 14 d 24 C
5 C 15 a 25 a
6 d 16 d 26 b
7 c 17 b 27 d
8 b 18 b 28 d
9 d 19 b 29 d
10 d 20 d 30 C
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JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI
Annual Examination

Session: 2023-2024
Class-XII
ENGLISH ELECTIVE
MODEL QUESTION PAPER
Time-3 hrs Marks:80

General Instructions:-

e Candidates should answer in their own words as much as possible.

e All questions are compulsory.

e Total number of questions is 52.

e Question No. 01 to 30 are multiple choice questions, each question has four
options. Select the correct option. Each question carries 01mark.

e Question numbers 31 to 38 are very short answer questions. Out of which it is
mandatory to answer any 6 questions. Each question carries 02 marks.

e Question numbers 39 to 46 are short answer questions. Out of which it is
mandatory to answer any 6 questions. Each question carries 03marks.

e Question numbers 47 to 52 are long answer questions. It is mandatory to
answer any 4 questions. Each question carries 05marks.

Read the following poem and answer the questions from 1-3.
Deep in the night
When all is still
A moon learn climbs the window —sill
Over your bed
It softly flies
To see if sleep has closed your eyes.
A pinch of gold
Some fairy sand
It clasped within that moon leans hand
And if by chance
You’re not asleep
It comes tip-toe on gentle feet
To touch your eyes
With golden beams
And take you to the land of dreams.
1. The poet speaks of the moonlight as if it were
a. a watchman
b. athief
c. ashadow
d. afairy
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2. “A pinch of gold /some fairy sand’’ (line 7-8). The poet has used this expression to describe.
a. the colour of the moonlight
b. achild’s dream world
c. the face of the moon
d. the face of an innocent child
3. A soothing effect of the moonlight is that
a. it climbs the window-sill
b. it tip-toes on gentle feet
c. it putsa child to sleep
d. itrubsa pinch of golden sand on eyes

Choose the correct indirect speech for the given direct speech. Question 4-5

4. He says, “l am busy”.
a. He said that he was busy
b. He said that he is busy
c. He says that he is busy
d. He says that he was busy
5. He said, “May you live long!”
a. He said to me that he might live long.
b. He told me that he might live long.
c. He prayed that | might live long.
d. He prayed that he might live long.

In each sentence given below, there is an error with the verb printed in bold . Find out
the appropriate verb in each case. Question 6 and 7.

6. We considering that we should deal with the problem carefully.
a. considered
b. consider
c. considers
d. had considered
7. This house is consisting of five rooms
a. consists
b. consist
c. are consisting
d. has consisted
8. What are caterpillar and fly in the poem ‘The Human Abstract’?
a. Insects
b. Peace lovers
c. Anti social elements
d. Follower of virtues
9. Finally, what was the mark on the wall?
a. Asnail
b. Anail
c. Ahole
d. A shadow
10. With accident is mentioned as the story, ‘I Sell my Dreams’ begins?
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11.

12.

13.

14.

15.

16.

17.

18.

19.

A car crashed into the hotel wall due to a huge wave
An earthquake took place
People slipped on the floor because of the soapy texture
d. None of the above
In the past, why was the narrator in awe of Frau Frieda?
a. She spoke a bit of Spanish
b. She was fond of music
c. She had an extraordinary piece of jewellery
d. All of the above

© T

According to the story ‘Eveline’ which of the following statement about Frank is not true?

a. He wants to marry Eveline

b. He tells stories of his travels

c. He likes music

d. He has challenged Eveline’s father in a duel
In the story ‘I Sell My Dreams’ who sold dreams?

a. Narrator

b. Pablo Neruda

c. Frau Frieda

d. Frau Frieda’s brother
Frau Frieda lived in a castle like house in

a. Portugal

b. Spain

c. Austria

d. Cuba

How many hours did the poet and his beloved spend together (A Lecture Upon the Shadow)?

a. Two hours
b. Three hours
c. Four hours
d. Five hours
According to the poet, what do the shadow before noon represent?
a. The lover and beloved moving apart
b. The absolute love
c. The lover and beloved coming together
d. Longer shadows
When do shadows disappear?
a. Sunis overhead
b. Sun rises
c. Post noon
d. Fore noon
Who were of vital importance to Bergman for what he was?
a. Hiswife
b. His parents

c. Hissister
d. His friend

The river Alph ran down to a
a. Mountain

b. Indian ocean
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C. Sunless sea
d. Valley

20. Which type of slavery are mentioned in the essay ‘Freedom’?

a. Natural slavery
b. Unnatural slavery
c. Bothaandb
d. Neitheraandb

21. Why did Dr.Margolin not want to attend the wedding at Brownsville?
a. Because he wouldn’t get a chance to sleep.
a. Because he was on a fat-free diet.
b. Because Jewish laws and culture were completely distorted.
c. All of the above.

22. Whom did Dr. Margolin treat without any charge?
a. Rabbis
b. Refugees
c. Jewish writers
d. All of the above

23. Who is the final winner in the race against time?
a. Humans
b. Stars
c. Mortal dross
d. All of the above

24. Whom does Milton call ‘the son of memory’ and ‘heir of fame’?
a. William Wordsworth
b. Shakespeare
c. William Blake
d. John Keats

25. Why was the woman described in Kubla Khan wailing?
a. Because she had lost her parents
b. Because she had lost her child
c. Because the demon lover had abandoned her
d. Because she was punished by Kubla Khan

26. In ‘Trees’, bright flowers are compared to
a. Hindered flags
b. Tassels
c. Summer day
d. Estates of cloud

27. After how many years has the poet visited Coole again?
a. 10
b. 15
c. 19
d. 12

28. In the poem, ‘The Wild Swans of Coole” which season has been talked about?
a. Summer
b. Winter
c. Spring
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d. Autumn
29. What does the poet ask the readers to listen to?

a. Bells
b. Clocktowers
c. Horn
d. None of the above
30. “Beating their gongs round the clock, each slightly off the others’ time, or ”?

a. Lighter or denser
b. Deeper or lighter
c. Lower or higher
d. Higher or lower
Read the following passage and answer any Six questions from 31-38. 2x6=12

Native American hunters, like the Sioux, spent summer and autumn moving across the wide
rolling grasslands of the Great Plains, chasing herds of buffaloes, which they killed for meat
and skin. During winter, they camped in sheltered valleys or woods. Before Europeans settled
in America, bringing horses with them, Great Plain hunters travelled vast distances on foot.
The Native American farmers grew beans, maize and squash (pumpkin) which were the there
essential food crops. Those farmers who lived in the forests of North West America carved
tall totem poles to record their family's history and to retell ancient legends about the
powerful spirits they believed lived in all rocks, mountains, wild animals and trees. These
totem poles were made by skilled craftsmen in North West America, present day Canada.
They carved magical creatures on these totem poles. It is strongly advised that no one should
believe in these spirits. This is given merely for information and general knowledge.

31. Where did the Native American find shelter during winter?

32. What were the essential food crops grown by them?

33.Where and by whom were the totem poles made?

34. How would the Native American hunters spend their summer?

35. What is strongly advised?

36. How did Great Plain hunters travel?

37. Give the meanings of the words given below. One-word answers or short phrases will be
accepted.

i) essential

i) advised.
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38. Last week you attended a seminar on ‘The Importance of Blood Donation’ organized by
RIMS, Ranchi. Write a report of the seminar for publication in the school magazine. Sign as
Deepa/Deepak.

Answer any Six questions from 39-46. 6x3=18

39. In many parts of the country girls are still discouraged from going to schools.
Consequently, a sizeable section of the population is deprived of education. Write a
composition on ‘Promoting Education of Girls’.

40. Recently Chandrayan 3 landed at the South Pole of the moon. It was a proud moment for
India. Write a composition expressing your views and emotions on this achievement.

41. Did the author believe in the prophetic ability of Frau Frieda?

42. Who was Frank? Why did Eveline’s father quarrel with him?

43. What is the contrast between the liveliness of the swans and the human life?

44, The poem “Kubla Khan” is a fragment. What do you think has made it a lasting literary
piece?

45. What are some of the risks of film making?

46. What are the three major issues Amartya Sen discusses here in relation to India’s dialogue
tradition?

Answer any Four questions from 47-52. 4x5=20

47. What is the role of the mother in Prakriti’s self-realisation? What are her hopes and fears
for her daughter?

48. Attempt a character-sketch of Balu.

49. Discuss the role of Dr.Pal in The Financial Expert.

50. How does the tiger eventually attain freedom from the captain?

51. Describe Raja’s days as the king of the jungle.

52.How does “A Tiger for malgudi” explore the theme of the relationship between humans
and animals.
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JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI
Annual Examination
Session: 2023-2024
Class-XI1
ENGLISH ELECTIVE
MODEL QUESTION PAPER
MULTIPLE CHOICE QUESTIONS

ANSWER KEY
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MODEL QUESTION FOR CLASS 12th Exam 2024
F.M:80 Time: 03:00 hour Subject-Urdu Elective
PART A: OBJECTIVE

_:,r}'ng_:,mg-u;zéf;,;gﬁd;gﬂgLdvﬁ‘c‘-f'*:1/v7u(uﬂ'f~u.?d/’ﬂéﬂ”"f’/”f
cetlped L L pg )

_éjé/g;‘;ab’wld)@'j'ZZT)*!ﬁLJSc1/:‘;Jirul“&zcj:;[u’@!du/fJ.;’,?/,«:f

Vet T ViU e b U ASI 116, yrrrnd Ve e i § ES IV F L™
u)‘b‘{,/)‘Z:é,ﬁJgé@ﬂﬂuﬁ’é—uj/‘bfé:ulul,g"/_mabﬂ)idﬂq;’ﬂ:!JQTKJ’«‘JL‘QGJJ/‘
<\ JEIT S0 S LI Gt ek G ais f s

te o U ™ 1A

A) $ - B) & (©) Uds D) A
et U ASIUE 1L //g,ﬁru/ S 2 A

(A v B) & (O v D) S S

Ui ar ) N ™ o 3 A

(A) g B) ystr (C) g2 (D) (=

?é/dﬁl«'”{,c«lp}‘.‘}ﬂ?/t'.ggf/ e Sdioinr 4y

(A) iy, (B) #1660 db (D) 25

¢\ ST e S S LIS A

(A) SEut (B) S£ux (C) SEUs (D) $k L3



LT AETI_6 I

A §/E B a2 () A D) 3t
PNy S POV AT 4l e Jtl I

A J5 Bl (© ue (D) 3t
Ce el = St sar 8 A

(A) cmbfIB) $ALISE (© bi e 61 D) ntrbrds
R I ZEF1229 2 v sl 2 e s S SIS E S s 500k

4;4,,{.&?Jdp;y,&“gf/?u?nidm/;téfgw’jjéuuu'iﬁ'éJu”f&fédigzuﬁ/
}’/u)féuﬁulKu’!-..,fvg/ggdﬂVQ:J:VQ?J;/U;Q;Z;)-{_M_}(J/GJQ;/51£Tuﬁé quéé
oW SIS 28 e B S S umd U1 S in S il

€ iFle LU UL k9 A i

(A) £ B) k7 (O ;S (D) e

Lt K AN U104 s

(A) Fed B) 5 H0) iy, D) 42U

?u'?ddz;),&w?u?niuﬁll/dv

A $se B 6 (© §s D) ¢~
Sy T SIS 1124 i

W& ® s ©F D) die

e IS ARG 213 A s



A st B s (O s o &
?wuf.éwgi“mut?ﬁ/!”uﬁdﬁmﬁui‘*wé,’].14/Jty

(A) e (B) puugssd (O doe” S (D) U7 Ut
S KL 15 A

A A5 B s O £ (D) w#dus

e JESIL et U TSP 12164 i

(A diz B gesa (O FA D S
Ce WUt b e Ui i L B 21717 A

W ®F © 4 D) A

e N JE DIl e S 5o ier -1 8 2 iy

A A& B) A (©) ¥# (D) ok
U EU AU Uk E Lo 19 4 U1

(A) Fariiiz B) s/ ©) $Azu X D) o
$

P2 L2320 2 v S ol s S TGS 225 5 sk
€Uk AL £ P auinifio

CUd el 52 Unbiz

KUboe U 02U S PSS

Z u;}?T//Lb/)!:u;fz uffré[_,:l{.)d



LA P U 2041

(A) Uit B) Ut (© ks D) H3 Sy
s Sty 2 onr 21 A iy

W deed ® di (© gEH (D) &p-¢

S YU 2 LU P E 224

(A 4 ® & O z D) =t
o § L ukn-23 AU

(A sy B g (© 2 D) £k
WA oS S 242 s

A & B g © 7 D) ¢ S

€2 stliy UGSt SWIL25 A s

(A =d B © & (D) =
22641

fﬂu”{ﬁdlﬂﬁ?c‘-«ﬁ/’

Sndf 7o i

Cpud FEL A ue
(A) b (B) J% (© Wi (D) 7
ﬁad’tﬁd;wu/ Kg@f' St 27 A

(A) 1/ (B) 4besyt (C) oy D) wns



e X S e 128 F

(A) 2zt (B) Zlzies (C) Sty D) Uy
‘e ES L AP RS PI29 A

(A st (B <L © Cir D) i
fe BB WS o e 32 0a0 30,2 i

(A) erdSF B) Ui ©) s D) & <t

SNy d

_+ﬁwﬂﬁuﬁ UrP el

LA L e i szl e P &
ULt Sudr

7 2

AL SO s L1265 e e 2T ke 2x6=12
Marks

U 2SS A e

St KL 73732 A v

Cebgf st b o 133 A
%.Jlﬁuﬁ*wi_’,ﬁuﬂw/{g‘)t}t-ﬂ/dv

C Ll n S SH L JF 35 A



sl (6367
?c‘-Jtﬁuﬁ*nu%}zc‘-M uu‘fK(w SH3137 AU
b'/”,.‘}“

38 Ui
_ﬂﬂbJ# ,,Eij“

UM 4 L UB500% .ﬂ.,lzngu/ = Sy BT S 50k

3x6=18 Marks
?uj’lzr%ﬂéubnuiutufu{ﬂ?u:_,;luug.”/‘)v
st Mo “u/ﬁﬁ’/””AO/Jﬂr
05 2T Ut LS 41 A
U= A o S5 A2
-u:‘”ﬁ Al YF A &L IS, Jui_43 # s
BRI ERP IS RN NN I Ty
CUGE o U S -45 2 i
S LIS 5 o0u0 46 A iv

- el

113

6)),.‘0}

U PR ALUE 100 F1260p e U £ 5o 5x4=20 Marks

“me ;/4/1;/ Lmuwf: 147 / Jis



215,068 FES il e b S UG to48 Z Uiy

s e ST, SEUE 49 A Uiy

Lo el F = e 50,4
sy AT v 51 A

_n 3K Jl;nuf SIS uf‘i =P LI L /L)&qidﬁ@-ﬂ A



ua b W N B
[ T T |

(B)
(€)
(€)
(D)
(B)

O 00 N O
[

(B)
(B)
(D)
(B)
(€)

11-
12.
13-
14.

(A)
(A)
(A)
(B)
(€)

ANSWERKEY

ub‘?

(16)
(17)
(18)
(19)
(20)

(B)
(D)
(A)
(D)
(€)

(21)
(22)
(23)
(24)
(25)

(A)
(A)
(B)
(B)
(A)

(26)
(27)
(28)
(29)
(30)

(B)
(€)
(B)
(D)
(D)



RWUS Afe ST Td UrRiemr uiRkeg , st
ClEEZRA]

379 :2023-24
AlSd Uy U

| & - Xl | fawg- difaet | 954- 3 hr | gurieh 70

ATAIG foIcor:-
o udlemnell JerRisid 31uoel 9recl 3 I <l

Candidates should answer in their own words as much as possible.

213l ueat siforari 3l

All questions are compulsory.

Dt Uil Dl AR 48 3l

Total number of questions is 48.

a9 1 A 25 dD SgiABiCtRT U%l 8 | UId U6 & aR faascy 13 318 3| 18l faascu oI ariet
IR U sl & ferg 01 siap forerifya 3

Question No. 01 to 25 are multiple choice questions, each question has four options. Select the correct
option. Each question carries 01 mark.

%G1 AICAT 26 A 34 D 3ifel o1 I uosl 31 fSrR1d A fobodl 7 ussil @I 3R Soll siforard 3l
UID U1 I Al 1 i forerifed 3l

Question numbers 26 to 34 are very short answer questions. Out of which it is mandatory to answer any
7 questions. Each question carries 01 marks.

U191 JFSRIT 35 A 42 D o IAK U 8l ForR1a 3 fibodl 6 ussll 1 IR Solt siforart 31 Ui
U1 b1 3Tl 3 3icp forerifya 31

Question numbers 35 to 42 are short answer questions. Out of which it is mandatory to answer any 6
questions. Each question carries 03 marks.

%I AHIRT 43 A 48 S IR UtS 31 fbodl 4 Uil I IR Soll StfoIdRI 31 Ui Usl Pl Hlol 5
3iep forerifya 3

Question numbers 43 to 48 are long answer questions. It is mandatory to answer any 4 questions. Each

question carries 05 marks.

fAafeied & @ 319 91 o1 ¥Hd §?

Which one of the following charges is possible?
(A) 5.8 x 1018 C

(B) 3.2x 1018 C

(C)4.5x 1019 C

(D) 8.6x101°C

Tep foig A Q ! faqgd &= E H W1 71 &, 3HTa §RT 3(IHd fobam S arefl &1t g1

A point charge Q is placed in an electric field E, the force experienced by the charge will
be
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(A) Q/E
(B) QE
(C)E/Q
(D) 1/QE

3 | ud® 4iikdl ¢ & o FeTRa THFIR S-aR § S oiTd ¢ | 99 ged oTiar _ gt

Three capacitors each of capacity C are added in parallel connection. Then the equivalent
capacitance will be _

(A) 3C

(B) 3/C

(C)C/3

(D)1/3C

4. | TTRIEE g S i SR Ul &1 Faid § ORaT 8, & o) faggd T (Nm2C-1 ) 8., ; (e
T8 qi = - 14 nC, gz =78.85 nC, qs = -56 nC)

The electric flux (in Nm2C-1) for Gaussian surface that encloses the three charged particles
in free space is (given qi =- 14 nC ,q2 =78.85 nC , g3 = -56 nC)

(A) 103

(B) 106
(C) 6.32x 103
(D) 6.32x 106

5 | ue gHmR wie arg JuTia &t g1RdT C gl 81 516 39 5 fa9ded (RRI® ad f[agdled 3 4l ave
1R fear Srar g, ot e & wfawra i gt

A parallel plate air capacitor has a capacitance C. When it is completely filled with a
dielectric of dielectric constant 5, the percentage increase in the capacitance will be
(A) 100%

(B) 50%

(C) 500%

(D) 200%

6. | did @I Te HI [ARIY UfcRIY die & Tdd dR &I ga1 | &
(A) H

(B) 31T

(C) 9

(D) 79 q P18 e

The specific resistance of a rod of copper as compared to that of thin wire of copper is :
(A) Less

(B) More

(C) Same

(D) none of these

7. | 3N %1 w99 A giaT § 919 91ei &1 dT9H BidT |
(A) Sgd ®H

BERKIRED

(C) ST
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(D) RRIH
Ohm'’s law is valid when the temperature of conductor is :
(A) very low
(B) very high
(C) varying
(D) constant
8 |fo, fagga uRuy & U & faggd urT &1 axifar &, f fAggd URT1 & SRR §
Figure shows the current in parts of electrical circuits, then current I is equal to
2A 1A
\ /’ 1.3A
e
7{ -~
A
(A) 1.7A
(B) 3.7A
(C) 1.3A
(D) 1A
9 |JIPN A DI TPR §
Unit of magnetic field is
(A) Wb m?2
(B) Wb/ m?2
(C) Wb
(D) Wb /m
10 | gRAT®T & HRUI ga& i &F fohd IR 1R 781 ol §
(A) S YHTA! BT TS
(B) IIHH
(C) P
(D) 9 A PIg Tl
Magnetic field due to a solenoid is independent of
(A) its numbers of turns
(B) current
(C) radius
(D) none of these
11. | G Odd, dd, THMIGR dR, S g3l d F 3T §, U o o= # [ TRIRR &1 YRT Ydlied &xd g1 9 ...
1“012
(A) T R @1 (274) g7 | 3o B §
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s

(B) Wb R &1 (27d) g § Ui Brd §
Iuo‘r2

€ W TR B 27d°) 57 F snfia wxa &
!

(D) TF TR @ (27d°) qq | vfeiig wa ¥

Two thin, long, parallel wires, separated by a distance d carry a current of I ampere in the
same direction. They will

(B) repel each other with a force of

!
(2rd?)

(C) attract each other with a force of

pl”

2
(D) repel each other with a force of (27d")

12

G-IRPd P! SI SPTS &
(A) S

(B) T

(C) IR

(D) BT

SI unit of self-inductance is
(A) joule

(B) coulomb

(C) weber

(D) henery

13

Tt uRkoy # Ufvd 4T &1 fa=m gH=m Ut g1t § T 98 39 SR &1 faR1Y FH«l ¢ fod BRI I8
I B §1 39 Fgw &1 A B

(A) 3 &1 |

(B) T+t &1 fa|

(C) Tl &1 fAgm

(D) BTS &1 oy

The direction of the induced current in a circuit is always such that it opposes the cause
due to which it is produced. This law is named as :

(A) Ohm’s law

(B) Lenz’s law

(C) Kirchhoff's law
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(D) Faraday's law

14 | gradf 4RT lhsinot gRT fedt fou U ufeRkiy # e Af¥a Iva § Iaaa T syt ulkam &f ue
fRR 4RT & FaH grf

The heat produced in a given resistance in a given time by the sinusoidal current Ipsinot
will be the same as that of a steady current of magnitude nearly

(A) 0.707 Io

(B) 1.414 I,

©) Io

(D) VIo

15 | yeprer 1 fhvur fora Areny @ gue 71ed &) 3R 0 Hal § a9
(A) THEAq ¥ G2 JH Ol §

(B) THEIaq T 3R b &Il ®

(C) ST T &I Seerdl &

(D) s T8I

The ray of light traveling from rarer medium to denser medium

(A) Bends away from the normal
(B) Bends towards the normal
(©) Does not changes its path
(D) None
16 | 3P d WIgeR & ATHH ¥ UHIR &1 T fhdd HRUT gl 82
(A) 3MTARE TR
(B) ot 3ifeifie TRTaci
(C) 3UdcH
(D) THTRI HT Y10

The light traveling through optical fibres is due to

(A) Internal reflection

(B) Total internal reflection
(C) Refraction

(D) Scattering

17. | o Hgad GEIaRN & SHNeRad ol gRI 915 T8 Uidiad oI 6:
(A) ST 3R BleT

(B) ARG 3R BT

(C) TIID 3R TS

(D) SMHT 3R &S

The image formed by objective lens of a compound Microscope is :
(A) Virtual and diminished
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(B) Real and diminished
(C) Real and large
(D) Virtual and Large

18.

Tl a1 o A & oY Tgciiae RIS o1 fauR qad Ugd fhde gRT fdar mar ur?
(A) A

(B) &

(©)

(D) Thad

The idea of secondary wavelets for the propagation of a wave was first given by
(A) Newton

(B) Huygens

(C) Maxwell

(D) Fresnel

19.

ﬁwwwmmmw%aﬁvqﬁwﬁWﬁWw%lmﬁ

(A) SGdT 8

(B) U ST ®

(C) 3raRafda g 8.

(D) fibst Tt T &) e B

A double slit interference experiment is carried out in air and the entire arrangement is
dipped in water. The fringe width

(A) increases

(B) decreases

(C) remains unchanged.

(D) Fringe pattern disappears.

20.

%@wﬂmaﬁiwﬁlﬁmﬁa@rﬁgﬁﬁwwﬁﬁwm?(ﬂaﬁ%&mwwaﬁ

De-Broglie wavelength of a body of mass m and kinetic energy E is given by (symbols have
their usual meanings):

(A) h/N(2ME)

(B) h/2mE

(C) 2mE/~h

(D) h/mE

21.

IR & RA] ASd A FERIRGd & ¥ B I h/ 2 &1 Yol U 87

(A) TS Soll

(B) T URHIY] I fAsa

(C) FHTfad ot

(D)

In Bohr’s model of an atom which of the following is an integral multiple of h/2mr?
(A) Kinetic energy

(B) Radius of an atom

(C) Potential energy

(D) Angular momentum

22.

n=2@fn_=3,4,5,6, ......... Zoided BT faRITT .......... AT TId1 §
DISELEECSIl
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(B) SR gl

(SRIGERR il

(D) e YRaa

The transition of electron from n =3, 4, 5, 6, .......... to n = 2 corresponds to
(A) Lyman series

(B) Balmer series

(C) Paschen series

(D) Brackettseries

23.

S UPHIUH GRT ATG TS T MATDHR ANHS B 3941 3.6 fm § | ANHD B GTHH & I
3if B BT FUTIT T B2

The radius of a spherical nucleus as measured by electron scattering is 3.6 fm. What is
the mass number of the nucleus most likely to be?

(A) 27

(B) 40

(C) 56

(D) 120

24.

P-ci3Y RAfeIp 1 YHidrader U - & (oY, BH G RIAPH Bl (b S & &I HTIRIHdl &
(A) T

(B)

(C) 3iTeRfTSH

(D) STHIIH

To obtain p-type silicon semiconductor, we need to dope pure silicon with:

(A) aluminum

(B) phosphorus

(C) oxygen

(D) germanium

25.

TRH B R AIITAR! BT Ul
(A) TC STdt @

(B) ST ©

(C) 98! AT §

(D) USd T & MR gedl §

On heating, resistance of semiconductors:
(A) decreases

(B) increases

(C) remains same

(D) first increases then decreases
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26.

217.

28.

29.

30.

31.

32.

33.

34.

39 Hifdes R BT AT IdTST [O=BT S.1. AP NC-1 8 | 1 IE T 3w a1 afewr i g2

Name the physical quantity whose S.I. unit is NC-1 . Is it a scalar or a vector quantity?

HIR 3R TGAATH J 11 &1 T HUSTrdl HI Th TAH Jadb1g & H U FHH T I AR
ST € ot ford &1 peait H U URT &1 {14 31 gim?

The two identical coils made of copper and aluminium are rotated with uniform speed in a uniform
magnetic field then the then in which coil more value of induced current is induced?

B B forved Ta1 &1 offd & o D1 T faggd e ol &1 SUdNT [T ST 82

What electromagnetic waves are used to examine the crystal structure of solids?
& BT BT AT SRISR BT ¢ | P SI-S1aH aiT G& BT ST T 82
Two particles have equal momenta. What is the ratio of their de-Broglie wavelengths?

p <12 3fefarais | Ht oRyfs et gt 8

What kind of impurity is found In p -type semiconductor?

wa%qﬁﬂ P 3UTITIP 1.5 Pl 59 H WA AT 8| A & TS 811 & (oI aRa bl (Ui T gl
?

A glass lens of refractive index 1.5 is placed in a trough of liquid. What must be the refractive index of
the liquid in order to mark the lens disappear?

3N IR gRT faeyd T qUithH BT B T HIT GY P TSI T Saifrd e 82

Which section of the electromagnetic spectrum is absorbed from sunlight by the ozone layer?

BT FaeITadl fFg ag & Jaaid It & o HOmdS gidl | ?

The magnetic susceptibility is negative for which type of magnetic material?

SAe-ATac &l IH afeer &7 #7 faf@u.

Write Biot-Savart’s law in vector form.

35.

36.

37.

THIAFTIGga & £ =5x 1027 N/ C a1 T 8, 9 &5 $1 UaTg 10 It & a1l & Ty ¥
TS, ForgeT Tde Yz Td8 & THHIR & | afe aa x-318f I 30° BT HI0 g1 §, O 39T I I Bl
ToRA AT U T B2

— ~~ . . . .
Given a uniform electric field £ =5x 103 i N/ C, find the flux of this field through a square of side
10 cm, whose plane is parallel to the y-z plane. What would be the flux through the same square, if the
plane makes an angle of 30° with the x-axis?

THTHA Jeb1T & § T YRTATE] dTee TR BT B a1 9 & foTY Teh ol ogd HIvTe |

Derive an expression for the force acting on a current carrying conductor placed in a uniform magnetic
field.

Aegr® g uerd, S id Uard aul Ufagias i Uerd & ga-T difog|

Compare ferromagnetic material, paramagnetic material and diamagnetic material.
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38.

(a) faadH iR sfaexr & o9 SR ford |

(b) TP AfAHRUT T H SHfUBaH SR YAaH diadT BT 30T 36:1 § | &l AABRI a1 b S
1 UTd &1 82

(a) Write the difference between diffraction and interference.

(b) The ratio of maximum and minimum intensities in an interference pattern is 36:1. What is the ratio
of the amplitudes of the two interfering waves?

39.
WIcIsdiacd UHTd & TS &b THIHU BT ford 3R JHSMI?
40. Write and explain Einstein’s Equation of the Photoelectric Effect?
IEWBIS & o-HUN YebTUH YA o1 RS Bifoig |
41, Explain Rutherford’s o —particle scattering experiment.
JUGed 3RW D GERIAT ¥ p-n TR T (&g &A1 b T B ARAT Hiford | T g TR 31
ST HY Faa oI 8
(i) 3rIfefRIe srag o
(i) TgfeR® s |
With the help of a suitable diagram, explain the formation of depletion regions in a p-n junction. How
does its width change when the junction is
(i) forward biased, and
42. | (ii) Reverse biased?
T ac Afehe H, e [ = 5 sin(100 - 11/2) amp g 3R ac TAHAR V = 200 sin(100t) dree gl ﬁagﬁ'
QAT T U fohef=il grafl ? T AR &l r.m.s &M 8 3T A
In an A.C. circuit, the current is I = 5 sin(100 — 11/2) amp and the A.C. potential is V = 200
sin(100t) volt. Then find power consumption in the circuit? Also find r.m.s value of current.
43. | fopt ol o fore MafaRad 9 U wiforg
1 _ g, 11
§ =) 5%
et faftd Sora I Sidf B ugad | |
Derive the following formula for a lens
=0 5]
(Symbols have their general meaning).
44, | (3) BTEINE B T Ry feRa |
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Write the Huygens wave theory.
(b) ST YT & FIH! BT Fad Hifor |

And derive the laws of refraction from it.

45.

46.

47.

48.

(a) fasT=i &1 & Tau & U dHeaex & Gad Sciagi-i & 3(UdTg a7 o [og Udh Soidh YT &y |

Derive an expression for drift velocity of free electrons in a conductor in terms of relaxation time.

(b) TARSAT HITOTY fob AT T+ TR hft o1g o1 UfeRieewdT af §¢ St 82

Explain Why there is increase in resistivity of a metal with increase of temperature?

THh RS R TP UG [9ggd a8 & (e.m.f.) T STl & | TOMHT =0 J USRI &< b 598
YRT HRIRA faggd a8® §d (e.m.f.) w2 & HaAT BV Wi g

An alternating e.m.f. is applied across an inductor. Show mathematically that the current in it lags
behind the applied e.m.f. by a phase angle of n/ 2 .

(a) UM dggd &F H TW d5Yd fg8d R T aral 9 3HTYUf & fole Zieids U siforg |

Derive an expression for the torque experienced by an electric dipole kept in a uniform electric field.

(b) fIega fEya gRT 3rva 3o o Fareu! sifiisay e gI?

When torque experienced by the electric dipole will be maximum?

Ted-HIeR T 82 ATHifbd o T ITANT BRPp Ted-IHIeR I TFAT 3R BT BT JuH B |

What is a galvanometer? Describe the construction and working of a galvanometer using a

labeled diagram.
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1 B 11 A 21 D
2 B 12 D 22 B
3 A 13 B 23 | A
4 |A 14 |A 24 | A
5 C 15 B 25 | A
6 C 16 B
7 D 17 C
8 |A 18 B
9 B 19 B
10 | C 20 A
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Model Question Paper

HAT - XII forear o= qwg-3 "t qutieh : 70
ATHIG foIc9r:-
o usiemnell Jerisid 31uoel 9recl 3 I Sl

Candidates should answer in their own words as much as possible.

o 18fl uest stforari 3
All questions are compulsory.
* ol Uil bl A3 48 3
Total number of questions is 48.
o Ul 1 A 25 Ao sglamieud usst & | ucdd Ul & dar fawcu fou a1e 31 J8l fameu @1
TRIo1 BISRI Ui Ursl & fe1u 01 3ip forerifya 3
Question No. 01 to 25 are multiple choice questions, each question has four options. Select the correct
option. Each question carries 01 mark.
o UI%I FIRIT 26 A 34 A il o1 ITRT u%el 31 51931 A fdbodt 7 el T 3tk Sol siforard 31
URID U6l ol AT 1 3ib forerifed 3l
Question numbers 26 to 34 are very short answer questions. Out of which it is mandatory to answer
any 7 questions. Each question carries 01 marks.
® UG AHIAI 35 A 42 AD oI ITMRA U%I 3l 111 A fbodl 6 Uil I 32 Solr siforart 3l
URID U6l I ATd 3 3ib forerifed 3l
Question numbers 35 to 42 are short answer questions. Out of which it is mandatory to answer any 6
questions. Each question carries 03 marks.
o U] T 43 A 48 Il IeRT utst 31 fopedl 4 ussil @I 3R Soll 3ifeldri 31 Ud Ut DI
#AT1Gt 5 3icp forerifea 3
Question numbers 43 to 48 are long answer questions. It is mandatory to answer any 4 questions.
Each question carries 05 marks.
1x25 =25
1. Molarity of an aqueous solution containing 2g of NaOH in 200 ml of solution is

a.0.5 b. 10 c.5 d. 0.25
200 AN STl faeer # 2 ITH NaOH gﬂT% ar TaorIeT &l ATSIRAT T B19TT?

a.0.5 b. 10 c.5 d.0.25
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2. Among the following subetane the lowest vapour pressure is exerted by

a. Water b. Alcohol c. Ether d. Murcury
A ¥ ford IeTY GanT arsdIg T Tad e gram 2
a. STl b. chlgcl c. $W d. 9RT
3. UnitofKpis?
-1 -1 -1 -1
a. mol Kg b. mol L c.glL d. K Kg mol
K , T HTTH 87
a. mol Kg'1 b. mol L™ c.g L d. KKg mol™
4. The quantity of charge required to obtain one mole of aluminium from Al, O3 is
a. 1F b. 6F c.3F d. 2F
Al O3 & Teh Aol TG ATAIH AT it H fohceil AT 3 TaRr T AT gl
?
a. 1F b. 6F c. 3F d. 2F

5. The molar conductivity is maximum for the solution of concentration ?

a. 0.004 M b. 0.002 M c.0.005 M d. 0.001 M
TSIt & Aredr & foIT Aoy dTelehdr Iad 318 glar ?
a. 0.004 M b. 0.002 M c. 0.005 M d. 0.001 M

6. Specific conductance of 0.1 M NaCl solution is 1.01x 10> Ohm™ cm™ its molar
conductance in Ohm™ cm? mol™ is
a.1.01x 10 b. 1.01x 10° c. 1.01x 10* d. 1.01

0.1 M NaCl [aerasT &1 fafrse arelehdT 1.01x 102 Ohm™ cm™8 ,dT STHT AlelX
ATelehdl Ohm™ cm? mol'lﬁEFCITgIaII ?

a. 1.01x 10° b. 1.01x 10° c.1.01x 10* d. 1.01
7. Radioactive disintegration is an example of?
a. Zero Order b. First order c. Second Order d. Third Order
Wearafera faaes v 3g1geoT g 2
a. YEI HIC b AR c. Qi Hife d. i
8. The unit of rate and rate constant are same for a reaction ?
a. Zero Order b. First order c. Second Order d. Third Order
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forg 373fiTohaT &1 X TAUT ST FEARTh T ATISh JHTA BT 6 ?
a. T HIfE b. YUH hife c. EIadT HIfS d. AT e

9. The rate constant for a first order reaction is 2 X 10 min™" the half life period of

reaction is
a. 69.3 min b. 34.65 min c.17.37 min d. 3.46 min

Ueh FUH HIfC 3ITRAT 1 & ReRi® 2 X 107 min™ § Y 38T Y AT FATE ?
a. 69.3 AT b. 34.65 AT c.17.37 s d. A=

10.During the course of the chemical reaction the rate of reaction

a. Increases with time b. Remains constant with time

c. Decreases with time d. Irregular trend with time

Rt Tramafae 3rafifRar & eirer srafifsrar T e 2

2. HHY & HY TG ¢ | b. HHI & AU fRR @ |

. AT K AT gedrg | d. I7 & 91y AfaafAd war g |

11.Which of the following transition metal ion is colourless ?

a. V" b. Cr’* c.zn’" d.Ti**
ST | et HT HeheAUTT T 37T TG & 2
a. v** b. cr** c.zn™ d. Ti°t
12. Which of the following transition metal ion has highest magnetic moment ?
a. cu” b. Ni** c. Co** d. Fe**
SoTH W hieT-AT HehHUNY Te] 3T ohT YFahId 0T Hallftieh glarg 2
a. cu” b. Ni** c. Co** d. Fe**
13. The hybridisation involed in [Ni (CN)4]2_?
a. sp3 b. dsp2 C. sp3d d. sp3d3
[Ni (CN)4]* & HergoT & 2
a. sp3 b. dsp2 C. sp3d d. sp3d3
14. Which of the following is not a neutral ligand ?
a. H,0 b. NH3 c. ONO d.CcoO
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SoTH @ hleT Teh 3SR TN 77gl & 2
a. H,0 b. NH3 c. ONO d. co

15.The number of ions given by [Pt (NH3)g] Cls in aqueous solution will be ?

a.2 b.3 c.5 d. 11
[Pt (NH3)g] Cly STolr fareraet 3 fohctetr 31T 3T |
a.2 b.3 c.5 d. 11

16. Which of the following ligand form a chelate?
a. Acetate b. Oxalate c. Cyanide d. Ammonia

S I diol-aT foldIs dele SeT 2
a. tflce b. HTFHIC ¢ ABATIS d. 37T

17. Which of the following reaction follows Markovnikov’s rule
a. CoHg + HBr b. C3Hg+ Cly c. C3Hg + HBr d. C3Hg + Br>

SIH I i - AT ATRTRAT Fpfafasia & fazs &1 arerat HLam ? |

a. CoHg + HBr b. C3Hg+ Cl> c. C3Hg + HBr d. C3Hg + Bry

18.Which of the following compounds has the higest bolling point ?
a. CH3 CH; CH, ClI b. CH3 CH, CH, CH, Cl
C. CH3CH( CH3) CH» Cl d. ( CH3)3 cdcl

518 O foh IR AT hozatioh Tad 3R § |

a. CH3z CH, CH;, Cl b. CH3 CH; CH, CH, Cl
C. CH3CH( CHg) CH, Cl d. ( CH3)3 ccl

19.Which of the following alkyl halides is hydrolysed by Sn” mechanism?

a. CH3C| b. CH3 CH, cl C. CH3 CH, CH, Cl d. ( CH3)3 ccl
3T W FRT 3TohTsel §l1SS Y gIgaiad Sn' hafafer gary ghem 2
a. CH3C| b. CH3 CH, cl C. CH3 CH, CH, Cl d. ( CH3)3 ccl

20.The ease of dehyrohalogenation of alkyl halide with alcoholic KOH s
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a.3°<2° <1° b.3° > 2°>1°

c.3°<2° >1° d.3°>2°<1°
3TeHISH §ellS5S AT 3Tehlglel  KOH & AT FSgT83IToieIereT &1 had TaT 6 2
a.3°<2° <1° b.3° > 2° > 1°
c.3°<2° >1° d.3°>2°<1°

21.which of the following haloalkanes is most reactive ?

a. 1- Chloropropane b.1 - Bromopropane
c. 2-Chloropropane d. 2 - Bromopropane
SR ¥ Pl goil3Toshad ey s TfshT & ?
a. 1- PRSI b.1- STHISYA
c.2- FlaRgYeT d. 2 - STAYAeT
22. Conversion of ethyl alcohol into acetldehydre is an example of -
(@)  hydrolysis (b)  oxidation
()  reduction (d)  molecular rearrangement
SATg IePIEial B TRICIeSEIgS § 99 U@ 9alevyl 8 -
a. EAESA K I F ik b. Gy
C. ATHIT d. onfvas yaeiawen
23. The product obtained when sodium phenoxide reacts with carbon dioxide is
(@)  benzoic acid (b)  Salicylaldehyde
(c)  salicylic acid (d)  phthalic acid
ifean frraurss 99 FrdTeEaaEs & 9t Jffea s @ & SR 99—
a. AAIEEH 3T b. AfTasdcfsEEs
c. wfauasfas d. oafas s
24. Etheris obtained from ethyl alcohol in presence of H,SO, at
(@) 113K (b) 443K
(c) 413K (d) 213K
fa a0 w® H,S0, & SuRefy ¥ Fumge sodiaiad @ $oR U 8T @ -
(@) 113K (b) 443K
(c) 413K (d) 213K
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25.

The product of hydrolysis of ozonide of I-butene are :
(a)  ethanal only (b)  ethanal and methanal
(c)  propanal and methanal (d) methanal only

T IAE 9T ST 949 |- Ffea & AAES FT A ATacT F —

a. Ha SATATA b. BUTIA X BmEia
C. PICIE IR ER L IR ] d. wmIA AT

(arfer oy S 9EA)

Answer any seven questions

=Sl ura gy & 9N ¢ |

26.

27.

28.

29.

30.

31.

32.

33.

34.

Give an example of negative deviation from Raoult's Law ?
ASee B a9 & FOTHS fadeT &1 Udb ISTERvT T |
Express relationship between resistance (R) and Specific conductivity (k)
yfeier @il faf¥rsee =araear 4 w4y <207 |
Write the IUPAC Name of the compound
few g Fifire @1 IUPAC Im fard |

(CH3)3 CCH,Br
Name the aldehyde which does not give Fehling's solution test.
tfesgrgs &1 ™ 9di¢ ol BefdT faaaa v =& 2«r ?
The reagent to convert nitrile to primary amine.
MecTsd &l e s 4 g3 & forv sfsds ?
The geometry possessed by [Ni(CO),] is
[Ni(CO),] T &R F4T 8 —
What are the hydrolysis products of sucrose ?
GHIS BT FollT Jqercd § Fa1 g sid & ?
Why do amines behave has nucleophiles ?
i fFerBIga #1 dve AdeR F BYd 27

What happens when aniline is treated with Br, water ?

SIRAUS IIISID 3rolielol ud UfSIsiur ufdug, el [aftfes udtedn) [31 : 2023- 2024] Page 6 of 12
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FIT BT @ W9 el &t Br,wal (@1 war) & warer Af¥fpar s wimar 27

(Short Answer Type Questions)
(g So9a 9e)

Answer any six questions 6x3=18
5=l B: yTl & STx 2|
35. Differentiate between molality and molarity, write their units. What is the effect on
change in temperature ?
Hrelerdr MY Aiexdl d Fa X a7 9 9= ford | arudr= gRkads ¥ g9 W)

T YHTT ySdar 22

36. NO, dissociates into NO and O, as follows :-

ZNOZ >2NO + Oz

If the rate of decrease of concentration of No, is 6.0 x 10™* moLs™.
What will be the rate of increase of concentration of O, ?
NO,,NO 3R 0, ¥ U usR fafea = wmar 2 —

2NO,

>2NO + 0,
IR NO, @ ¥igdl & 9e &I ¥ 6.0x 102 moL's™ 2 af 0,9
ATEAT &1 9 BT X F°T BT ?

37. Write the IUPAC Names of the following Coordination Compounds :-

(@) K3[Cr(C04)s]

(b)  [Co (NH;)s Cl] Cl,

() Ks[Fe(CN)s]

s w9a diffral & IUPAC I ford

(@)  Ks[Cr(Cy04)s]

(b)  [Co (NH3)s Cl] Cl,

(€)  Ks[Fe(CN)s]

38. Complete these reactiosn :-
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39.

40.

41.

42.

31 affparan’ & qRT R |
(a) CH3 - CHZ -OH + SOC'Z

OH
|
(b) CH3-CH,-CH-CH;+H,S0, (Conc.) >
heat
(C) CH3'O'C2H5+ HI >
Write on :-
(a)  Peptide linkage (b)  Glycosidic linkage
(c)  Name the bases present in RNA.
3?'(5 IR ford —
(a) UwrzS W (b) ToTsEItifS® wfY

(c) RNAY U oM aTd @RI & -9 ford |
Complete these reactions :- AfHfHATIN B YT B —

(a) CH3 - CHZ - CHZ -Cl + KOH (aIC.) R ——
(b) CH3CH2‘ Cl+ AgCN — -

Acetone
(¢) CH;-Cl+Nal ———>

Write Carbylamine reaction and its use ?

aifda wii= aftfpar o g gaeT SuaiT 9a1v |
a. Define monosaccharide. Give an example ?

b. What are reducing sugars. Give an example ?

a. AFRBUSS 1 TRATNT & | ST T |

b. =Y WS FAT T? THF SATST < |

SIRAUS IIISID 3rolielol ud UfSIsiur ufdug, el [aftfes udtedn) [31 : 2023- 2024]
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(Long Answer Type Questions)

(&=l g ye)
4x5=20

Answer any four questions

gl aR 9T @ SR T |

43.

44.

45.

(@) What is salt bridge ? Write its functions.

(b)  If acurrent of 1.5 flows through a metallic wire for 3 hours,
then how many electrons would flow through the wire ?

(a) <@ AY ¥ B ? 3HST S ford |

(b) fft enftas aR ¥ 1.5 TR fagga oT 3 @ a% warfaa =i @
al aR 4 fpaa g 3 gadci=l &1 9dre s ?

Explain with reason :- Transition metals :-

(i) And their many compounds show paramagnetic behaviour.
(ii)  Generally form Coloured Compound.

(iii)  Exhibit variable oxidation states.

(iv)  And their many Compounds act as good Catalyst.

(v)  Enthalpies of atomization are high.

PIROT §A1d EY T P : AHAT 9%

(i) <R 9@ M A IqgEPT TR vRfad o 2|
(i) arr=ga: e aifre sard 2

(iii) uRadl sifai@svor aazen yefRta & 2

(v) OAT 998 3% G =8 IATE &1 &1 s 2 |

(v) @ il &1 A 9ea quid ¥

Identify A,B, C,D and E in the following :-

fFr=fafea & € AB,C,D a2 E$I usaH —

HCN H,0
(@) CHyCHO ———"A" ——> "B"
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H+

i) Cl,/P
(b) CH3CH2COOH —> "
ii) H,0
H,
() CH;col —— > "p"
Pd'BaSO4
chr207/H+

(d)  CHsCHO —> "E"
46.  Write Short notes on the following :-

(a) Cannizzaro reaction
(b) Clemmensen reduction
(c) Hoffmann bromamide reaction

Fr=ferRaa wr dféra feofy ford -
(a) of ot srfafear
(b) TARTAT IAHIOT
(c) Erpd=s dmmgs afafsear
47. (A)  Why O-nitrophenol is more volatile than p-nitrophenol ?
Far ? sl — Argeifbeid, IRT—ATscifb-ia € 3ifSre arsqzfier grar @ ?
(B)  Complete these reactions :-

arffparan’ & qof Y |

OH
| Cu
(a) CH3CHCH; ————>
573K
PCC
(b) CH3;-CH=CH-CH,0H —>

+

H
() CHsOH + CHsCH,COOH ————
<

48. (A) Definite rate of reaction. ?
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(B) Thermal decomposition of HCOOH is a first order reaction with rate contant of
2.4x10 2 s at a certain temperature. Calculate how long it take for three — fourth
of initial quantity to decompose.
(A)arfHferar @1 X & aRwva a1 |
(B)ReR @Ta YR HCOOH &T ATy 3T wew Hife fufwar & Rraer 97 Rerrs
2.4x107° s 2| R wiger &1 d—atend uEed ¥ @ GHa B O
)| ?
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ANSWER KEYS :-

1. (a) 2.(d) 3.(d) 4. (c) 5. (d) 6. (a) 7. (b)
8. (a) 9. (b) 10. (c) 11. (c) 12. (d) 13 (b) 14. (c)
15. (c) 16. (b) 17. (c) 18. (b) 19. (d) 20. (b) 21. (d)
22. (b) 23. (c) 24. (c) 25. (c)
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a1f¥e® serHIf3ue gdem

(2023- 2024)

gfagel wesT 9
Model Question Paper

HETT- 12

fvg- e e ¥HY- 3 Tl quife- 70

ATHIG foIc9r:-

uStetreff Aremeisia sruot 9regi 3 3= 3l
Candidates should answer in their own words as much as possible.

219l uest siforart 31

All questions are compulsory.

et Uil bl AT 48 3l

Total number of questions is 48.

usl 1 A 25 ad sgidmicu Ut & | Ucdd Ul & ar famcu fou a1 3 18t
ferpcu oI TrRIel DTSRI URID U & fé1u 01 3ic forerif¥a 3

Question No. 01 to 25 are multiple choice questions, each question has four options.

Select the correct option. Each question carries 01 mark.

U%GT FFRT 26 A 34 AP 3fel o JARI Ut 31 SR A [bodl 7 usell @1 IR
Sotl forart 31 Ui sl ol ATol 1 3 forerif¥e 31

Question numbers 26 to 34 are very short answer questions. Out of which it is
mandatory to answer any 7 questions. Each question carries 01 marks.

%1 HIRT 35 A 42 AD oI I U 3l [Sr1a1 A fbodl 6 il 1 3R Soll
3iforari 31 Ui Ut I 3ol 3 3ib forerifa 3

Question numbers 35 to 42 are short answer questions. QOut of which it is mandatory
to answer any 6 questions. Each question carries 03 marks.

%1 AT 43 A 48 Shek ST uesl 31 fobadl 4 Uil oI 3R ol siforart 3
URID U1 I Il 5 i forerifed 3l

Question numbers 43 to 48 are long answer questions. It is mandatory to answer any 4
questions. Each question carries 05 marks.

Choose the correct answer.
HET 3R T TIA Y|

1. fArAT T # @ leT A1 el HIANTAT 7 Aot g9 Tea3it & desh # Jeg 78 82
a) STYTHA HOTNY sheh HOTAY H IR A grer 2|
b) 3% FISATYT S[UTIY & &9 7 faahfad giar 51
¢) FIHS HOT & &9 H a8t gIar &
d) 3731 Hel & & H fqrfad giar gl

Which one of the following statements regarding the post fertilization events in angiosperms
iS not correct?
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(a) Primary endosperm nucleus develops into endosperm.
(b) Megaspore develops into an embryo sac.

(c) Zygote develops into an embryo.

(d) Ovary develops into fruit.

2. TRIY & SIw o YT iel T gl GILT Y107 o [T eiers &2
a) AreTE A
b) TECIST
SRIGIEG]
d) Ige e

Which hormone is responsible for the secretion of milk after the birth of a baby?
(a) Progesteron
(b) estrogen
(c) prolactin
(d) androgens

3. g ceheileh ToTEeh S@RT Q10T ST TIEMT TN 3TSTO] H hIT STl & -

a) ZIFT
b) GIFT
c) ZIUT
d) ICSI
The technique by which sperm is directly injected into the ovum is: -
(@) ZIFT
(b) GIFT
(c) ZIUT
(dyICsl

4. 9 5 ST & Sl 9IFT 7 &7 AT 3Teltel UTC ST &, df 98 Sd ShgdTdar 8-
a) FHAGIHASN
b) fasFrgIA=TS
c) YT
d) gHTar

When the genotype of an organism contains two identical alleles, the organism is
considered as: -
(a) Homozygous
(b) heterozygous
(c) recessive
(d) dominant
5. AT # & fhE Tehe T &g & 82
a) UAG
b) UGA
c) UcC
d) AUG
Which of the following codons has dual function?
(a) UAG
(b) UGA
(c) ucc
SIRAUS 81D 3loRitIlel ud Ufdrsiur ufdvs, it [arftfep w3te) [3031 : 2023- 2024] Page 2 of 12



(d) AUG

6. THINES & YW U Hlel & U@ & hRI JATT &, 3d: Ig 3STeI0T § -

a) HHSATT 3T &
b) faweSITT 37T &
c) AvHgIH=TSH
d) FHRYIHT

Wings of bat and wings of insects have similar functions so are examples of :-

(a) Homologous organ
(b) analogous organ
(c) heterozygous

(d) homozygous

7. Teh ST (ST HehT Sileil TT6T | A1° § a5 Tohcl HeG AB T TG 2ol hicll & | SEHeRT ShRUT g

(a) TETeTTAT
ENFUEEICE
c) geTfaar

d) IR fahrR

A person having, | *I® genotype would show the blood group AB. This is because of:

a) Codominance
b) Incomplete dominance
c) Dominance

d) Chromosomal Disorder

8. Ti- TSI HE UTIT ST & —
THSFEIRTH STHI G H I

a) o
b) TONIfRIT Flells
c) Te3HIET faeeifelfedr
d) SeFEIRThor

Ti- plasmid is found in —

a) Agrobacterium tumefaciens
b) Escherichia coli
c) Entamoeba histolytica

d) Bacteriophage
9. 3TATH T Heferet fafRrse ge) o e Joa T ggeiet Y |

a)aRIR —— g

b)HeXdeT —— S CBIR
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C)FTEHRIIT ——  SIITall ITeT

d) SFReTH TSERT 36ATeT —— Fhiel Har

Identify the incorrect pair of the habitat and the particular animal concerned-

a) Periyar —_— Elephant
b) Sundarbans e Bengal Tiger
c) Rann of Kutch —— Wild Ass
d) Dachigam National Park ——  Snow Leopard
10. TUH YUeFehc Ffdelel USlegiFellst AT -
a)EcoRl
b) Bam HI
c) Sail
d) Hind Il

The first restriction endonuclease isolated was
a) EcoRl
b) Bam HI
c) Sail
d) Hind Il
11. T YY) o $OTUIY chy hI TR A IO hT HEIT 24 & | $8h JIHh H UG ol H&IT 4T

c)23
d)12

The cells of endosperm of a plant have 24 chromosomes. What will be the number of
chromosomes in its gametes?

a)8

b) 16

12. fArfafed & @ fore Zoa o1 ATeT=r GATSE Hr gefor A grarg?

a) STeAGX Ud 3T9Ar

b) FcgeX Td ScqaTHe
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¢) STeHEY Ud 3cHards]

d) Fcgex T AT

Which of the following pairs contributes to an increase in population?
a) Natality and immigration

b) Mortality and emigration

c) Natality and emigration

d) Mortality and immigration

13. I Teh 31Tl Taeh 29T ST AT fehe] aTgeh T & SaRT 30e1 $© 7 HATcrdl &l
TATATART T &, 7 TE AR &-

a) 3rforaf gerraY

b) 31feraft 3roraTTaT
c) ToleT TgeTdaT THTaT
GER GG EIEL

If a genetic disease is transferred from a phenotypically normal but carrier female to only some
of the male progeny, the disease is

a) autosomal dominant
b) autosomal recessive
c) sex-linked dominant
d) sex-linked recessive
14. Ig 9TREN S ITRT AT H IR F THhATE, TS & -
a) IgA
b) IgE
c) IgM
d) IgG
The antibody which can cross placental barrier is-
a) IgA
b) IgE
c) IgM
d) IgG

15. QAR & AT foRaT STe Tt TS H & TTeeRy —----mmemmen ST & grerehd feha

a) THRFEIRGH cgHIBIEIT
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b) ¥HT vFIICIFT

c) ?—?’Qﬁﬂg@? UodH

d) NIRRT Fleirs

Enzyme ‘Taq polymerase’ used in PCR, has been isolated from bacterium
a) Agrobacterium tumefaciens

b) Thermus aquaticus

c) Streptomyces albus

d) Escherichia coli

16. IS UThaT o GaRT A A fhT 31T 'IMesel ISH' H — - T TAT I & |
a) ST T 3Tg AT
b) AR Fr 3T AT

EGMGEEIRPCEIEL

d) faerf@T A T 3Ta amEr

‘Golden rice’ developed through transgene approach is enriched with
a) high lysine content

b) high methionine content

c) high glutenin content

d) high vitamin A content

A | -1 - — HTHISA 5 |

d) shaeh Td fauro]

Lichens are the associations of
a) bacteria and fungus

b) algae and bacteria

c) fungus and algae

d) fungus and virus

18. I ScuTeeh T I 20 STeT Foil M giell &, Al et e el 5[@relt 7 HR o 91 fohctelt
ST 3TcTetr TgalT

qter - g > |9 > AR
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a) 0.02)
b) 0.002)
c) 0.2)
d) 0.0002 ]

If 20 Joule of energy is trapped at producer level, then how much energy will be available to
peacock as food in the following chain?

Plant >Mice - Snake —>Peacock

a) 0.02)
b) 0.002J
c) 0.2

d) 0.0002)

19. ITE SST5eaR , Shelal Td fgord T Hiefl Y@r 7 39ieyd gf, df 98 sisiis dgelldl o-

a) ﬁ'ﬂ'l'ch'\q'
b) 3freiferaw
c) TEhIEOH
d) FAUSACTH

When micropyle, chalaza and hilum lie in a straight line, the ovule is said to be

a) anatropous
b) orthotropous
c) amphitropous

d) campylotropous

20. faeg v feaw &-

a) 21feEsR
b) 1f&HsR
) 1ddR
d) 59
World AIDS day is
a) December 21
b) December 1
c) November 1
d) June 5
21. Teh WIS &fa@se [afer o qaRT STefel T & | ©: NiGAT & I HATSS H WSS
AT FATGIIN?

a) 128
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d) 32
A protozoan reproduces by binary fission. What will be the number of protozoans in its

population after six generations?
a) 128
b) 24
c) 64
d) 32
22. Ueh WIS SITAT 3107 & Fagfad fa 9 g &-

a) ShieQIH IduT &

b) TSI fFeIUsT USTSH

c) 3YFTAA &R

d) fAruTger 5o E

The sticky ends of a fragmented DNA molecule are made of

a) calcium salts
b) endonuclease enzyme
c) unpaired bases
d) methyl groups
23. XX-XO TR T XX-XY TR o felar fAeiRoT — - & 3CTEIUT R |

a) AT favFg T
b) 7R AHZIHT

c) 7R fawagaaehr
d) (b) T (c)gr=lt

XX-XO type and XX-XY type of sex determination are the examples of —-----.

a) Female heterogamety
b) Male homogamety
¢) Male heterogamety

d) Both (b) and (c)

24, THRHL T TG AT S TR o 3fefehel Fohicl T frefioT vt 8-
a) GBI AT
SEIGER
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c) 3BT

d) afciemr
The part of gynoecium that determines the compatible nature of pollen is-

a) Synergids

b) Style

c) Ovary

d) Stigma

25. Teh TR A UeToIsh# ehT TR FTS &-

a) §HcI

b) FHSE

c)sia

d) aias

Basic unit of ecological hierarchy is-
a) Community
b) Population
c) Individual

d) Ecosystem

A &g el weat (VERY SHORT ANSWER TYPE QUESTION)

rafaf@a & O foradl a1 &t & 33 &

Write the answers of any seven questions of the following.

26. ITETTS HhIOT T 72

What is a test cross?

27. TSI RITARIV gl ITS SATcT 872

Where are the Leydig cells located?

28. SiieT Fafrcar sFar g7
What is gene therapy?

29. &R fAgH @ 7fad safea & genfaa sieiersy &1 fay |

Write the possible genotype of a person having Turner's Syndrome.

30. g 3iReTeT 37t TS qcie fohat forgr?

SIRAUS 81D 3loRitIlel ud Ufdrsiur ufdvs, it [arftip u3tetr] [3D1 : 2023- 2024]
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Who wrote the book 'The Origin of Species'?

31. Ueh 08 GEAha o1 1A e foreeht 3uier Sifde @re & &9 # fhar Srarg |

Write the name of a microorganism which is used as a biofertilizer.

32. JTeaiRIehd: ATHT sgforeT Far g2

What is genetically engineered insulin?

33. aifaar & g a 1 |

Define parasitism.

34. 3 STeT g FAT §?
What is a red data book?

argmﬁ‘zrsre;r (Short Answer Type Question)

AFATIRd § O el &: It & 3 S|

Write the answers of any six questions of the following.

35. AT ad &1 [F e H|

A9 | a9

(B) TR HATT 2. A4S
(C) THfSE gefer 3. JRTITOT

Match the following .

Column | Column i
(A) Earthworm. 1. Natality
(B ) Ecosystem services 2. Detritivore
(C) Population growth. 3. Pollination

36. Ueh GRYeFd $UTeRIY ol ATHI fehel T SATT |

Draw a well labelled diagram of a mature embryo sac.

37. SITAT JHaTelTdl 27 §2 $8eh &F eIy T |
What is DNA Fingerprinting? Write it’'s two applications.

38. AR v 39aY AT & AT 37aT TS HY |

Differentiate between convergent and divergent evolution.

39. gRImRT &L |
a) Aereefad
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b) ErehIenToT

Define
(a) Metastasis
(b) Vaccination

40. FellT1aT HaTgeh, GoAAToTel SITAT ceheileh  TohE YR HgcadquT 3{fHehT 38Tl 82

How cloning vectors play an important role in Recombinant DNA Technology?

41. 39 [3f3erar g & AT sRuT FAT §2

What are the various causes of biodiversity loss?

42. AaTer YEPeT T ARATVT Y | Teh TIRAT Y Tg H& FeTTAT LT 872

Define algal bloom. How does it affect an ecosystem?

&rer 398 99 (Long Answer Type Question)

AT 7 & fohedl IR 926l & 3 S|

Write the answers of any four questions of the following.

43. AT A YSIVTSTeTel Td HSSTolel o HEF 3R TISE N |
Differentiate between spermatogenesis and oogenesis in humans.

44. 39gerd 3ETGI0T T HERICT T o [1a Ua fagaieret & foras & sarear #i|

Explain the law of Dominance and The Law of segregation with the help of
suitable examples.

45. 3TfTd ITaReT Fa7 §2 59 [affieaT YR a7 £72 IR Aegadt iaeT fFd 9eR R

I TTSTAhT & ThATT F TATAT &7

What is acquired immunity? What are its various types? How cell mediated
immunity protects the body from the attack of pathogens?

46. 3UFF IRY T FEHIT ¥ FATE afoifes (HR o) &t 9d &1 auie |

Describe population logistic growth model with the help of a suitable diagram.

47.gﬂﬁaﬁﬁw$ﬁﬁwﬁrmﬁrmﬁl

Describe the process of formation of Recombinant DNA.

48. ST 31TRTTFT & fATHA T 3T FIT THSTA &2 b TaTelh T HEIIAT T SHT SITETT |

What do you mean by regulation of gene expression? Explain with the help of lac
operon.
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Answer

1 b 6 b 11 a 16 21 o
2 o 7 a 12 a 17 22 o
3 d 8 a 13 d 18 23 c
4 a 9 a 14 d 19 24 d
5 d 10 d 15 b 20 25 c
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SIRIAUS IIf&IPD 3ofzitllol Ud UfdIgiur ufswe, il
diftias sreIfdra ullen
(2023- 2024)

MODEL QUESTION PAPER

ufercoi usl us1
Class —12 | Subject — Mathematics F.M.-80 Time — 3Hour
(F&ET—12) (Frera—rfore) (qo1f H—80) (¥ a—3 =<T )
A forIS9r-:

o Udiemell JerRisid 3ol 91ecl 3 IR Sl

Candidates should answer in their own words as much as possible.
23l Ut siforari 3l
All questions are compulsory.
et Uil bl A1 52 3l
Total number of questions is 52.
%l 1 A 30 AP SIaDpICTRI U1 & | Udd Ul & aR fdmcy {3 31 3 1481 famcu
DI TRIol DRI Ueid sl o fe1u 01 3ip foterifed 3l
Question No. 01 to 30 are multiple choice questions, each question has four options. Select the
correct option. Each question carries 01 mark.

U191 AT 31 3 38 1< 3feT oTe Il Ul 31 {31131 A1 febodl 6 Uil I 3R Soll
iforari 31 Ui Uscl I Hlol 2 3idb forerifee 3l
Question numbers 31 to 38 are very short answer questions. Out of which it is mandatory to answer
any 6 questions. Each question carries 02 marks.

U961 AT 39 A 46 1D oIF LRI U1 31 [S1131 A febodl 6 Uil a1 = Sotl siforard
21 U Us1 I 3Tl 3 3 forerifya 3
Question numbers 39 to 46 are short answer questions. Out of which it is mandatory to answer any
6 questions. Each question carries 03 marks.

%1 AT 47 A 52 S IaAER1 usel 31 fdpodl 4 ussll I Ieik Soll ifordri 31 Ui
U951 b1 3Tl 5 3icp forerifya 31
Question numbers 47 to 52 are long answer questions. It is mandatory to answer any 4 questions.
Each question carries 05 marks.

A relation R on set {1,2,3}is given by R = {(1,1),(2,2),(1,2),(3,3),(2,3)}.
Then the relation R is

(a) reflexive (b) symmetric

(c) transitive (d) symmetric and transitive
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Uh Geg R 9= {1,2,3} W™ R ={(1,1),(2,2),(1,2),(3,3),(2,3)} g1
gR¥INT 7, O 99 R ©

(a) g (b) FHfAT

(c) WD (d) GEfAT 3R Fhrd

Let f(x) = x3 be a function with domain {0, 1, 2, 3}, then domain of f "1 is
(a){3,2,1,0} (b) {0,—-1,-2,-3}

(c){0,1,8,27} (d) none of these

A 6 f(x) = x3 & %o © oI wid {0,1,2,3} €, @ f~1 &1 Uid
(a){3,2,1,0} (b) {0,—-1,-2,-3}

(c){0,1,8,27} (d) 398 & ®Ig T8

sin(tan™1x), |x| < 1is equal to

sin(tan™1x), |x| < 1 RSR &

X 1 1 X
@) iz b Fi5e ) Tx? ) e

cot™1(1/¥3) — cos™1(—1/2) is equal to (SRR )

(@) (b) == (€)= ()=

P [ 2x +y 4x] — [7 TP , then the value of x, y are respectively

5x -7 4x y x+6
2x+y 4x _[7 5y—7] _
ax |y = v ate | T x oy ® A wE R
(@)3,1 (b) 2,3 (c)2,4 (d)3,3

If A be any square matrix, then (A + A) is

(a) identity matrix (b) symmetric matrix

(c) skew-symmetric matrix (d) none of these

qfs A PIE a7 e ®, a1 (A+A) ®

(a) THHD IMTYE (b) THAMAT 3TgE

(c) faws AT 3megE (d) 398 & DIg T8l
2 3 x 3 .

If |4 c =|2x 5|,thenx|s
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10.

11.

12.

(a) 2 (b) -2 (c)0 (d) none of these

e |42L |2x 5| LER
(a) 2 (b) -2 (c)0 (d) 379 & ®1g e
What is the relation between a and b, so that the function f defined by
flx) = {ax +1, %fx =3 is continuous at x = 3?
bx+ 3, ifx>3
(@Qa=0hb (b)a+b=2/3 (c)a—b=2/3 (d)noneof these

a 3R b & 9 BT Feg ®T BT 19D 70 B
{ax+1, ifx <3
b

x =3 TR Fdad 87
bx+ 3, ifx>3

(b)a+b=2/3 ()a—b=2/3 (d)sTH ¥ PIg &I

d
If y = log(logx),x > 1 then d_y is

afg y = log(logx) ,x > 1 Fﬁ il %\'
1 x 1 -1
(@) logx (b) logx (c) x logx (d) x logx

If (af2) VX + /[y = Va, then () %:?

(@) -2 -2 9-2 (6)0
If (afg) y =tan™? (ix_—_;;i) N < x < \/—_, then ((_‘ﬁ) — =7
(@ 1+3;c2 (b) 1:-12 (©) 1jx2 (@ 1+91c2

The rate of change of the area of a circle with respect to its radius r at r =
S5cmiis

gd @I &G | URacd Bl &% $HG AT & AIUe a1 BRI Sid A
5cm 87

(a) 10t cm?/cm (b) 20 cm? /cm

(c)% cm?/cm (d) 110 cm?/cm
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13. The function f(x) = x + cosx is

(a) always increasing (b) always decreasing

(c) increasing for certain range of x (d) none of these

%o f(x) = x + cosx @

(a) BHET LA B (b) BHT BTHEM ©

(c) x & Aifad 9+ & forw ggmm (d) 379 & PIg A

dx .

14. fex+e_x is equal to (SRTeR )

(a)tan~1(e*) + ¢ (b)tan™Y(e™*) + ¢

(c) log(e* —e™) + ¢ (d) log(e*+e™) + ¢

sec? x )

15. fcoseczx dx is equal to (ERTER B)

(QJtanx + x + ¢ (b) x —tanx + ¢

(c)tanx —x 4+ (d)tanx + ¢
16. f_nﬁz sin” x dx is equal to (SRTeR )

(a) /2 (b) —m/2 (c) (d) 0

1 1

17. [y omdx=

(a) /2 (b) /3 (c) /4 (d) /6

2 2
18. Sum of the order and degree of the differential equation d—JZ, = |1+ (d—y) is
dx dx
2 2
adel AERor S2 = [1 4 (d—y) B1 HIfS TAT T BT ANDA
dx dx

(@)1 (b) 2 (c)3 (d) 4
19. What s the integrating factor of the differential equation

dy

— — ?

T + ysecx = tan xr

o dy :

3Hdhel HHIDO N E + ysecx = tan x dT HHD I NEIEZCE] %\?

(a) secx + tanx (b) log(secx + tan x)

(c) es€c* (d) secx
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20.

21.

22.

23.

24.

25.

: : : . dx = ady :
Solution of the differential equation " + 7 =0is

dx d
3Tdhcl ﬂﬁ%?”; 7y=03b—[3?f§

X

1
(a)—+;=c (b) xy=rc (c) logx.logy=c dx+y=c

If the vectors ai + 3j — 2k and 31 — 4] + bk are collinear, then (a, b) =
afe afeer af + 3f — 2k TO1 31 — 4 + bk W@ €, @ (a,b) =

9 8 9 8 9 8 9 8
@(53) o(-23)  ©E-3)  @(-3-3)
If @ is a non-zero vector of magnitude ‘a’ and A a non-zero scalar, then Aa” will
be a unit vector if

afe @ aRHATT ‘@’ a1 T M AT 2 AT 1 U R Afeer 2 dl Aa
TE 3PS Afeer BN, A%

(a) 4

1 (byA=-1 (c)a = |A] (d)a =1/|4|
fa =1+3j+ 7k andb = 2i — 3j + 6k, then projection of @’ onb is
gfe @ =1+3j+ 7k b =2i—3j+6k dl, b WRa & WU &
(a)1/5 (b)5 (c) =5 (d)—1/5

The direction ratios of two linesarea,b,cand b —c, c—a, a—>b
respectively. Then angle between these lines is

afe <1 ¥@mell & Re—srgurd HH: a,b,c TN b—c, c—a, a—b &, A 3T
4 BT BT B

(a)m/3 (b) /2 (c)m/4 (d) 3m/4

If (aq, b1, c1) and (a,, by, c,) be the direction ratios of two parallel lines, then

A& (ayq, by, ¢1) TAT (ay, by, ¢;) T FAGR V&R & [SH—3UT ©, I

(a)a; = ay, by = by, ¢1 = ¢,

()2 =2=2
2 2 C2

(c) a? + b + ¢ = a5 + b2 + ¢2
(d) alaz + b1b2 + C1C2 = 0
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26.

27.

28.

29.

30.

Mother, father and son line up at random for a family picture. If E: son on one
end; F: father in middle, then P(E /F) is

A1, O &R g3 U uTRaRe R & oy A5 ® ¥ daR d T$ 8
g 9 E: 93 U& BR W; F: far w9 # @1 P(E/F) ®

(a) 0 (b) 1/2 (c) —1 (d) 1

If P(A) = 0.2,P(B) = 0.5and P(B/A) = 0.4, then P(A/B) =

afe P(A) = 0.2,P(B) = 0.5721 (B/A) = 0.4, @ P(A/B) =
(a) 0.32 (b) 0.64 (c) 0.16 (d) 0.25

If A speaks truth in 75% cases and B speaks truth in 80% cases, then what is
the probability that they contradict each other in a statement?

Ife A, 75% THAT § T Sloldl 2 3R B, 80% HHell ¥ I dloldm g, ol
SO T UIRIGAT & 6 U S H QA Ud SR & R avd 82

7
20

13 5 2
(b) o= (03 (d)

(a)

If A and B are events such that P(4) = %,P(B) =+ 1—72 and P(A'UB') = i, then
A and B are

(a) Independent (b) mutually exclusive
(c) both (a) and (b) (d) none of these

IR A T B 39 ISR @ geA § 75 P(A) =2, P(B) = — I P(A'U
B)=-d AdRB &

(a) T (b) IR 3Tl
()T (a) I (b) (d)gH A BIs &1

The corner points of the bounded feasible region determined by a system of
linear constraints are (0, 3), (1, 1) and (3, 0). Let z = px + qy, where p,q > 0.
The condition on p and g so that the minimum of z occurs at (3, 0) and (1, 1) is

(@)p = 2q (b)p =q/2 (c)p =3¢q (dp=gq

MR FeREgl & FHra A FEiRa ve GaETd uRdg &F & v 9 (0, 3),
(1, 1) @21 (3, 0) 2| AT & z = px + qy SI&l p,q > 0. AT BN fa=gaii (3,
0) AT (1,1) W z H <YAqH 919 YT 8lal & df p 3IRq & 9= o 2

(@) p=2q (b) p = q/2 (c)p = 3q (dp=gq
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31fe1 o1eg STk uset -

32.

33.

34.

35.

36.

37.

31.Uf (x) = zitz, X # g show that fof (x) = x for all x # %
?Jﬁf(x)=:§iz,x¢§ﬁ@rrﬁﬁiwﬁ xi% & foIU fof (x) = x.

Evaluate: cos[cos™*(v3/2) + m/6].

H =Id BITY : cos[cos™(V3/2) + m/6].

If A = [(1) }] and B = [é i] then find BA.

zr%A:[(l) 1]3ﬁw=[§ i],?ﬁBA?ﬂFraﬁl

d
Ify=cosx/x2+2,ﬁndd—z

d .
?Jﬁ{y=c05\/x2+2,ﬂ=fd—z§lﬁaﬁl

dx
Evaluate (STd &Y): _I\/ﬁ

If OP = 21 + 3j — k and O_Q) = 31 — 4] + 2k, find the modulus and direction

cosines of P_Q>

gfe OP =20+ 3j—k @ 0Q =31 —4j+ 2k @ PQ & A4i® Ud fow
DAY ST BN |

Find the cartesian equation of a line which passes through the point (1, 2, 3)

. —x—-2 y+3 2z-6
and parallel to the line " = - = 3

g (1, 2, 3) ¥ TORA 3 Y@ & BRI FHHIT S DI AT @l

—x—-2 _ y+3 _ 2z-6

1 7 3

P AN B |

38. Find the angle between the following Pair of lines.

fr=TfeRaa xar Al & 419 &7 BI0T S dIfoly |
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r=21 — 5§ + k + A(3i + 2j + 6k)
r=71 — 6§ + u (i + 2j + 2k)
oTE SR Ul -

3ax+b, x>1
39. If the function f(x) = { 11, x =1 is continuous atx = 1, then find
S5ax —2b, x <1

the value of a and b.
3ax+b, x>1

er%x=1wq»—cr|=rf(x)={ 11, x=19ad g, d a 3R b & 749
S5ax —2b, x <1
SIGEcad

40.Find the interval in which the function f(x) = 2x3 —3x%2 —36x + 7 is
(a) increasing, (b) decreasing.

IR o ®ife EH Wed . f(x) = 2x3 —3x2 —36x+ 7
(a) I (b) BT &

x+1

41.Evaluate(®T9 fHaTel): N dx

sinx — cosx

/2
42. Show that (fcEri fh): f dx =0
0

1+ sinx-cosx

43. Using integration find the area of the region bounded by the parabola
y? = 16x and the line x = 4.

TGS BT TN BR WRAAT y? = 16x TAT IRl XET x = 4 ¥ iR &
BT AFHA ST DN |

'.Q_ — X
44.  Solve (8T ﬁ).dx y = xe”.
s5. If the vertices A,B,C of a triangle ABC have position vectors
(1,2,3),(—1,0,0) and (0, 1, 2) respectively, then find ABC.

afe fedt st ABC & W A, B, C w9en: (1,2,3),(—1,0,0) @1 (0,1,2)
g d £ABC Sd BT |

2
46. Ify = 500e ™ +600e™ show thatgx—f=49y
] 2
A y = 500e ™ +600e ™ Rig @ B 2 = 49y
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St Iadkr uest :-

47.Solve the following system of equations by matrix method
ffaRaa Tt~ e &1 aregg fafy 9 g o
S5x+3y+z=16
2x+y+3z=19
X+ 2y+4z=25

48. Find the maximum and minimum value of 3x* — 8x3 + 12x% — 48x 4+ 25 on
[0, 3].

3x* — 8x3 + 12x2 — 48x + 25 &I 3R [0,3] ¥ #e<H TN YAGH A
ST BN |

49. Find the shortest distance between the following pair of lines

FrfeTRad YE—gw Al & 9/ &1 gAaH & S B

x+1 y+1 z+1 x=3 y=5_ z-7
= = and = =
7 —6 1 1 —2 1

50.Solve the following L.P.P. by graphical method:
Minimize z = 20x + 10y
Subjectto x + 2y < 40
3x +y =30
4x + 3y = 60 and x,y = 0.

fa=faRaa IRged T THRT BT Sy fAf I 8 B
FATHIERT BN z = 20x + 10y

St x + 2y < 40
3x +y =30
4x + 3y = 60 andx,y = 0.

51. A card from a pack of 52 cards is lost. From the remaining cards of the
pack, two cards are drawn and are found to be both diamonds. What is the
probability of the lost card being a diamond?

52 T3 @) TS W UP UK @ Tl 2| 99 U A 9 &l ud et o @
SIS D U B | @ Y T B S BN B UIRIGdT R 8?

52. By using the properties of%deﬁnite integrals, evaluate the integrals

fon/Z(Z log sinx — log sin 2x)dx
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AT Fde & O B ST w1 B FHdAT S D |
fon/Z(Z log sin x — log sin 2x)dx
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SIRIAUS II&IP 3ofitlTol Ud Ufdrgiur ufwe, il
diftias sreIfdra ullen

(2023- 2024)
MODEL QUESTION PAPER / Eﬂ%ﬁ,’gi' %I 31

MCQ BASED QUESTIONS / sisfaacdi=r smmentyed usst

Answer = Key
Class - 12 / 97{—12

Q.N. 1 2 3 4 5 6 7 8 9 10
Key a c d b b b a c c c
Q.N. | 11 12 13 14 15 16 17 18 19 20
Key a a a a c d c d a b
Q.N. 21 22 23 24 25 26 27 28 29 30
Key b d b b b d b a d b
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SIR¥AVS IIfEID 3folzieiNel ud ufdrgrur ufve, it
aiftfo $cdiifsue udlgn

(2023- 2024)

ufercof uest ust
Model Question Paper
DEe-12 fau=- ACT IIRI- 3 "l quTics-80

AT forSor:-
o uUdlgmelf Tenisia sruol orecl 3 IR G|
Candidates should answer in their own words as much as possible.
o 18fl uest siforart 3
All questions are compulsory.
o el U%ll bl A1 52 3l
Total number of questions is 52.
o Ul 13 30 A agfamicus Ul 8 | aia utst & da1R faascu fog e 31 218t
ferpca &1 w16 BRI uciad Ust & fere 01 3ip foreritya 3
Question No. 01 to 30 are multiple choice questions, each question has four options.
Select the correct option. Each question carries 01 mark.
o U AR 31 A 38 D 3ifel oI IaERI Ut 31 [Sr1d1 A1 fepodl 6 usall I I
Sotl 3iforart 31 Ui Ussl Wi Jiol 2 3icb forerifya 3
Question numbers 31 to 38 are very short answer questions. Out of which it is mandatory to
answer any 6 questions. Each question carries 02 marks.
* U] AIRII 39 A 46 AD oI IR U%sl 31 [SR1d A febedl 6 Uil I 32 Soll
iforart 31 Ui sl I ATl 3 i forerif¥e 3
Question numbers 39 to 46 are short answer questions. Out of which it is mandatory to
answer any 6 questions. Each question carries 03 marks.
o U%T AIRM 47 A 52 i Ierdkr U6t 31 fopedl 4 ussil ol 312 ot siforari 3
UID U DI ol 5 3ip forerifed 3
Question numbers 47 to 52 are long answer questions. It is mandatory to answer any 4

questions. Each question carries 05marks.

1. mmwﬁﬁmm% (The relation of a partner with the firm is) :
A. Ydetfch ol (As a Manager)
B. TJ FT (As a Servant)
c. 3fAwarsr (As an Agent)
D. THITIRRI &l (As a Monopolist)
2. Gl IX TS Y WIATATAT Aol AT
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(Interest on Capital should generally be regarded as) :

A.

B
C.
D.

T T AT (An appropriation of profit)
TUeh GFITA (An asset )
Teh I (An expense)

WEI@T(A liability)

3. foor IR st & @TeT < 8,000, X 12,000, X 10,000, X 10,000 &1 2 AST & A AT &F TUR G
1T 1 {4 gam-

Profit of last four years were X 8,000, X 12,000, X 10,000, X 10,000. The value of goodwill at
2 years purchase of average profit will be:

A.

B.
C.
D.

X21,000
X'18,000
20,000

sﬂﬁ'@?ﬂé’?@' (None of these)

4. X3RY 2: 3 ¥ 3re7arar 7 AmeT dfed §1 fsy F 35 @A Jreyarer # emer e a9
T &1 Fler AreAeR fF sreparar 7 camr H¥am -

(X and Y share profits in the ratio of 2: 3. In future they decide to share profits in
equal ratio. Which partner will sacrifice in which ratio?)

A.
B
C.
D. XCART AT 1/5 (X sacrifice 1/5)

X CaRT 19T 1/10 (X sacrifice 1/10)
Y QaRT 1T 1/5 (Y sacrifice 1/5)
Y SaRT 19T 1/10 (Y sacrifice 1/10)

5. |THERY B F Geratost W AT i@ gl 1 e F3a wwghan -

(Recording of an unrecorded asset on the reconstitution of a partnership firm will be):

A.

O 0w

EI?‘IFIHH‘ISRWTH#FITST (A gain to the existing partners)
aﬁﬁlﬂﬂ@aﬁf?ﬁgﬁ (A loss to the existing partners)
aﬁlﬁlﬂﬂﬁaﬁaﬁﬂmﬂﬂmﬁ (Neither gain nor loss to the existing partners)
Wﬁﬁﬁéaﬁ (None of these)

6.€TT 37T 8-
(Sacrifice Ratio is) :

A.

B
C.
D.

FI'&TBT@‘TFH (New Ratio) — EIDTI'FITB-F:I;QTH(OId Ratio)
EI)TI'HTBTF:T"TFH(OId Ratio) — o7 37797 (New Ratio)
mm (Gaining Ratio) — QTI'HT}FI'QTH (Old Ratio)
qTI'ﬂTBTH‘TFH(OId Ratio) — l;IT‘f‘}cfZ‘i-l?l'qTFf(Galnlng Ratio)

7.0 79T WTEIER G # Ao f&Fam ST a&dT 8-

A new partner may be admitted to a firm:

o 0w

wmﬁmﬁ@ (With the consent of old partner)
mwmﬁmﬁr@r (With the consent of any one partner)
gﬂﬁa@aﬁaﬁrmﬁraﬁm (Without consent of old partner)
g’(ﬁa@aﬁasagﬂaﬁ (With the consent of majority)
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8. T WIRIER & YA & WA, [Wet e Frgar 7 weRia W S # gvaeand faar
AT 8-
At the time of admission of a new partner, general reserve given in the old balance
sheet is transferred to:

A Hﬁﬁﬂ@aﬁa?ﬁ:?rﬁ'@ﬁﬁ (All partner's capital accounts)

. aﬁmaﬁgﬁmﬁﬁ (New partner's capital account)

. gﬂﬁma?ﬁ:?ﬁ'@ﬁﬁ (Old partner's capital accounts)
. Sﬁﬂﬁﬁﬁaﬁéﬂﬁ' (None of these)

9.UF ¥ HIHER & YA & HFRUT-

Due to admission of a new partner:

A. H@aﬁﬁﬂwm% (A Partnership firm is reconstituted)
. H@Eﬁﬂwm%(%rtnership is reconstituted)

. tI"Tc"-i'EFI'ﬁl"tZIEFfE}IT-lT%'(Dissolution of Firm)

. Sﬂﬁﬁﬁ@aﬁéﬂﬁmone of these)

10.37TSTer TEUT FIeT aTel ATSIER &) TI1fer & Sre §-

Goodwill is paid out to the retiring partner in:
A. gﬂﬁrmax-gri?ra@nmﬁ (Old profit sharing ratio)
fi;ﬁé#ﬂﬂﬂ'lﬁﬁ (Capital ratio)
STEX-sTY (Equally ratio)
. smfr@ra#l%'at?r (None of these)
11. 77T AR a1l A1 3o Teeaifha Ao T fREmr rard-
Assets and liabilities is shown at their revalued value in:
A mﬁﬁmﬁwﬁ (New balance sheet)
B. gﬂﬁ@ﬁﬂmﬁmevaluation account)
C. Gl ATSIGRT & Yoft @rdl # (All partners’ capital accounts)
D. Wﬁﬂ@éﬂﬁ (None of these)
12.X, Y 3R 21/4,2/5 3R 7/20 & eyoad # o7 faseT FE gUu AHER flzed @
FAFTA FEOT FIATE | AT ATHTISTST reTaTeT e
X, Y and Z are partners sharing profits in the ratio of 1/4, 2/5 and 7/20. Z retires from the
firm. New profit-sharing ratio will be:
A. 58
B. 85

C. 14
D. 2:1

13.f5E AR A Fo @ W FaF AHER F Yoll @rar F A1 fmar smean -
(On death of a partner the deceased partner's capital account will be credited
with):
A. 3TD/3Th T & FEH & (Her/ his share of goodwill)
B. ®H FI T&I1fd & (Goodwill of the firm)

C. Y FEGRI & &Oifad & fea & (Share of goodwill of remaining partners)

o 0O W o 0O W

O 0w
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D. 318 & IS 78T (None of these)
14097 W) A9AaT @ 3wy §- (The purpose of issue on premium is) :
A. 37T @1 3ifehd HeT T Hed W faTHT e (The issue of shares at value

less than the face value)
B. 37l &r 3ifehd Hed a 3w Hed W ot e (The issue value is higher

than the face value of share
C. 3l &1 3fehd Hed W fAaTHT HIAT (The issue of shares at face value)

D. 3T | (All of these)
15.g1Rat Y dol ufr & gfFafea fr ) &- (Total amount of liabilities include)
A 9T ‘:\I:\Gﬁ (Subscribed capital)
B. faaifaa ‘:\I:\Gﬁ (Issued capital)
C. Tgohdl ﬁl:\Gﬁ (Paid-up capital)
D. 38 & FIS 741 (None of these)
16.3@7-|'31"QTE1?IT$[QT‘|’3H?3?|’: IR A & 91 EAledRd $Y 8T JTd & (Balance

of Forfeited Shares Account reissued is transferred to:)

A. H;Tﬁ?l?f PIY H (Reserve Fund)
B. gfa ﬁI:\Gﬁ # (Capital Reserve)
C. OHT Tafd H (General Reserve)
D. 37 & HIS A&l (None of these)
1737 STec! @IAT & AY 1 31F RAEST § AG F IHeasta @RAT 1T § (Balance

of share forfeiture account is shown in the balance sheet under the item):
A. dTe] aIdica 3R graenet (Current Liabilities and Provisions)

B. HT¥ 3R &y (Reserve and Surplus )
C. 37 ﬁGﬁ' Tl (Share Capital Account)
D. mrﬁ% FUT (Unsecured Loans)
18.%F9+1 & faw BTQ'H—QT 9T HOT9T FT AT ¢ (For the company premium on issue of
debenture is a):
A. ﬁ[\sﬂm g1 (Capital Gain)
B. I (Profit)
C. IR (Assets)
D. &Iffica (Liabilities)
19.% 0197, 5t & AT '{l"g'& FT ¥ U gEAIedRd & JATd §, Fe T & (Debentures,

which are transferable by only delivery are):
A. QGﬁW HUTJT (Registered Debentures)

B. UYH FKUTIA (First Debentures)
C. dIge FKUTIA (Bearer Debentures)
D. 31 & HIS A&l (None of these)
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20.ge SO & #F 5 1 Horgst F IR [oa g Ad A Srar @ ar @ R
(If debentures purchased in open market are not immediately cancelled, these are) :
A. el FFART (Current Assets)
B. dTe &Iffca (Current Liabilities)
c. fafaae (Investment)
D. TR FFaRT (Fixed Assets)
21.'39<T ROTIT HF9eA F § RHUMYT § A (“Own Debentures” are those debentures of the

company which):
A. FFIAT Y TadhT P 3aVed HLar g (The company allots to its own

Promoters)

B. HFUeT Ul HaTelohl I AT HLdl & (The company allots to its Directors)
C. HFYT IR & Tedr g 3R [AfEAer & ® & @dr § (The company

purchases from the market and keeps them as investment)

D. 3'C|'éflf=|*_cf H ¥ FIg =T8T (None of the above)

22.UHEGIHR 3E8I0T & (Patent right is the example of):
A. Sledfeeh HFIM (Fictitious Asset )
B. 378" HFITI (Intangible Asset)
C. dref HFITA (Current Asset)

accounting process).
A. 9YH 3c4Tc (First product)

B. &IddII 3c9Tg (Second Product)
C. Hfedd 3cUrg (End product)
D. 318 ¥ IS 18 (None of these)
24.fa faavor & gATed @t ® (Financial Statements Contain):
A. #Aifgs T (Monetary Information)

B. J[UMcHh HIT (Qualitative Information)
c. 3HIfgH =T (Non-monetary Information)
D. 37 & HIS A&l (None of these)
25. %591 Fr aif¥F NuE Fr FAfAT fFAT F1aT & (An Annual Report is issued by a
company to its):
A. HaTerdt & fIT (Directors)
B. 3fh&Tehl o foIT (Auditors)
C. HYYRI & fIT (Shareholders)
D. Ja=Y & fIT (Management)
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26.fadrr fawort At gear sgaE #...... #r ygfr : AT FI T (Comparison

of financial statements indicates the trend of the.......... of the business.)

A. SITHGIIhAT (Profitability)
B. faAsurest (Performance)
c. fadfra Bufa (Financial Position)
D. ¥ T (All of these)
27....... HAT HET T { G $T 0T I F-
The........ ratios are primarily measures of return:
A. ddl (dXeIdT) (Liquidity)
B. Tohamefierar (Activity)
C. RUT (Debt)
D. SITHAYSAT (Profitability)
28.g9dT & @Y IR AT §-

The two basic measures of liquidity are:

. 3rauai| 3Tad 3R dle] 3feJaTd (Inventory turnover and current ratio)
dTe] 3eIqTd 3R gaan 34T (Current ratio and liquid ratio)

el oTH AT 3R gaTer 3T (Gross profit margin and operating ratio)
dle] 3fe]qTd 3R 3taa deger ef (Current ratio and average collection
period)
29.0%3 varg faavor 3mefd & (Cash Flow Statement is based upon) :
A. @l & UPHs & ATYR G (Cash basis of accounting)
B. oI@ichel & 3UTol & MR WX (Accrual basis of accounting)
C. 397 & fRAT 3MUR 9T LT (none of these)
D. Gl (both)
30.5% & Qued W d% yfAfFFT #r grawaRka FAr @ § (On dissolution of a firm,

Bank overdraft is transferred to) :

A. s WA & (Cash Account)

B. & @ # (in bank account)

C. a’ﬁ\?ﬁ Grd # (Realisation Account)
D. 318 ¥ HIS 78 (None of these)

O o0 ® >
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Ffer g3l weaT (Very Short Answer Type Questions) 6X2=12

31.08T ar gant §asU fSad HEER & Yol @i 7 IRadel gl Hevell ol
Give two circumstances in which fixed capital of partners may change.
32. 77 YIfed 3T T 87
What is Gaining Ratio?
33.50 HBIGR & 9d H Th $RoT ford@l|
Give one reason to admit a new partner.
34,91 F WSIER & YA o & dig arel o167 7 GEAT AT Hevel 67

Can the representatives of a deceased partner claim share in the subsequent profits
of the firm?

35.0% HAdelfaie Hedell § TEEAT A Aeddsd J&ar F31 § ?
What is the minimum number of members in a public company?

36.HAURES Hgras gideffa Far g?
What is collateral security?

37.AS-3 & 3TER Uehs FaTg T 371 ST |
Explain the meaning of Cash Flow according to AS-3.

38.Tad [AaRuT FAT BT &2

What are the financial statements?
oY 3T TR (Short Answer Type Questions):- 6X3=18

39.Aws-varg faavor Faf SOR fFar Srar 872
Why Cash-flow Statement is prepared?
40.FFafafad Aavo & Toa o Fr A o FUiRa fifce—

Determine the amount of Gross Profit from the following details:

a 3rauai| (Average Inventory) X 50,000
3rauai| 3mad et (Inventory Turnover Ratio) 5 times
gREresT ¥ 3T Hed (Revenue from Operations Price) 25% above cost

41 73 TaaRor fa2elvor & 38geat & fadwar Hifad|
Discuss the purposes of Financial Statement Analysis.

42 TASI. A G S6IR & 39T 2,000, 10% FOTIAT & X100 i dTed el fAET el
F o IR I7aT wiafse Hifau|

M. Ltd. purchased from the open market its own 2,000, 10% debentures of 100 each for
immediate cancellation. Pass journal entries

43.A% B.for. & 32,65,000 i &M 7 T | 31,00,000 Fhe H AT fmam
Tq AV & faw AfAr & 310 arel qofed 3t & @aaT 10% NAgH ) fharl A
for. &1 qEasl 7 551 Ae-gall & v Siefer @1 gfaftear fifaw)
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A Ltd. purchased machinery for X 2,65,000 from B Ltd. A sum of X 1,00,000 was paid in cash
and for the balance due A Ltd. issued shares of X 10 each fully paid at a premium of 10%.

44 TN TIAT FATE?

(What is Realisation Account?)
45.ABTAT C 9T ATBERT Tl & ABIER & | A Ghrel A0T Xl gl AN ATSIGRI
& HEF HE U AT A, TG A% BEY & BT CHAW I=qurd H died &
3eTehT wIfC 3teqard o AT H|

A, B and C are partners without any partnership deed. A retires, calculate future ratio of

continuing partners if they agree to acquire A's share equally. Also mention their gaining
ratio.

46.7Te] 31eTUTCT 2.5 §; Aol Golt 45000 & | HTe HUTTIAT oUT Ao alidicd shr IRIAT AT
FHifawl

Current ratio is 2.5; Working capital is 45000. Calculate the amount of current assets and
current liabilities.

&rer 39~ w9 (Long Answer Type Questions):- 4X5=20

47.A,BTUT CTH ®H H WEEGN § | 1 310e, 2022 T 3ofehl Yol AW 15,000, 310,000

AT 25,000 df| HAG & VAU & HJAR AN 1,000 Ficay qrivsf@es fear swean
AT ot TR SATST T T 6% AT G| olTeT-gTiel TASTTSTeT T 3eTdTeT 2:2:1 gram|

39 Al W EATT TG SFL aY 2022-23 FT G o1 X 20,000 H Al

ARl # SR F1e f&ar 7137| e & GUR g FARISE 1 gfafse A &

A, B and C are partners in a firm. Their capital accounts stood at X 15,000; X 10,000

and X 5,000 respectively on 1st April, 2022. As per provisions of the Deed, A was to be

allowed a remuneration of X 1,000 p.a. and interest on capital was to be provided @ 6% p.a.

Profit were to be divided in the ratio 2:2:1. Ignoring the above terms net profit of X 20,000

for the year ended 2022-23 was divided among the partners equally. Pass the adjustment
entry to rectify the error.

48. X TUT Y TABER § S oreT faoratet 4:1 & s &1 31 REFR, 2022 & 3o7aT 3T+
i%IE\BI %=1 YR AT - X and Y are partners who share profits in the ratio of 4:1.Their balance

sheet as on31st Dec. 2022 was as follow:

Liabilities Amount Assets Amount
Bills Payable 20,400 Land 42,000
Creditors 40,000 Furniture 20,000
P&LA/C 2,000 Investment 50,000
Capital A/C Debtors 40,000
X 60,000 Cash 10,400
Y 40,000 1,00,000

1,62,400 1,62,400
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49

1 STeTadl, 2023 & 3egiel z Aef@d et I enfder fhar-

(i) 3eTehT =TT TS - TSIl 3eTaTel 2:3:5 @19

(ii) BATER T FHediehal X 24,000 TAT TATAANET &1 HedATeheT X 44,000 fehar I
(i) SAeRT W Hieey For IR & AT 5% IraensT =T gl

(iv) ZE@RT Yolt & & ' 25,000 TAT T & fIT 15,000 Aehe #I1AT AT
3MTIh! Yeidedichal Wil 3R ASHERT & Yol Wi FA=T &

On 1st January, 2023 they admit Z on the following terms:

(i) Their new profit-sharing ratio will be 2:3:5.

(ii) Furniture was valued at X 24,000 and Investment X 44,000.

(iii) Provision for doubtful debts is to be maintained at 5% on debtors.

(iv) X 25,000 in cash brought by Z as his share of capital and X 15,000 as his share of
premium. You are required to prepare Revaluation Account and Partners' Capital Accounts.

A TIT B Ueh B H 3:1 % 3eIUTeT H AR & | 31 AT, 2022 Y 3eTehr FICST o997 FohN &-

A and B are partners in a firm sharing profit & losses in 3:1. Their Balance sheet as on 31
March 2022 is as below:

Liabilities S Assets R
Creditors 45,000 Debtors 20,000
A's Loan 20,000 Sundry Assets 70,000
Capitals A/cs:
A 10,000
B 15,000 25,000
90,000 90,000

3ogial 3ad faf & B & TFues T AU faam| 2eRY & X 15,000 2T [3fayr geaaar
¥ % 60,000 IHLA G| AT Tl TR HIfTT|

They decided to dissolve their firm on that date. Debtors were realised for X 15,000 and
sundry assets fetch X 60,000. Prepare Realisation Account.

50. 32 forfAes & < 10 aTeY 1,00,000 FHAT 3727 X 1 9 37 NfATHA R HAfRT Fe s
g & o: X 2 9fd 370 31Tded W, % 4 37TdeT 9 (NfETe afgd) 2 5 9UH a1 3ifeds ara=r
9|

HHT 370 Y Ted o ToT T I FTec §T T HFd=1 BT 2,000 3R I T F4T
ITIAT T BISI FHEA ST TTAAT 9o 8 IS | ST 3720 T gI0T Y Forar ar=m|

HEAT T TEThT H STeTol TATSeT v Ushs 767 fe@msu|

Isha Ltd. issued 1,00,000 shares of X 10 each at a premium of X 1 per share, payable as
follows:

On application X 2; on allotment X 4 (including premium) and on first and final call X 5.
All the shares were subscribed for and the company received all the money due, with the

exception of the allotment and call money on 2,000 shares. These shares were forfeited.
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Show Journal entries and Cash Book in the books of the company.
51. AT FaeT @ warer fhan3it & Uers JaTg & 07T hiTolT :

Compute Cash Flow from Operating Activities from following information:

oY U TSI & JTTATSTT oh TRTC [ TS 25,000
(Net Profit after Provision for Tax and Dividend)

$Y & Tl TATSTS (Provision for Tax) 12,000
&9 (Depreciation) 5,000
TIFhT faghr & g1 (Loss on Sale of Plant ) 3,000
Eanfa 3rafaf@d &1 315 (Goodwill Written off) 10,000
3T T aT9dT (Refund of Income-tax) 8,000

52.fa< faavor & fareivor 3R fAdes & 3o an g?

What are the objects of analysis and interpretation of financial statements?
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ANSWER KEY

CLASS-12™
SUBJECT-ACT

Q.NO. | ANSWER | Q.NO. | ANSWER
1 C 21 C
2 A 22 B
3 C 23 C
4 B 24 A
5 A 25 C
6 B 26 D
7 A 27 D
8 C 28 B
9 B 29 A

10 A 30 C
11 A
12 A
13 A
14 B
15 C
16 B
17 C
18 A
19 C
20 C
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it secfifRue aher
(2023- 2024)
INES R E |

Model Question Paper

FAT-12 fRwg- BMT qHY- 3 HeT quTte-80

AT He9T:-

Tdremeff FemEvE 37U veEt A SR )

Candidates should answer in their own words as much as possible.
Tt wor erframa 2

All questions are compulsory.
el T T HEAT 52 7
Total number of questions is 52.

T4 1 | 30 Tk agfaefecua T ¥ | T T % 9 frewew fag o ) o frewew @ wmm Al
T T % forT 01 afer Frartfa 31

Question No. 01 to 30 are multiple choice questions, each question has four options. Select the correct
option. Each question carries 01 mark.

T TEAT 31 | 38 Tk ATd oY I T 7| T et 6 it o6t IR AT i 81 Ik a6
o 2 3k fruifa 21
Question numbers 31 to 38 are very short answer questions. Out of which it is mandatory to answer any 6

questions. Each question carries 02 marks.

T TEAT 39 T 46 Tk 1Y I T B e & FoReeft 6 et a1 v 3 orframt 71 v w wr Ee 3
st Fraifa 21
Question numbers 39 to 46 are short answer questions. Out of which it is mandatory to answer any 6

questions. Each question carries 03 marks.

T TEAT 47 & 52 <reh I 7 Bl TR 4 9t Rt SR 3T Arfe ¥1 Ieieh 99 ot A 5 aies FuifE
2
Question numbers 47 to 52 are long answer questions. It is mandatory to answer any 4 questions. Each

question carries 05 marks.

1. 3=hA 5, 7,9, 11, ... T lT-AT g 27 gam-
Which term will be 27 the sequence 5, 7, 9, 11, .....
(a) 13ar
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(b) 12ar
(c) 11af
(d) 10ar
2. Ofg AT AP. # t, =3n+5 ar 39 A. P. & UgledX gHTl-
In an A. P. if t, =3n+5 then the common difference will be:
(a) 1
(b) 2
(c) 3
(d) 4
3. A& 70, k, 100, A.P. & g o & AT &-
If 70, k, 100 are in A.P. the value of k is:
(a) 80
(b) 85
(c) 90
(d) 95

4. a duT b &1 ?rU'I’I?iTo ATET - Geometric mean of a and b is:
a+b

) 2
(b) ab?
(c) Vab
(d) 377 & 1S A& (None of these)
5. Ueh JUNR AT # T Ug 4 &1 $Hb GUH 5 &l HT JUABA g- The 3rd term in
a G. P. is 4. The product of first 5 terms is :
(a) 256
(b) 2,048
() 512
(d) 1,024
6. Aol 2.8.32 &7 UYgol UTT Uel T AT §- The sum of first five terms of the series
2.8.32... is):
(a) 682
(b) 748

(a
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(c) 996

(d) 1024
8

S AT 4 & S §cAS AT T &7

What does the harmonic mean between g and 47?

~_~ o~ o~ o~
O O Q

Q.
" N N N
aEREEINN

8. Ifg 'sp,= 2,730 & AT & AT gHT-
If "*p, = 2,730 then the value of r will be:
(@) 3
(b
(c
(d
9. 3 UFIAT FT 6 SATH A % Al SIdlfeh Ueh oTidd ol fehcdel o 3ATH AT Tohd g,
ghar-

The number of ways in which 6 prizes can be given to 3 persons, if a person

)
)
)
)

may get any number of prizes is:
(a) 3°
(b) 6°
(c) °P3
(d) °Cs
10.5 <afFd T Ma AT & IRT 3R fhdsr s F 96 THhd 82 In how many ways 5
persons can sit around the circular table?
(a) 4
(b) 8
(c) 12
(d) 24
1.3 () | §= 0, aF x T & & (then the value of x is ) :
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a

(@)
(b)
(c)
(

0 w

Cc

d) 318 & #15 Agr (None of these)

12. (i) | §| = |168 2| a9 x = & (then x is equal to):
(a)

(b)

(c)

Cc

6
+6
—6
(d) 0
13. 9T 3MTegg A afedqdl & dear g &-
In a row matrix, the number of row is :
(a) 1
(b) 2
(c) 3
(d) 377 & 15 A&T (None of these)

14. 4R (1) A = [} 2], & (then) 4% =2

2 3
9 7

@[, 11]

18 7

(©) {14 11]

18 17
© 14 11
17 18
@111 14

15. 3R (If) A = i g]&ﬂT(and)B= [:}} :g]a’rA-me;rm(then the

value of A- B will be) :

@[ o

3 6
(b) L8 10]
[—2 -9

© 16 —25]
—1 O

@[y 4l

16.7f¢ FASE F=g X = [1.2.3. .20] A = (1.2.3.4.5) (A") & AT g
(If universal set X = {1, 2, 3 .... 20), A{1, 2, 3, 4, 5) then the value of (A") will
be:
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(@) {1, 2, 3, 4, 5}

(b) (6, 7, 8, 9 ... 20)
() {1, 2, 3}

(d) (5, 6, 7, 8)

17. R qoay qell doeay ... g .

)
)
)
)

(Null set is a............... of all sets) :
(a) HH=TT (set)
(b) 39EH=IAT (sub-set)
(c) T (super set)
(d) Uehel HHTY (single for set) &
18.x & QIUET 3x* HT Ndehelsl IUTH BN :
The differential coefficient of 3x* w.r.t. x will be:
(a) 16x
(b) 16x?
(c) 12x3
(d) 4x3
19.3f (If) y = 2log,x (then) d—y ST £ (is equal to):
(@) x
(b) 1
(c) 0
(d) y
20. [(2x +3)° dx =7
o e
(b) &4 ¢
©) “’“*3)

+ C
(d) 3=T-|?3f T AS A&7 (None of these)

21.12 9Rart i &fas Al FaAer (Daily wages of 12 families are) 280, 180, 96,
98, 104, 75, 80, 94, 100, 75, 600 200 g | HHATAX HET I 0T FHA
(Respectively what is the Arithmetic mean.)

(a) 165.16
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(b) 182
(c) 171
(d) 178
22 ATy, $wo1g Ygid @I T 3redT fafer § @ifh : (The AM. is best measure of
central Tendency because :)
(a) @& TR AT (Most stable measure)
(b) 0T ¥ H 3T (Easy to calculate)
(c) Tl Heal 9T ek (Based on all observation only)
(d) @ (Al
23.7: W&t & 3T 8 B AAdl HEAr &4 g forad 3Ed 10 g 9 ?
(The average of 6 numbers is 8. What is the 7th number so that the average
becomes 10 ) :
(a) 23
(b) 22
() 21
(d) 20
24.80, 100, 90, 170, 60, 50, 40 &1 HAIRISHT §- (median is)
(a) 80
(b) 170
(c) 90
(d) 60
25. AT & fadel=ir &l I, 8iar & (The sum of the deviation from median, is) : -
(@) HA-T -&HA (Minimum)
(b) 0
(c) 31T+ (More)
(d) 377 & *1% A&r (None of these)
26.108, 92, 43, 0, 6, 11, -2, 15 &r AeIHr & (Median of 108,92,43, 0, 6, 11, -2,
15 is):
(a) 8
(b) 8.5
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(c) 9
(d) 9.5
27. eafaf@d & & sia-ar aAforda #Areg 5§ g2 (Which of the following is not a
mathematical mean?)
(a) Sgelh (Mode)
(b) UM ATEA (Geometric Mean)
(c) HHIAX ATET (Arithmetic Mean)
(d) 8cHA ATET (Harmonic Mean)
28.40 AT Holgy & TH FHAg 1 A dcdel 5,200 FfdaArg & 3R STafh 60 g
HoleIl & FHg T 3 da=l 6,800 UITHATE &1 T dceT FAT g2 (Average

salary of a group of 40 women workers is %5,200 per month and whenever

average salary of a group of 60 men workers is 26,800 per month. What is

mixed salary?)

(a) 6,160

(b) 6,280

(c) 6,890

(d) 6,920

29.1, 5T 25 & UIUﬂ?lT AT g- (The G.M. of 1, 5 and 25 is :)
(@) 25
(b) 15
(c) 5
(d) 125

30. @ & O FiaT Gr gFa= Tor g7
(Which of the following relationship is correct?)

(@) AM.= VG.M.x H.M.
(b) HM.= VA M.XG.M.
(c) G.M.= VA M.XH.M.

AM.+H.M.
(d) G.M.= 2

SIRAUS IISID 3foRielel ud Ufdrgir ufdg, fdt [t udtedn) - IBI)2023- 2024( Page 7 of 11



eri%l?rg I Uy (Very Short Answer Type Questions) 6*2=12

31.FAR AT 3, 8, 13, 18, & 10T 9¢ AT AT |
Find the 10th term of the A. P. 3, 8, 13, 18,...........
32.af¢ "p, = 360, dF n &1 AT AFIfAT]
If "p, = 360, then find the value of n.
33.af () | i| = 24 A% x & A FHOAT (then find the value of x )
34 fArafaf@a gFe & AU wafordy Ay Ard HfFT

Find the Arithmetic Mean of the following data:

IMFR (Size) 0 1 2 3 4 5 6 7 8

g (Frequency) 1 9 26 | 59 | 72 | 52 | 29

35.rer $r 3TST R HeT IS 52 Al I Tk TSI ¥ U SIGLME IT Teh Jedl UIed el
T FFEATTAT AT & ?
What is the probability of getting a king or a queen from a well shuffled pack
of 52 cards?

36. Frel Al faelNoT & T 7T FASIT g ?
What do you understand by analysis of time series?

37.5 3R 20 & IJUIRR AT FAT &7
What is the Geometric Mean of 5 and 207

38. F=IfaI @ Aul & hieT A1 9g &1 AT 27 § ?

oayq I UH) Short Answer Type Questions(:- 6*3=18
39. Arafaf@a Aol &1 &t ug g Sz AT HfAw :

Find the sum of the following series upto 9™ term :

9 12
2‘/§+\/_§+E+"" ......
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40.9f¢ (If) "Cs = "C; |l n & AT AT HITAT (find n).

41.X 3R Y arag ffae, 3fe (Find X and Y, if)
X+Y=[; g]aﬂT(and)X—Y=[g g

42.9% (IH A={3,5 7, 9}:B=1{6, 8, 10} a (then find) (@) AU B (b) A n B
AerforT .

43.3% (If) y = 525 @ (then find) & fefere .

x2+

44 A5 gRolt & AL Hod Aenrfav -

Calculate the value of Median from the following table -

HAGY (¥ H)
_ 30-40 40-50 50-60 60-70 70-80
(Wages in Rs)
AT hr &I
50 54 85 45 30
(No. of workers)

45. fF=T gl @ fAvew AT HIIT

Find mode from the following table :

qq (Size) 0-10 10-20 20-30 30-40 40-50 50-60

g (Frequency) 40 30 18 12 10 5

46. I "Cqp = "Cy, @l "Cs feIfeiw
If "Cyp ="Cy2 then find "Cs
aﬁﬁtﬁlﬁq YA (Long Answer Type Questions):- 4*5=20
47.1 =giFd ¥700 TidAg ade R fagerd fohar o | @gfda & od O & g ay
38 %740 i #AE , R ¥ 780 widHATE 3R 3 Re dd gefTr gel | A
HIfaIT T 10 a¥ & 37d deh 38 fohclell dael el ?

A person was appointed at a salary of ¥700 p.m. The condition of appointment

was that he would receive ¥740 p.m. in the second year, ¥780 p.m. in the third
year and so on. Find the total salary he would expect to have received by the

end of 10 years.
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48. AFfafad Afed &1 Fosher AITAT

Find the inverse of the following matrix:

0 1 2
A=[123]

311

49.5000 el & Teh AT A 2800 & RGEA Fodd & 3R 2300 ofleT T8I W’ Tod
& 3T 400 gt ged & | fFasr T FI$ FARR 97 78 Tod ?
In a town population 5000, 2800 persons read Hindustan, 2300 read Prabhat

Khabar and 400 read both. How many do not read any newspaper?

50. faie=T gy faeRoT & 31T IMGRY T IAT ISV AR AT HT IhIOIHT AT 22
ar -
In the following frequency distribution locate the missing frequency, if arithmetic

mean of the series is 22 -

qc (Size) 0-10 10-20 20-30 30-40
g (Frequency) 1 3 ? 2
51. a8 HTeeRaToTet AfT &7 AT IS §T 2013 & forw Famfad gaeir AT HSw

Using any Interpolation method find out the likely index Number for 2013 from

the following table:

Year 2011 2012 2013 2014 2015

Index No. 100 107 Y2 157 210
sz.wmaaasqﬁmaqamaﬁﬁﬁ|mﬁﬁ3ﬂ?mqawwzgaﬂw

1

S @

Find first three term of a H.P. whose fourth and eight terms are % and

1 .
3 respectively.
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ANSWER KEY
CLASS-12™
SUBJECT-BMT

Q.NO. | ANSWER | Q.NO. | ANSWER
1 D 21 A
2 C 22 B
3 B 23 B
4 C 24 A
5 D 25 A
6 B 26 B
7 B 27 A
8 A 28 A
9 A 29 C
10 D 30 C
11 C
12 D
13 A
14 B
15 B
16 A
17 B
18 C
19 B
20 C
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SIRIUS TSP 3folHeIIol Ud UfdIgivr ufve, icht
e o o [a Y e ﬁ&ﬂ
(2023- 2024)

ufercol ust ust
Model Question Paper
DEII-12 ferer=r- Serfdren AIA- 3 =CT quTic-70
AT oIS 9r:-
o udiemelf renisia sruot 9rscl 3 IAR S

Candidates should answer in their own words as much as possible.

9t ueet siforart 3

All questions are compulsory.

Dt Uil bl 35T 48 Bl

Total number of questions is 48.

%l 1 A 25 AP SEIADICURI Ul & | Ucdd Ul & R fawocu 6w a1g 31 &l
fereu o1 TrRI6l BRI URI® Ut & fere 01 3iw forerifya 3

Question No. 01 to 25 are multiple choice questions, each question has four options. Select the

correct option. Each question carries 01 mark.

%G1 HIRAT 26 A 34 b Hfel o a1 usel 31 fSrR1d A fepodl 7 ussil I 3R Soll
3iforari 31 Ui Ul I 3ol | 3ib forerifa 3

Question numbers 26 to 34 are very short answer questions. Out of which it is mandatory to
answer any 7 questions. Each question carries 01 marks.

%1 IHICAT 35 A 42 D o Fe usel 3l f5r1d1 A fbodl 6 Uil @I IR ol
siforart 31 Ui sl oI 3ol 3 3ib forerifsa 3

Question numbers 35 to 42 are short answer questions. Out of which it is mandatory to answer
any 6 questions. Each question carries 03 marks.

U IRSAT 43 A 48 St I3 utol 31 fepadl 4 UGl &I IR Soll Stforari 31 Ud
U1 1 3Tl 5 3 forerifa 31

Question numbers 43 to 48 are long answer questions. It is mandatory to answer any 4
questions. Each question carries 05 marks.
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1. o1t 3 A BIoI-AT AR BT UDR &7
(Which of the following is a type of opportunities?)

(a) u=Itazur 3 fdemirer sra=1z (Existing opportunities in the environment)
(b) forfdte a1z (Created opportunities)

(c) Sutp a1 a & Gleil (Both A and B above)

(d) SuRltp of 31 3R & (Neither A and B above)

2. i AGRIAT S

(Subsidy is)-

(a) I=IRIe (Concession)

(b) @g1 (Discount)

(c) Yot: 8paIcIIol (Repayment)

(d) so1dt 31 IS ol (None of these)

3. 3nfdi ofiferit forerifya ol
(Economic policies determine the)-

(a) crar= &1 #ir1 (Volume of Business)

(b) =ra=1rRI I f&om (Direction of Business)

() a1 1 fSom vd A>T (Direction and Volume of Business)
(d) so1di A IS o1l (None of these)

4. fordol 3 A Dlol-Al TP ISR ACATD! UL UHI SIcIell 37
(Which of the following factors affect market assessment?)
(a) 1&g ararazur (Micro Environment)

(b) 3curs i ceKd (Production Cost)
(c) #tsT (Demand)
(d) so13i A1 IS o1l (None of these)

5. fo1dot 3i A1 fepIADI IcUIS AT AT DI Yolld DIA A EATol IM6II SIe3 3?
(Which of the following factors is to be considered while selecting a
product or service?)

(a) ufernfdrar (Competition)

(b) 3curcet ctrore (Cost of production)
(c) 91 b Jearae (Profit possibility)
(d) 3ugep it (All of the above)

6. IUmH DI Jolld forsiz D 31

(Selection of an enterprise depends on)-
(a) uprhl wmurz (Sole Trading)

(b) &ttt o1 siférd1R (Right of Entrepreneur)
(c) 18t &t Fa=i oI =Meerer (Self-Ability of Entrepreneur)
(d) SuRItD ¥ 3 IS ofél (None of these)
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7. U AWl 32wl 3 319 8l fotdol 31T Blol nfdul
(A successful entrepreneur must possess the quality of the following):
(a) ofcgea @I (Leadership)
(b) forzres1ur @1 (Control)
(c) orauaciat &I (Innovation)
(d) sotai 31 2t (All of these)

8. foriSiol Bl 3
(Planning is)-
(a) srcucIctiel (short-term)
(b) Fre=1PICtol (Middle-term)
(c) Sieipretiot (long-term)
(d) 8t 3raférli o fe1e (for all terms)

9. uw ul¥iision 3
(A project is)-
(a) rferfaféril o1 2918 (Cluster of activities)
(b) wapet arfeifdfdr (Single activity)
(c) SRic sifeifdferl ol A9s (Group of innumerable activities)
(d) so1dt 31 IS ol (None of these)

10. uf¥=AISIel & GRIR B0l U RIRI {61 SRIT €161 &
(Money spent on the preparation of project is)-
(a) faforistal (Investment)
(b) =R (Expenditure)
(c) 3rurI (Wastage)
(d) so1dt 31 IS ol (None of these)

11. foraot 3 21 Bl FATeIGII BT UBIR Ud HIA 3?
(Which of the following is a kind of resources and their sources?)
(a) silferap Jrerat (Physical resources)
(b) Adolichl 3=rerat (Technical resources)
(c) sarerdi=r J31rerel (Human resources)
(d) 3wl 2t (All of the above)
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12. Figep Uil arcil swaueit & fere cmstior 3ot &
(For a joint stock company payment of dividend is)-
(a) dfew® (Voluntary)
(b) siferart (Compulsory)
(c) smmagerd (Necessary)
(d) so13i A IS a8t (None of these)

13. ®riofict gsil @I foreriza 3
(Determinant of working capital is)-
(@) 31=em o1 3P (Size of the enterprise)
(b) forsitur ufeben bt srafer (Period of manufacturing process)
(c) ToTa JATet i 3uctserdl (Availability of raw material)
(d) Su=itp 218t (All the above)
14. areg arFufer 3 onfdret alar 3-
(Current Assets include)-
(a) 3uz®dz (Furniture)
(b) faforiler (Investment)
(c) Zceter (Goodwill)
(d) Soter= (Debtors)
15. foreaafciRae 3 21 Diol-AT JcIcTol R oldl 67
(Which of the following is not an Operating Expense?)-
(a) fasmmuot &*rRI (Advertising Expense)
(b) urfdsic Rl (3rufetlR¥ae) (Preliminary exp. written off)
(c) #SIGdt (Wages)
(d) foo2r= (Rent)

16. 3i91GIol =

(Contribution)=

(a) fechl @reta el eIeI (Sales Less Total Cost)

(b) fdcht aera uf¥aderoflct cera (Sales Less Variable Cost)
(c) ferchl aera 3¢z el (Sales Less Fixed Cost)

(d) o1t A @IS o1l (None of these)

17. Jereft Gt 3 5a1 -

(Venture capital contains)-

(a) 3Ta sif3ae (High Risk)

(b) 28R Siif¥a# (Venture Risk)
(c) ooIs Siif¥aet o1t (No Risk)

(d) 3013t A1 I3 o1l (None of these)
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18. uacer @t 3-

(Management is an art of)-

(2) >a=1 @19 Dot oI (doing work himself)

(b) g1 3 w1et clat I (taking work from others)

(C) a2 1 B2l Bd G231 A D1 clol gloil I (both for doing himself work and taking work from

others)
(d) so1di A IS o18t (None of these)

19. IR & fere fauure 3-
(For business, marketing is)-
(a) stferart (compulsory)

(b) stragRra (necessary)

(c) 3telrag=ad (Unnecessary)

(d) fremR¥ae (luxury)

20. S1Us gdclIdI -

(Brand indicates)-

(a) & (Symbol)

(b) f&sIrIet (Design)

(c) ot (Name)

(d) sorat 2 2t (All of these)

21. cIrsiiorn -

(Dividend is)-

(a) 9Ig ot (Net profit)

(b) 1191 o1 forRIISIor (Appropriation of profit)

(c) I @I (Reserve fund)

(d) arfareaf¥a emer @ 3ior (Part Of undistributed profit)

22. FAIICIGT DI 312k 3-

(Merger means)-

(a) e vl GIRI G2 AvIGel Dl ol cloll (Taking over one organisation by another organisation)
(b) Gl =11 3iféred cramrRIi @I f21ur (Combination of two or more business)

(c) 3101 3vTodl Ji foRIeaId 3191 UTH 2ol (Acquiring controlling interest in other organisation)

(d) 3udep 3 A IS o1dl (None of the above)
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23. 3ezpft & ciffca &-

(Responsibility of entrepreneur's are)-
(a) 3391151 &6 Ufer (Towards society)

(b) 3@ & ufer (Towards Governments)
(c) weIfazur & ufer (Towards Environment)
(d) so13t 21 18k (All of these)

24, uf¥=Aistoln aRIR o Sl 3-

(Project is prepared)-

(a) uacii g1 (By Promoters)

(b) usGell g1 (By Managers)

(c) 3ewdl g1 (By Entrepreneur)

(d) so1 218t O gI=1 (By all these)

25. uf¥AIstoll Uferdgel JARIN 3-

(Project report is a summary of)-

(@) exe=di o1 (Facts)

(b) 3xTretisi @1 (Informations)

(c) faec>wur b1 (Analysis)

(d A 1sft (All these)

B{ﬁl?l'g I Uy (Very Short Answer Type Questions)
26. FIHTERT o ITHTH H FIFATI fohodl 2 Teehl & A1 TSl
(Name the two factors that are involved in sensing opportunities.)
27. AT T FEa 87
(What is demand?)
28. 3UshH I TUTIAT H I0TAI T AT HTT 87
(What does the strategies mean in setting up of an enterprise?)
29. GH-TaTte fa2eivuT &7 82 I ha ATd foham STTdT 87
(What is Break-even analysis? How is it calculated?)
30. TqUUT &1 37 SaTET|
(State the meaning of marketing.)
31. oreTd fohd hgd 872
(What do you mean by cost?)
32. Ueh 3IH GHTST H T Yo T 87
(What is acquired by an entrepreneur from the society?)
33. 37aE fohctel Wb o Bl &7
(What are the kind of opportunity?)
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34, HTgTAh GTAAR & Gglel hl ITARIHT T 52

(Why identification of entrepreneurial opportunity is needed?)

g ST UY (Short Answer Type Questions):- 6x3=18
35. IRIATSTT fatete & Affea YR Fid-Hla T §2

(What are the various types of project planning?)
36. TS 3T FIT ST &2

(What is the significance of profit ratio?)

37. 3ETAT Yai @ 31T A1 FASA 82

(What do you understand by venture capital?)

38. Y& I 15 I/ diet favare sasul

(Write any two / three characteristics of management.)

39. EreIhTelIeT T STEHTeNeT faeiiar He 7T 82

(What are long-term and short-term sources of finance?)

40. IRIISTAT & HTT FIT THSTA 872

(What do you mean by project?)
41. Y=Y T GRHATIT SITTT

(Define management)

42. TGRS T T ggdled &l FHIAd el aTell gcah ahisT-shisT T gl

(What are the factors that influence the identification of a business opportunity?)

S ST Uy (Long Answer Type Questions):- 4x5=20

(Discuss the requisites of successful enterprise.)

43, TSI ST aReTST & va sehr favare sdasul

(Define planning. What are its features.)

44. Tk Frgdr & o IRASar ufadess ga1ar 41 39« &7

(Why the formulation of project report essential for an entrepreneur?)
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45. YT o Aol JepRT T quTel Y|
(Explain the different kinds of capital)
46. 9= 1 GREATT ST Td sHA GHE FAATATT HASATST

(Define management and describe its essential characteristics.)

47. TAATSTeT ST IRATT & U SHhT TAATATT SA18U]

(Define planning. What are its features.)
48. Uk S TAATT B oildel Bidd B [Afdest 3razenaii &1 avia @2 ?

(Describe the different stages of life span of a new business?)
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ANSWER KEY

CLASS-12

SUBJECT-ETP
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SIRIUS IIf&IPD 3lofielol Ud Ufdrgiur ufwe, il
daifiyep scdiifsue udden
(2023- 2024)
ufercof uest ust
Model Question Paper

DEII-12 fereRI- TR 31eRIor AIA- 3 HcT quTics-80
AT foIc9r:-
o Udlemelf renRisia 1ot 9r1eg] 3t IR 3

Candidates should answer in their own words as much as possible.
3l Ut 3iforari 3l

All questions are compulsory.

Dt Uil bl Iz 52 3l

Total number of questions is 52.

a9 1 A 30 7D SEIADicuRt Ut & | 9 ® Ul & ar fawcy feu a1g 21 18l
ferpca &1 TRIa BRI uciad Usst & feru 01 3ip foreritya 31

Question No. 01 to 30 are multiple choice questions, each question has four options. Select the
correct option. Each question carries 01 mark.

U961 AAIAT 31 A 38 1< el o1 Ieidka uest 31 51181 A fbodt 6 Uil I 3R Soll
3iforari 31 Ui Ut I ol 2 3ib forerifya 3

Question numbers 31 to 38 are very short answer questions. Out of which it is mandatory to
answer any 6 questions. Each question carries 02 marks.

U961 AT 39 A 46 D oIt IIRI U 31 FS1o131 A febodl 6 usall I 312 Soll
siforart 31 URIe Ut a1 #ATd 3 i forerif¥a a1

Question numbers 39 to 46 are short answer questions. Out of which it is mandatory to answer
any 6 questions. Each question carries 03 marks.

%1 AIRT 47 A 52 Sl IR U 31 [bodl 4 Uil I IR Soll iforari 31 Ui
%G1 I HATal 5 3icb forerifya 3

Question numbers 47 to 52 are long answer questions. It is mandatory to answer any 4

questions. Each question carries 05 marks.
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1. 37 §71US T fIAYATT & (The characteristics of a good brand are)-
(a) G&H =11 (Short name)

(b) TAIONT (Memorable)

(c) 3Ty (Attractive)

(d) 2 @M (All these)

2. fadr 9e=4 § — (Financial Management is):

(a) el (Art)

(b) &A1 (Science)

(c) FeIT Ug fa AT SIaT (Art and Science both)

(d) 3T & @IS =T8T (None of these)

3. 9fRreTor T TAfAAT & - (Methods of training are)-

(a) I St IfRASTUT (Job rotation training)

(b) FRT UX IfRAETOT (On-the-job training)

(c) TTAEIAT TTAGTOT (Apprenticeship training)

(d) T @M (All these)

4. ARTYT T THTGRATST BleT & ToIT, 3R & 1Y Bl 37Tt 31TdTF ¢ - (For delegation

to be effective, it is essential that responsibility is accompanied with necessary)-

(a) 31TFR (Authority)

(b) ATIa-LIfFT (Man-power)

(c) 9IeaTgeT (Incentives)

(d) Ii=fet (Promotions)

5. Y&o¢ &7 IR & - (The essence of management is)-

(a) §H-IT (Co-ordination)

(b) TIT&T (Organization)

(c) TeTfthaT (Staffing)

(d) 3T & @IS 18T (None of these)

6. JSET T HEH 360 8- (The main objective of management is)-
(a) &&= fTe TR FTT (To determine aim)

(b) 31T 3cUTgsT (Maximum Production)
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() TYATH SIHETT H JHTUhAH 3curest (Maximum production at minimum cost)

(d) 3T & SIS 18T (None of these)

7. & BTl & Yaetl o FAGHTed @ - (Henry Fayol's principles of management are)-

(@5

(b) 10

(c) 14

(d) 15

8. 718 3MTeh il o Y@ 3791 & - (Main components of New Economic Policy are) -

(a) 3&T{IaOT (Liberalization)

(b) d2EHITT (Globalization)

(c) TSROt (Privatization)

(d) & T (All of these)

9. "t HITST &l Thsel & ToIT AT 3137 TSR 1" I§ YT 8- (A plan is a trap to
capture the future' This statement is of)-

(a) =FH=T T (Newman)

(b) gef &T (Hurley)

(c) UeTeT AT (Allen)

(d) S T (Terry)

10. "'ITeTd HISA-EITAT TG [ASUTGsT I Nehcl) & IUT TgT deh [ 38 &5 T &l

g1 Ig YU g- (“"Wrong organization-structure prevents business performance up to the

extent that it destroys it. This statement is of)
(a) 3hY =T (Drucker)

(b) I T (Terry)
(c) UoTeT T (Allen)
(d) S/ T (Brech)

11. A8 ifed HTHUR § - (Mental revolution is the essence of)-
(a) d=TTfeieh 9T T (Scientific management)

(b) TGTST=T T (Combination)

(c) faaehaoT &1 (Rationalization)
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(d) 373 T T3 (All of these)

12. RTIOT fHIT ST TehdT & - (Delegation can be done of)-
(a) 31THRR FT (Authority)

(b) 3aXeETAIca T (Responsibility)

(c) STaTeicar & (Accountability)

(d) ST O 5T T 78T (None of these)

13. 9= el & - (Management is an art of)-

(a) TIT IH &1 T (Doing work himself)
(b) GERT & hIA fet & (Taking work from others)
(c) T HTH e Ud @R H A ofef gl & (Both doing work himself and taking work

from others)

(d) 3137 T FIS oTeT (None of these)

14 AT AT T H AFATIT g - (Human resource management includes)-
(a) #1cT (Recruitment)

(b) T (Selection)

(c) IfAETOT (Training)
(d) & F#Y (All of these)

15. HRA H 3TAIFAT T&T0T JTATATe TaH1dT & - (Consumer Protection Act is effective in
India with effective from)-

(a) 15 319, 1986 & (15th April, 1986)
(b) 15 373, 1987(15th April, 1987)
(c) 15 378, 1988 (15th April, 1988)
(d) 35137 & IS oTeT (None of these)

16. HAATRAT & faerra & afFAfad § - (Development of employees involves)-
(a) YGlesItct (Promotion)

(b) TATATXOT (Transfer)

(c) 9TRAETOT (Training)

(d) & T (All these)
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17. &t & dca & - (Elements of Management are)-

(a) IIA&TUT (Supervision)

(b) 3TAYTOT (Motivation)

(c) Adcd (Leadership)

(d) @ (Al

18. 3Rl # FHGT STR o fAG=70T SleT ST 82 (Who control the money market in India?)
(a) T Ta#MeT (Finance department)

(b) R=Ta & 3T 5T0saT (Reserve Bank of India)

(c) fa=ir AT (Finance institutions)

(d) &<lY (SEBI)

19. 3T He2raTge §Ieil & - (Grapevine communication is)-
(a) 3r=AgaTieR (Informal)

(b) 3iT=TRe (Formal)

(c) Faf@&a (Written)

(d) 3T & @IS =T8T (None of these)

20. Teh 3T AlelaT Il 8- (A good plan is)-
(a) @dfell (Expensive)

(b) THZT e aTell (Time consuming)

(c) SI=IquT (Flexible)

(d) SR (Rigid)

21. JHTAT Hoo2ldTgsT H $TNT T 3TN el gl dIfigq - (In effective communication,

language should not be used)-
(a) ¥IsC (Express)

(b) 9TdY (Impressive)
(c) 3EI™C (Ambiguous)
(d) mellsT (Courtesy)
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22. Uoh SOIaATe 3Uhd H [ATea01 Fr 31aeTehdr gidr g- (In a business enterprise
controlling is needed)-
(a) STTITT T TATTAT o THIT (At the time of establishment of business)

(b) STTATT & FdTeloT b THI (At the time of direction of the business)

(c) @Y & 31=d H (At the end of the year)

(d) =R (Continuously)

23. f[adT gaetr & qey % §- (Main functions of financial management are):
(a) faT TSt (Financial Planning)

(b) SIST T YT FT (Procurement of funds)

(C) QICET 137 T 37TdesT (Allocation of net profits)

(d) 3731 & T3 (All of these)

24. T3 T G EAT A1 g- (The cheapest source of finance is):
(a) #OT9T (Debenture)

(b) FHAT 3727 i (Equity Share Capital)

(c) qaTfRIeIR 312r (Preference Share)

(d) 9T 311 (Retained earnings)

25. @'@f@f?ﬂﬂﬂg‘é oY — (The SEBI was established in):

(a) 1988
(b) 1990
(c) 1992
(d) 1994

26. FAdYT AR 3721 FT STABR.......... H FAT & — (New issued shares dealt in........... ):
(a) FMUT STIR (Secondary market)

(b) ITIfH ST (Primary market)

(c) ITOT AT YA ST g1t (Both Secondary and Primary markets)

(d) 3137 & IS oTeT (None of these)

27. &9 318 g9 819 g- (Maximum wide scope is of)-

(a) §ITUS (Brand)
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(b) SafelaT (Labelling)
(c) YoRTSIaT (Packaging)
(d) SITIR AT (Trade mark)

28. IHIFAT TadTg fIaRUT Tsl=diot - (Consumer dispute settlement agencies are)-

(a) fSTelT 7 (District Forum)

(b) T=T HTIIT (State Commission)

(c) TSI 31T (National Commission)
(d) ST & T3 (All of these)

29. TAg=A0T GFaT=tId g- (Control is related to)-

(a) IR (Results)

(b) T (Functions)

(c) 9ITH (Efforts)

(d) 3T & @IS =T8T (None of these)

30. AAT H IdT & - (The leader possess)
(a) Sef&HAT (Intelligence)

(b) Z‘B‘dﬁi?ﬁ (Foresightedness)
(c) 3TTcH-Taeard (Self-confidence)

(d) & T (All of these)

arﬁmg I Uy (Very Short Answer Type Questions)

31. G169 ®I URYING Hifom
(Define Organizing.)

32. ‘AP TS F STHSIT BT A FdSU

(Name the father of scientific management.)

SIRAUS IISID 3foRielel ud Ufdrgir ufdg, fdt [arfie w3iei)
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33. AR IR fFY FHad &2

(What is stock market?)

34. 7% SUH F o Fafe weht doh eF W@ 22

(What is the most expensive capital for a company?)

35. Use T R 3 B2

(What is the meaning of management?)

36. IUHTTT T T T g2

(What is meant by consumer?)

37. {59 UPR BT IR IRR 3BaTe Bardl 82

(Which type of communication often carries rumors?)

38. fo¥aitsTet sl R &Y |

(Define Planning.)

g ST Uy (Short Answer Type Questions):-

30. Uy Uh Tdd UfhdT g1 HaA?

(Management is a continuous process. How?)

40. aF1FA® YEY P Pz IR faRwang fafaw

(Write any four features of scientific management.)

41, 1 SAfYBR BT HRTYUT {1 ST HepaT 82 9UH HIfT|

(Can authority be delegated? Explain.)

42. 3fes ifa J 37y =1 T 82
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(What is meant by the new economic policy?)

43. 9 & T I 37

(What is the purpose of SEBI)

44, “FOSH TH AFRIG Ufhar 871 G&U § WY SISl

(“Planning is a mental process.” Explain in brief.)

45. T 3 §is M I 1 fIRvang g2

(What are the characteristics of a good brand name?)

46. "N Y &@AT & STk fFAIF0T NS G g 1" Tosehiiav|

("Planning is looking ahead whereas Controlling is looking back." Explain.)

iﬂﬁ' I Uy (Long Answer Type Questions):- 4*5=20

47. IUHITAT TR0 HTAFTH, 1986 F 3= SUHIGAST &I Iuds ISR BT gui=
P

(Briefly explain the rights of a consumer available under the Consumer Protection Act, 1986.)

48. Frgfader ufdsar & faftid wedl &1 dau o gassu|

(Explain in brief, the different steps in the staffing process.)

49, “TH-GY UaY BT IR oI’ T ST 3T JgHd o2 HRUI I

(““Co-ordination is the essence of management.” Do you agree? Give Reasons.)

50. HINE Uolt &1 o1 drad g2 HUid olt &t Sawadal & gHIfdd #1 ard
geh! BT quid B
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(What is meant by working capital? Describe the factors affecting the requirement of working

capital.)

51. UHTA HeRATeT &I HIH-HIF I ST g2 gu B |

(What are the barriers to effective communication? Describe.)

52. QT & 1T &l guTe HIfT |

(Outline the functions of SEBI.)
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ANSWER KEY

CLASS-12

SUBJECT-BST

Q.NO. [ ANSWER | Q.NO. | ANSWER
1 D 16 D
2 C 17 D
3 D 18 B
4 A 19 A
5 A 20 C
6 C 21 C
7 C 22 D
8 D 23 D
9 C 24 D
10 A 25 C
11 A 26 B
12 A 27 C
13 C 28 D
14 D 29 A
15 B 30 D
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SIRAUS IISID 3rofielol d UfdIgivr ufdug, At
aiffb socsfifSue udlstr - 2024

HiscT Ul U1
Model Question Paper
. - 3 TC ¢
DEII- 12 foreeT - refomast , quric- 80
. Time — 3 Hours «
Class-12 Sub. - Economics Full Marks- 80
AT foIS9r:-
o udlgmeff remisra sraol orscl 3 IA= S
Candidates should answer in their own words as much as possible.
o 13l st siforari 3l
All questions are compulsory.
o el Ul bl AT 52 3l
Total number of questions is 52.
* U] | A 30 AP IBADICUI U 3 | U U%I & AR faaeu fSu s1u 31 21él famcu o1
TRIo1 BISRI Ui Uel & feru 01 3ip forerifya 3
Question No. 01 to 30 are multiple choice questions, each question has four options. Select the correct
option. Each question carries 01 mark.
o U%I AIWAT 31 A 38 I 3ifel orE ITiERa Ut 8 fS1aa1 A {081 6 el 1 IR Sotl siforart 3
U U DI ol 2 3ip forerifea 3
Question numbers 31 to 38 are very short answer questions. Out of which it is mandatory to answer any 6
questions. Each question carries 02 marks.
o U%I AR 39 A 46 D oI IR Ul a1 FSrAd1 A febodl 6 Uil @1 It ot siforart 31
URID U6l I 3Td 3 3ib forerifed 3
Question numbers 39 to 46 are short answer questions. Out of which it is mandatory to answer any 6
questions. Each question carries 03 marks.
o U] T 47 A 52 Sl FART Ut 31 fdbodl 4 Uil I IR Soll MfoTdRE 31 UId Ul BI
#1at 5 3icp forerifya 3
Question numbers 47 to 52 are long answer questions. It is mandatory to answer any 4 questions. Each
question carries 05 marks.
1. efaf@a # @ fond ash & FETU= & 39 A @ & a&g3i 1 iftead FHriad care

AT Y E2TTAT ST GohdT 87

Which of the following curve shows the maximum output combinations of two goods by using
optimum allocation of resources?

(a) GHICITE, IW@T (Isoquants)
(b) ATIT T (Demand Curve)
(c) $el 3cHIq dsh(Total Output Curve)
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(d) 3cUTET GHTGAT dgh(Production Possibility Curve)
2. T 7 @ foha 9T &1 FY cAfSe 7R F g7 FHel T J2A097 FId §U Tl fashed 1 7=
e

Which of the following question/s is/are related to Microeconomics? Choose the correct option by
using codes.

i, STGTR & TRy g T hiae T TTeRoT Ha g g2
How is price of a goods determined in a market?
i. U H Ty« o AU Ha g
How should resources be allocated in a country?
iii. e B T el AT TR FATE?
What is the total output level of a firm?
iv.  Ueh S H a3l T hiHA FAT a5l 82
Why do prices of goods rise in a country?
(a)i,iiandiv (b) i, iii, and iv
(c)ii andiv (d) I'and iii
3. oo & & ford sh1s & 39ATTAT & AT ST ThT 82
In which of the following units Utility can be measured?
(a) fReIIHTEX (Kilometres) (b) e (Litre)
(c) ATH (Gram) (d) 93T (Rupee)
4. e Tl T T HIaT T hTHT oller T HIeT 2 § ¢l 38 a&] bl HIIT GIaN-
If the elasticity of demand of a goods is 2 then the Demand of the goods will be-

(a) C‘I'\UﬁFI"’JITFﬂ?‘IZ‘(IT (Perfectly Elastic) (b) IR (Elastic)

(c) Q]ET(TEI?{IT (Zero Elastic) (d) sﬁ?lé'@lﬂ?ﬂ? (Unitary Elastic)
5. Teh SYHIFAT T HTAATH THISSE BT §| S/ AT & HTUR IR Teh SYHTFAT al aE371 & et
ISl H A ToheT SS6il T 3T gIITT?

The preference of a consumer is Monotonic. On the basis of this assumption a consumer will be
indifferent on which of following bundles of two goods?

A(3,4),B(6,7),C(1,2),D(52)

(a) Aand B (b) Aand C

(c)Aand D (d)Band D

6. o= H @ qeh TEJ31T I Teh 3CTER0T 8-
The example of complementary goods in the following -

(a) IR 3R ST (Tea and Coffee)
(b) FeTeT 3 TJTEY (Pen and Ink)
(c) Wﬁ??ﬁ (Pen and Shoes)

(d) {HIeell 3—T\Tﬂ<ﬂld-o1ld:|>o-l (Rasgulla and Gulab-Jamun)
7. HIHATI: U AT 3cUTE dsh &1 31K gldT g7
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Generally, the shape of Average Product curve is -

(a) Ueh I @M (A straight Line) (b) ‘U’ 3T &I ( ‘U’ shaped)
(c) M(Hyperbolic) (d) 3oc ‘U TP bl |(Inverted ‘U’ shaped)

8. AT T FEUR UfAther & 3cUTest Woled A Afe AT T GITAT Jef&r Y ST & oY ScureT H gefer --
-------------- gt

In the Production function showing constant returns to scale, if the factors are increased twice then
by how much the output will increase?

(a)43;I'UTI' (4 times) (b) 13;I'U'IT(1time)
(c) Z?TTTT(Z times) (d) 3?£UW(3 times)
9. faFafaf@d T # 3mad 0ABC 1 &A% FAT 2T & |
What does the area of rectangle OABC show in the following figure?

Y

Iraa R ana
Average Fixed Cost)
b

/‘tﬂ

. AR

3cqTEaT &I HTAT(Output)

(a)FelelldTd(Total Cost) (b) 3IE STITT (Average Cost)
(c) 3iraa R arerg (Average fixed Cost) (d) Dol IF=iry oITdTcd(Total Fixed Cost)
10. U STSTR # AT S H&T gl 8-
The number of firms in perfectly competitive Market is-
(a) 2 (b) 1
(c) 3TeY (Some) (d) 37T f&F (large number)
11. Teh QUTGTANe BaY o HJoleT T et olaT 7 A FleT-T 32
Which of the following are the conditions of equilibrium of a perfectly competitively firm?)
(a) MR=MC T&T MR dsh, MC d%h &l 39 H &I
MR=MC and MR curve cuts MC curve from the above.
(b) MR=MC T MR d%h, MC dsh &l il J &hIc
MR=MC and MR curve cuts MC curve from below.
(c) MR=MC TUT MC dsh, MR T I 39 & FHIC
MR=MC and MC curve cuts MR curve from the above.
(d) MR=MC 4T MC g%, MR d%h &l il J &hlc

MR=MC and MC curve cuts MR curve from below.

12. Teh T & S@RT a&] T hIHT H 10% T GG el I 3T Gfcl hl AT 15% &6 STl & off aE]
1 qfct gram-
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If the quantity supplied is increased by 15% due to an increment of 10% in the price of goods by a
firm, then the supply of goods will be-

(a) tj:USIFPIIT<_~|§I?.|'c\"IT(Perfectly Elastic) (b) smésﬂw (Unitary Elastic)
(c) Q]EIH’EI?CIT (Zero Elastic) (d) EICARS (Elastic)
13. [ @a e 31K FRUT S JI9 & Hid a1 [dheg Tgrg?
Which of the following options is correct regarding following assertion and reason?
HUT (A) : TR TE] I TS Y olaTed A e o et dsh STT 3R T AT 8 |

Assertion (A): The supply curve of a firm shifts towards left due to imposition of unit
tax on a goods.

HIROT (R) : TR ] I TS Y olaTed A o hT AT T 56 STl g |
Reason (R): Marginal cost of a firm increases due to unit tax on goods.
(a) A TErg oifeheT RITAT B
Ais correct but R is incorrect.
(b) A TSI g fheT REET B
Ais incorrect but R is correct.
(c) BT A 3R R TET & TAT R, T AT SATEATR |
Both A and R are correct and R is true explanation of A
(d) 1T A 3 R TEY & TAT R, HT LT ATEAT ST &
Both A and R are correct and R is true explanation of A.
14. TRE TE T AT H Jef ol § TJ ol PIHT I FIT F1d IS &2
What is the effect of increase in demand for a goods on equilibrium price?
(a) W@Iﬂﬁﬁﬁgﬁf@?ﬁ%l (Equilibrium Price increases.)
(b) W@ﬂﬁﬁmﬁgl (Equilibrium Price decreases.)
(c) W@ﬂﬁmﬁwgl (Equilibrium Price remains unchanged.)
(d) WWQWE’TW%I ((Equilibrium Price becomes Zero).)
15. TSR & Aler 3T T AT e 3ot gl &2 ST9-

When will the situation of excess demand rise? When-
(ab=5 (b) S>D
(c) D>S (d)D-S=0

16. YolTaTal 3rAeqae T & Hatl H ATl & 7 & hiet AT HUT T 7
Which of the following statement about capitalist economy?

(a) 3cUTCe o AT IR foAeir Tarfdca (Private ownership on factors of production)
(b) 34Ut WBZ‘?{QIFGIHWTUT (The objectives of production is human welfare)

(c) Wﬂqﬁmﬁq (Total interference of government)

(d) AT I TdT FT HI-TAhT THT oTal (There is no possibility of trade of services of labourers)
17. ATl TOIT ST Teh &0 H 2 o1 AT AT H Heldol § oTUT 10 TR AT i &l hl STHh

& oifareT 358 1o FAET FAST U1 TET & Y 227 & SASETRY Fir &7 a7 gefr?
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Let’s assume that in a country, there are 2 lakh people are employed and 10 thousand people are
willing to work but they don’t get any, then what will be the unemployment rate in the country?
(@) 2% (b) 10%
(c) 5% (d) 20%
18. ITATET T HTWT H T er ereg & &7 AT 82

What does the term Investment mean in the context of Economics?
(a) I AT I (Purchasing of shares)

(b) STHYST T ST (Purchasing of land)

(c) aﬁmzﬂmﬁﬁa@i‘rm (Spending the money in Insurance plan)

(d) t‘{\sﬂm d{-gdﬁa?{-cho af’ragj'#ir (An increment in stocks of capital goods)
19. 31T & ThIY YaTg & al &1Feh AlScl H e AATHT ol yaTg frd feem grarg?

In which direction the flow of factors’ services take place in two-sectors model of circular flow of

income?

(a) B § B T 3T (From firm to firm)
(b) IRAR T B I 31 ( From household to firm)
(c) IRER & gRER I 31 (From household to household)
(d) HH T IRER $r 3R (From firm to household)
20. TR EIRT 3Tl T TS JE=IT 2Tl hr TR o= f&ed 7 & fohey Tageaar o1 Uah o1reT g1l 82

The old aged pension paid by the government is the part of which of the following aggregates?
(a) GDP (b) GNP
(c) TI'@TFB-TIEF(NationaI Income) (d) 3TfFaeh 3T (Personal Income)
21. fArafef@d # & fafawa &1 v aaaeg AregA ST arg?
Which of the following is the universally accepted medium of exchange?
(a) ¥R (Cheque Book) (b) &Y (Bond-Paper)
(c) %FES'N—_C (Demand Draft) (d) Hal (Money)
22. STTST &T H g[8 T HGT hl Tend HIIT H AT FIT BIcAT 62
What is the effect of increment in rate of interest on cash demand for money?
(a) Hl T AT AT ﬁa@ﬁ%ﬁ?ﬁ% (Cash demand for money increases)
(b) Hel &I AheT HIIT H AT BT & 1 (Cash demand for money decreases)
(c) sgar@raa:&rﬁwmﬂaﬁam—cﬁ%(c%h demand for money remains unchanged)
(d) Hel T TR AT I3 ?»TE'IT—‘T% (Cash demand for money becomes zero)
23. JASHAEAT A FHGT I Il Sl TGT & T Ueh shoail Seh oh GART YA 9T {oia=T 3917 & | o=
el T JATT X G TET [dehed T T2+ HIfST|

following are the methods adopted by the central bank to increase the supply of money in an
economy. Choose the correct options by using following codes.

a. %E\Tﬁaﬂﬁ(Decrease in bank rate)
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b. fs{fat T fashr (Selling of securities)

c. aﬁwaﬂm?rﬁawfr( Decrease in reserve ratios)

(a)aandb (b) bandc
(c)aandc (d)a,bandc

24, AFATATRET # T ThE Y I HIITSIT FY Pl SATAT 6 ?

Which of the following is known as paper tax?
(a) 3ITIHYT (Income Tax) (b) IGEIEZ T (Corporation Tax)

(c) Hafr &Y (Wealth Tax) (d) FAT gleh (Custom Duty)
25. TF=1ff&@d 7 & TcT&T Y T Ueh 361607 hied AT 57

Which of the following is an example of direct tax?

(a) 3cHTce &Y (Excise Duty) (b) 3cHTE &Y (Output Tax)
(c) 1913 X (Corporation Tax) (d) §aT & (Service Tax)

26. afe 3T F ARG & IYRFAT FT 3T 7 3aRafdd Edr ¢ ar 57 FFafa & Mpc &1 &1 a1
gram?

If the consumption expenditure of consumers remains unchanged due to change in income, then
what will be the value of MPC?

(a)1 ¥ (Greater than 1) (b) 1

(c) 0 (d) O & 4 (Less than 0)
27. [AFT H O HI AT T Teh T o6l &-

Which of the following is not a component of aggregate demand?

(a) 3UHET SIT (consumption expenditure)

(b) IGENEZE] (Investment Expenditure)
(c) GECAGRIG (Net Export)
(d) T aRGU AT 9T eI (Expenditure on financial assets)
28. ool 13T F IR Eclal AT T T H TR T 3dTel FAT FHEollell 82

What the ratio of change in autonomous investment and change in total output is called?

(a) @Wﬁﬂ%%ﬁ (Marginal propensity to consume)

(b) W@T}T\W%ﬁ (Average propensity to save)

(c) I0Th (Multiplier)

(d) ?ﬁmﬁraﬂwqaﬁr (Average propensity to consume)
29. fageh fafaAT e Fam §?

What is foreign exchange rate?
(a) aﬁﬁaﬁrﬁaﬁm (Price of goods in term of goods)

(b) a@@ragarﬁaﬁlﬂa (Price of goods in terms of money)
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(c) agara%rai——grﬁraﬁma (Price of money in terms of goods)
(d) mﬁﬂaﬁﬁ?@ﬁﬁaﬁm (Price of domestic currency in terms of foreign currency)
30. FET3HT T RT3 o IRTSE oeT-eT o HoTol Y T gl STl 62

What is the balance of international transactions of goods and services called?
(a) WH@W (Market equilibrium) (b) EqﬁﬂTclTﬁ?laTvl?—T(Consumer's equilibrium

(c) IR H@W (Balance of trade) (d) HITATA {-igloio-l(BaIance of payments)

T-CTET 2= (2 37h1)
Very short type Question (2 marks)
frafafaa 7 & gl & Teat & 3R GIS0|
Answer any six from the following questions.

31. 3798 JIRTd, 3cUTcsT THTIT deh bl vl THITAT hial 87
How does opportunity cost affect production possibility curve?
32. ‘3YHIFAT T AT THGSE G |’ 30 HUA F FAT AT 7

‘Consumer’s preference is monotonic.” What does this statement mean?

33. Tfe; Tonell & ohT ShIFT H 5% ol el hlel T SHHT AT HTAT H 8% T Je e g1 STIcil & ol aE]
HAiaT HY HrAd T A9 S|

If quantity demanded of a goods increases by 8% due to fall in price by 5%, then calculate the price
elasticity of demand.

34. HIATH oI1eTd 3R 3T oIeTd & aR&AT™g hIfST|
Define the terms marginal cost and Average cost.
35. HATSE 3emET T TS & HIcTaEAT & IR 813! & 1A faf@u|
According to Macroeconomics what are the four sectors of an economy?
36. ITHTT AT A BfSca [FFAT & Pl IR arvat & faf@e)
Write any four means of digital transactions at present time.
37. Goll 3eTaedT A 319 -1 THSAA &2
What do you mean by an open economy?

38. TN Folc & IRNT Hifaw

Define Government Budget.

ST 92 (3 37eh1)
Short answer type questions (3 marks)
frfoiaa &7 & fhedl &: T2al & 3R faf@u|

Answer any six from the following questions.
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39. WA STRNAAT fordy Tzt &2 Yanfa & wase S & S BrArd 3uifarar o g1l § a9 e
3T 3HTeRAH gl 5 |

What is marginal utility? Illustrate with diagram that Total utility is maximum when marginal utility
is zero.

40. ITE Teh BH &1 3G Belel Q = LOSKOS §1 AT HHA(L) T 36 TUT YT (K) T 49 Fehr1S & foidlistet
A g&] 1 forcTalt gonTs 1 TTRhIH ScuTe=T Toa &?

If the production function of a firm is Q = LO°K%>. then what will be the possible maximum
output by employment of 36 units of labour(L) and 49 units of capital (K)?

41. STSTR HJolel T 3T FAT FHSIA &2 [T @ TI5€ RIS
What do mean by market equilibrium? Illustrate with diagram.
42. TordY T I qfict T FenTacT et aTel foheel ciiel shIehl shl AT ST |
Explain any three factors affecting the supply of a goods.
43. Hehol BC] 3¢UTG oh! IRHATVA HITT| Tg Hehol TS 3cUTE H Tohd FehR He T8I &7
Define Gross Domestic Product. How it is related to Gross National Product?
44, ‘3Tl o Sg AT I THEAT T Fel fha ThR &I Fcll 82 381601 J TISC RIFSAT|
How does money solve the problem of ‘Double coincidence of wants? lllustrate with an example?
45. TIHRT T1C & 38621 H Ieold HITAT|

Describe the objectives of Government budget.

46. I 3ATTTAT H TATIT I (TIATAT 3THIT Ug TR [AA2) (A) 40 TS TIY, 3THTIT hr AT
UgT 0.6 TUT 3T (Y) T FA 1000 S TIF § AT FHI HIIT el AVTAT SHIToTT| AT HeqaedT
HJolel H §? TISC HITIT|
If the autonomous expenditure (autonomous and autonomous investment) (A), marginal

propensity to consume (MPC) and the Level of income(Y) are %40 crore, 0.6 and X1000 crore
respectively. Calculate the value of aggregate demand. Is economy in equilibrium? Explain.

SrE3aIT 9T (5 37hr)
Long answer type questions. (5 Marks)

FAfaa 7 & foheg! I 92T & 3T SIT|

Answer any four from the following questions.

47. AT T HIHAT A I IRHATVA HITSAT| AT T HIAT AT B (a) TATEUTTR T hl STASEAT
T (b) TEJ & dehiodeh T, fohd FehR T81Tfad hd 8?2 Tuse RSV

Define Price elasticity of demand? How (a) availability of substitutes of a goods and (b) alternative
use of goods, affect the price elasticity of demand? Explain.

48. AT T Ffdhel T 3T FIT THST 5?2 Ueh 3GI8I0T U TASE HITAT foh Teh 3cUTGe Helel AT hl
TEUR wfcithel AT YATE 7 THATT TTABel Y el HISC Il 672

What do you mean by returns to scale? When does a production function show constant returns to
scale and increasing returns to scale? Illustrate with examples.
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49. ATl eNTNT Teh ST H &l H & | A 1 &1 i 5 5,= -3 + P (P> 3) =0 (P< 3)

AT B2 FHT G T S,=-10 + 2P (P> 5) =0 (P< 5) AT AR Yfcl deh AT HIfIT|

Let us assume there are two firms in a market. The supply curve of firm-1is §;=-3 +P (P> 3)
=0 (P< 3) and The supply curve of Firm-2 is S,=-10+ 2P (P> 5) =0 (P< 5), then find the

market supply curve?

50. FAT GDP heTUT &l Feh §? TS HITiT |
Is GDP an indicator of welfare? Explain.

51. JHIT AT T 3T FIAT FHSTA & ? THI AT & [T et Hir sarear fifsw|
What do you mean by aggregate demand? Explain its various components.

52. ST Soh FTTTEAT H 1@ W AIT0T fon g Yant shear &2 sarear Hifav|

How does central bank control over credit in an economy? Explain.
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3IRAUS IIf&IP 3folielnol Ud Ufdrgiur ufyeg, il
diftics AreRIfdren uden
(2023-2024)
ufergol usst ust
Model Question Paper

HETT-12 Ry s HHY- 3:00 "eT qUITeh-80

ATATGRI fo1G9r:-
o udlgmeff remisra sruot orscl 3 IA= S|
Candidates should answer in their own words as much as possible.
o 19l Ut siforard 3l
All questions are compulsory.
e Tt UGl bl JAwcar 52 3
Total number of questions is 52.

e Ul 1 A 30 d agfamicus U9 & | 9cdids uet & da1R faascu i s1e 31 218t
farpca &1 TRI6t BRI ueia ust & feru 01 3icp forertfea 31
Question No. 01 to 30 are multiple choice questions, each question has four options. Select

the correct option. Each question carries 01 mark.

o U AW 31 A 38 b 3Mfel o1 IR U 31 fSr1d1 A fepodl 6 usall I I
ol 3tfoIdRI 31 Ui U1 Pl dlol 2 3 forerifed 3
Question numbers 31 to 38 are very short answer questions. Out of which it is mandatory to
answer any 6 questions. Each question carries 02 marks.

o U%I IIRIT 39 A 46 AD T IR U%H 31 31181 A fepodl 6 Uil I 32 ol
iforart 31 Ucics sl oI ATl 3 i forerif¥e 3
Question numbers 39 to 46 are short answer questions. Out of which it is mandatory to
answer any 6 questions. Each question carries 03 marks.

® U%I AT 47 A 52 kel Ferdlr uvet 81 fabodl 4 Uil @l 3R ot siforari 3
UID U%I PI Alel 5 3ip forerifa 3l
Question numbers 47 to 52 are long answer questions. It is mandatory to answer any 4

questions. Each question carries 05 marks.

1. ﬁmﬁﬁﬁammﬁﬁ%ﬁmﬁmﬁgm%?
a. AlgsIlcar b. PIedrair

C. HTeEIT d. gsoar
Which of the following places developed on the banks of the river Ravi?
a. Mohenjodaro b. Kotdiji
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c. Kalibanga d. Harappa
2. B30T HIAT I Y F3T T i AT E?

a. :ngaala?,fl b. gstar
CCICE d. ofrerer
Which is the largest site of Harappan civilization?
a. Mohenjodaro b. Harappa
c. Kalibanga d. Lothal
3. e aTeY HITAT A ThATT S Fel AT 872
a. deTdTell b. drer
c. AlgAolicar d. Srellear
Where is the only port in the Indus Valley Civilization located?
a. Banwali b. Lothal
c. Mohenjodaro d. Kalibanga
4. mm*wmﬁmmwm@w
a.16 b. 22
c.12 d. 07
According to Buddhist literature, how many Mahajanapadas were developed
in India?
a.1l6 b. 22
c.12 d. 07
5. AT AR A TUT AR I UhHTT HgTSAYCS ShisT AT AT?
a. haral b. aierer
c. 3THAS d. iy
Which was the only Mahajanapada of India located in South India?
a. Kamboj b. Kaushal
c. Asmak d. Kashi
6. 372l oh TG HI GATYH Tohdel TGT?
a. ST AT b. ST
c. o AT d. 3etee A%
Who first read Ashoka's inscription?
a. John Marshall b. Cunningham
c. James Prinsep d. Ernest McKay
7. ST fohgehr TT=T 87
a. AIMEY=ATST b. Frelierd
c. Teersir d. Ty
Whose creation is Indica?
a. Megasthenes b. Kalidasa
c. Pliny d. Chanakya

8.  HETHRA HT Je¥ Fo&IT A fehclel feail deh =remr?
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a. 28 b.18

c. 08 d.10
For how many days did the Mahabharata war last in Kurukshetra?
a. 28 b.18
c. 08 d.10
9.  &U fha a4 @ Gafa g2
a. 9T g b. IOT &
C. it & d. sieyr aa
Stupa is related to which religion?
a. Shaivism b. Vaishnoism
b. Jainism d. Buddhism
10. HETAI FATHT T ST gl §3T &7
a. offaely b. 3 ATH
C. Shierel d. grargdy
Where was Mahavir Swami born?
a. Lumbini b. Kund Gram
c. kaushal d. Pavapuri
11. FTF STl ST oIl sleE e &l fohe omar # &y a1g?
a. §rAgTeT b. AaTE
c. FETATT d. STH A HIg =g
In which branch of Buddhism was the idea of the liberator conceived?
a. Hinayana b. Theravada
c. Mahayana d. none of these
12. QRIOT < AT fohclatl 872
a.1l0 b.12
c.17 d.18
What is the number of Puranas?
a.10 b.12
c.17 d.18
13. 3Tcla%eAT fohd $1TYT ST SATTRRY wAaT 2T?
a. ARITS AW b. BRET $TST
C. alTelt TN d. HER T
Alberuni was not aware of which language?
a. Syrian language b. Persian language
c. Greek language d. Sanskrit language
14. SsAdIT o hE GEh HT TT=AT Hr?
a. TohaTe 3 g b. Rgerm
C. 3TTSeY 3Ty d. STEATAT
Which book did Ibn Battuta write?
a. Kitab -ul -Hind b. Rihala
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c. Ain-e-Akbari d. Babarnama
15. MR AT AT FAT

a. e b. 3etAT
c. 33 d. #iear
what is the meaning of PIR?
a. Guru b. Ulema
c. Ishwar d. Maulvi
16. ST&eer FhT Tl ANgoJedlet FRRell T EIaNE el €U &2
a. ieool b. 9cT
c. AW d. 37t
Where is the Dargah of the famous Sufi saint Moinuddin Chishti located?
a. Delhi b. Patna
c. Ajmer d. Ajodhan
17. 371 TYSTT & A9 ohd SadT T 3UTHAT hld &7
a. fasoy b. R
c.IH d. voT
Which deity do the people of Alwar sect worship?
a. Vishnu b. Shiva
c. Ram d. Krishna
18. ISITIR TIHTST & EATIH il 57
a. T ST b. FEHE IraT
c. gRE 3N g d. 375 J P15 8T
Who is the founder of Vijayanagara Empire?
a. Krishna Devaraya b. Mahmud Gawa
c. Harihar and Bukka d. none of these

19. T[] WIecT IHFAATCAC, T =T Tt fomar?

a. daR RAg b. T ST I
c. gR&T d. ST
Who composed Telugu literature Amuktamalyad?
a.Veer Narasimha b. Krishna Dev Rai
c. Harihar d. Bukka
20. 3HEIATAT T ITT Thdel THAT?
a. 3HAR gar b. 3TeTeeair
C. ss—araa@T d. Hﬂﬁqﬁlﬁ
Who composed Akbarnama?
A. Amir Khusro b. Alberuni
c. Ibn Battuta d. Abul Fazal
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21. gATT ﬁa’l%’av—q'gmw

a.1855 b.1630

c.1821 d.1809
When did the Santhal rebellion take place?

a.1855 b.1630

c.1821 d.1809
22. EIfAA-U-hIg FAT &2

a. 39Ty b. SRR

c. HUTAT T A d. 37 ¥ IS AgT

What is Damin-i-Koh?

a. Title b. Jagir

c. Land of Santhals d. None of these

23.1793 ﬁmwﬁéaﬁawwgmmwam SIS H TG it A?

a. O ST e b. FaTfr T
c. Fellsd d. SoTglsir

Who was the Governor of Bengal when the Permanent Settlement

came into effect in 17937

a. Sir John shore b. Cornwallis
c. Clive d. Dalhousie
24. 1857 asrﬁa’lga:r;m:w’rﬁgmm?
a. f[eeen b. ;LS
C. ST d. 37a%r
The Revolt of 1857 started from?
a. Delhi b. Meerut
c. Bengal d. Awadh
25. T T caaTar o fohder ae fhar?
a. Jelotell b. aR=T gfesa
c. STglalr d. Aforgs dfes
Who started the subsidiary alliance system?
a. Wellesley b. Warren Hastings
c. Dalhousie d. William Bentinck

26. a‘rﬂa’mm’gwgm?

a. 5 SteTall 1922 b. 4 BIAL1922
c. 16 AT 1922 d. TH T P 8T
When did the Chauri Chaura incident happen?
a. 5 January 1922 b. 4 February 1922
c. 16 March 1922 d. none of these
27. HGICAT IMET o ITSTiTfcreh [T hleT A2
a. TSt g b. FTeTId T
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C. IMYTeT VT TGl d. FIa’ee e

Who was the political guru of Mahatma Gandhi?
a. Firoz Shah b. Lajpat Rai
c. Gopal Krishna Gokhale d. Chittaranjan Das

28. AR HAUTT AT o TUTS 3ETET leT forgered T I?

a. JTolg 9dTG, b. &g

C. STATELlT Ag® d. TGR ucel
Who was appointed the permanent President of the Indian Constituent
Assembly?

a. Rajendra Prasad b. Ambedkar

c. Jawaharlal Nehru d. Sardar Patel
29. HRET HFUTeT el AT FIHT?

a. 26 STeTaxy 1949 b. 26 e 1950

C. 26 SoTair 1949 d. 26 STl 1950
When did the Indian Constitution come into force?

a. 26 January 1949 b. 26 November 1950

b. 26 January 1949 d. 26 January 1950.
30. TFEITT & AT F fordar AT o912

a.2dvy11 #Ag 11 e b. 2 avy11 ATE 18 feaT

c.3aY 11 A1E 11 fe=T d. 3a¥ 11 A8 18 e

How long did it take to make the constitution?
a. 2 years 11 months 11 days b. 2 years 11 months 18 days
c. 3 years 11 months 11 days d. 3 years 11 months 18 days.

Very short Answer type questions. 2 x6=12
I 9g RT NRA

Answer any six questions.

el o TeaT & 3aX &

31.18e] &Y T FEIAT T gSTUT T T $11 FT gl ATl 672

Why is the Indus Valley Civilization also called the Harappan Civilization?
32.HRAT QTced ol SToteh foheg el a7 672

Who has been called the father of Indian archaeology?

33.372M & FfAET FF FIUUH fFger ger?

Who first read Ashoka's inscriptions?
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3497 FT Fq9 Fel Feud §7
Where is Sanchi Stupa located?
35 .gsoAd T gl I 37T AT?
Where did Ibn Battuta come from?
36.3TeT faclE & JHE A7 hieT 42
Who was the main leader of the Santhal rebellion?
37310 3TGIeleT T IRHA fohdet 31X e fohar?
Who started the non-cooperation movement and when?
38.. dATcicT favafaearery & U= fohdat foham?

Who established Nalanda vishwavidyalaya?

Short Answer type questions. 3 x6=18
T I TR
Answer any six questions.
el & weat F 3 &
39. ESTUT TFIAT & YTTHeh SiidsT Sl GUTeT Hi?
Describe the religious life of the Harappan civilization?
40. 3TTRE T 31TT AT HSTA &2 SoTehT FAT HGcd 62
What do you understand by inscriptions ? What is their importance?
41. s @ 39 371 GHSTA 82
What do you understand by Tripitaka?
42. ASTEAT IX U Figred feouoft feord |
Write a short note on Alberuni.
43. FILOT Hiehel 3R AT iy TRoRT &/ §2 ST |
What is Sagun Bhakti and Nirgun Bhakti tradition? Explain.
44, INYXH Q 3T FIT A 872
What do you understand by Gopuram?
45, 1857 &I shifd & dlcehlfeleh SIRUT &l TV |
State the immediate cause of the Revolt of 1857.
46. §T - RT 3R o- RT T 3T FIT THSTA 5?2

What do you understand by BA-SHARA and BE-SHARA?
Long Answer type questions 5 x4=20

& 3l wea
Answer any four questions.
oY TR weat & 3aw &)
47. AgaToiear ST farwarait &1 auie +Y|

Describe features of Mohenjodaro.

48. HITYT FTHTST P ATFALATT 8leT & HIRUT ST TAT HY|
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Discuss the reasons for the power of Magadha Empire.
49. gUT FTET 3 AT STTTAT 9T 3TAaSAT & [FaOT T g&ToT HIfST|
Examine Alberuni's description on Varna system and Caste system.
50. 1857 o Taglg & Y@ HRUM Hr fad=ar |
Discuss the main causes of the Revolt of 1857.
51. R ASE JHTaTelet 7 el ST & $7fAAT 1 auted |
Describe the role of Gandhiji in the Indian National Movement.
52. 0T &d T fASTIIR & HETATH TS T @2
How was the Krishna dev ray was the greatest ruler of vijaynagar?
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SIR¥AVS IIfSID 3rofieinel ud ufdrgrur ufyvg, il
arftfos sreafdre udsn
(2023- 2024)

ufercof uest us1
Model Question Paper
HETT-12 fawr- sgaer (Geography) HHY- 3 TeT quite - 70

AT forSor:-

o udlgmeff Tremisra sraol 9rsgl 3 AR S
Candidates should answer in their own words as much as possible.

o 313il Ut siforari 3l
All questions are compulsory.

o ol UtGll bl A3 48 Bl
Total number of questions is 48.

o U 13125 AP SBfamiet=I Ul 3 | U® Ut & ar frapeu fou s1e 31 18l fameu
@I TRIol DBISRI Ud Ussl & {18 01 3ip forerif¥e 3l
Question No. 01 to 25 are multiple choice questions, each question has four options. Select
the correct option. Each question carries 01 mark.

o U%I IIRIT 26 A 34 A 3fcT o1 ITERI Ut 31 f512131 A fobodl 7 Uil w1 32 Soll
3iforart 31 Ui Ussl oI Hldl 1 3id forerifed 3
Question numbers 26 to 34 are very short answer questions. Out of which it is mandatory to
answer any 7 questions. Each question carries 01 marks.

*  U%GT AIRI 35 A 42 AD ol IR Ul 3l [SR1 A febodl 6 Uil oI 3R Soll iforart
21 URID UsT DI 1ol 3 3idp forerifea 31
Question numbers 35 to 42 are short answer questions. Out of which it is mandatory to
answer any 6 questions. Each question carries 03 marks.

o UNGT INFRIT 43 A 48 STel IaERT et 31 fapodl 4 Uil I IR Soll SMfordrt 31 uid
U961 b1 3Tl 5 3icp forerifya 31
Question numbers 43 to 48 are long answer questions. It is mandatory to answer any 4

questions. Each question carries 05 marks.

1.“FTA4 3Nl AT §ATS AR a0 & T waul F1 Tl sreaas g1 I8 Fue frasr
%?
a. WaReh {colel b. TeleT &Y Ul
c. fasToT-SY-am-sarar d. 37T Il gFdlec |

1. “Human geography is the synthetic study of relationship between human societies and
earth’s surface.”” whose statement is this ?

a. Friedrich Ratzel

b. Ellen Churchill Semple

SIRAUS IISID 3foRielel ud ufdrgiur uldvgs, Adt (i udtetn) [T : 2023- 2024] Page 1 of 9




¢. Vidal de la Blach
d. Alexander Von Humboldt

2. TY 3R SN farearraTe Heheuar fraa weqd R 2

a. fIfrycer b. Telel T dYeT
c. fasTer-gr-ar-sarer d. et sl |
2. Who introduced the concept of stop and go determinism ?
a. Griffith Taylor b. Ellen Churchill Semple
c. Vidal de la Blach d. Lucian Fabre

3. 214t eraTedY & TR A feg Y FTAEEAT fhdel) gof Y a7$ oY 2

a. 500 s I 3«0+ b. 600 #XIs & FH
c. 700 IS T 3 d. 800 S & ’¥F|
3. What was the recorded population of the world at the beginning of the 21st century ?
a. More than 500 crores b. More than 600 crore
¢. More than 700 crores d. More than 800 crores

4. faraafaf@a & & wrea R gaers w1 @amor Faa

a. ST HEqS - 31 -§h b. 3T 31 Qe

c. 3T ATAIgT (g d. usH &Y

4. Who among the following created the Human Development Index ?
a. Dr. Mehbub ul haq b. Dr. Amartya Sen
c. Dr. Manmohan Singh d. Adam Smithn

5. AT e & FE7 suerat 7 R afFafaa a8t w2

a. 3T 34TTH b. ShedTuT 3UTTH

o

Gk 3T hdTl 3UTITH d.3cY9TgehdT 39T |

5. Which is not included in the main approaches to human development?
a. Income Approach

b. Welfare Approach

c¢. Minimum Requirements Approach

d. Productivity Approach

6. STIT T FeRT AT AT A 8 fFT ST F FETAATE ?
. AgT T & b. dreqeT &7
C. 3TSITETHT &7 d. 3Tcifes de 7|

[o})
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6. Which of the following regions is known as the Bowl of rust ?
a. Great Lakes region b. Petersburg area
c. Alabama region d. Atlantic Coast Region.

7. 3T - T & fiT Hea A A A FATFgA 87
a. TATIR HJelel b. 3N SATIR

c. faea#H R d. 31eTehel SUTIR Hglom

7. What is the difference in price between import and export called?
a. Trade Balance b. Unbalanced Trade
c. Reverse Trade d. Favorable Trade Balance

8. RwTeaTiee &t # Torer S Fr Wiww & forw Ry wepait i wreg of Smelt 32

R SIRCRCIERR b. eve} T areif
c. Fci ud TRl d. St ua Haf|

8. Which animals are used to pull the slej in snowy areas?

a. Dogs and reindeerv b. Horses and donkeys

c. Camels and giraffes d. Bullocks and buffaloes.

9. AR W HIT T 3 TTH 320 7 AT A 82

a. AR b. gTferEdTe

c. HTeIEa d. HINTATATA

9. Which one of the country is not included in SAARC countries ?
a. India b. Pakistan

c. Maldives d. Afghanistan

10. IR Y SFTIVTAT F IHTAR fArafaf@a & @ wla @t v Rervwar sar A afRemar &t afer
el §?

a. STTIEAT "elcd 400 STTF 9Tl 97 fehalleiex

b. FAIRYTTerehT, fATH 1 gl

C. 75% ¥ 318 STIHET FHT IATHS @3 H TeldeT g |

d. STAEEAT 3T 5000 Tfaaar & 37 g1l

10. According to the Census of India, which one of the following characteristics is not a part
of the Definition of a city?

a. Population density 400 people per square kilometer

b. Being a municipality, corporation

c. More than 75% of the population is engaged in the primary sector.

d. Population should exceed 5000 persons.
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11. SHACYT fhH TR T 79N &7

a. e R b. @eAeT IR

c. I¥ed IR d. 54 & PIS G
11. What type of city is Jamshedpur?

a. Industrial city b. Mining town

c. Tourist city d. None of these

12. g1 817 7 Ui¥HA! G@RT T & THST A TATT AT G Y FAT Fgl SATAT 82

a. Shlel b. 39

c. gd d. ST & HIg ST

12. What is the house built by Eskimos from pieces of ice in the tundra region called?
a. Crawl b. Igloo

c. Yurt d. None of these

13. farafaf@a afaal & vfawa # @ wia a1 439 & R RefRadiarg 2

a. ATIATRR Ifawy b. &Y - 3R 9fawT

¢. dR & TR &1 9fd®q d. 3@ gfasa

13. Which of the following settlement patterns develops along roads?
a. Rectangular pattern b. T - shape pattern

c. Star shaped pattern d. linear model

14. faFafaf@a 7 @ s a1 AR &7 7 4 Arfieor w1 aeg R e
a. 37T TolehT 3TILGsT b. Ty 3TRee
. FeT SIgquTeT d.87fF W o< &1 ST

14. Which of the following is the main type of land degradation in irrigated area?
a. Gully erosion b. Wind erosion
c. Soil salinity d. Deposition of silt on land

15. AR FY B Aifaaa wo & fre AT & S ST 82

a. Pl b. Prer@greT
c. T BIfaaT d. gearcaTesT

15. Which name was collective agriculture known in the Soviet Union?

a. Fajenda b. Kolkhoz
c. Truck farming d. Floricultre

SIRAUS IISID 3foRielel ud ufdrgiur uldvgs, Adt (i udtetn) [T : 2023- 2024] Page 4 of 9



16. STeT HHTEEAT T HL&TOT FAT STHT 872
a. STel T AT & fow b. STl HTIT 3R Al & theldd TeuoT I efee
c. T 3R FJad IFHATA d . 3uerd @it

16. Why is conservation of water resources important?

a. For lack of water

b. In view of increasing demand and rapidly spreading pollution
c. Spatial and seasonal inequality

d. All of the above

17. '¥997 FleRX' Fg AT aTe eT9TqTT 5T FeT & 39- [amrga &

a. Jrafdeh e b. gfaciae GareY

c. Jclreh A d. 57 T PIS A8l
17. Businesses called 'Golden Collar' are sub-departments of which sector?
a. Primary Sector b. Secondary Sector

c. Tertiary Sector d. None of these

18. 3N Y STaT= Fr e @ Y FgT AT 82

a. olig 3&=h b. HIEAT
C. HIIT d. areT

18. Which mineral is called the mother of industries?

a. Iron ore b. Manganese
c. Coal d. Copper

19. fAr=faf@a # ¥ o TUTe WX dgrell SATY] 3T T FUTie fam aram ar 2
a. TelIeFeha b. ITCTTYATT HR
c. TRRT d. TR

19. At which of the following places was the first nuclear power station established?
a. Kalpakkam b. Rana Pratap Sagar
c. Narora d. Tarapur

20. ref TR AT 3R yaerer ganT Ion$ STt arelt FRFH 1% - HiS FT HaT FE TSI AR
a. TSTEATT b. 3TT¢T 9S2r
c. SRS d. JTET veer

20. With which state is Neeru-Meeru, a program run by Watershed Development and
Management, related?
a. Rajasthan b. Andhra Pradesh

c. Jharkhand d. Madhya Pradesh
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21. TS AT f3heT T UPRT &1 HT9H H SzdT §?

a. AT HIIN - ShTell IR b. HALT A - ollTel AT
C. AT HIIN - 3T AR d. ShTell {9 - ofTel HIIR

21. Suez Canal connects which two seas?
a. Mediterranean Sea - Black Sea b. Mediterranean Sea - Red Sea
c. Mediterranean Sea - Arabian Sea d. Black Sea - Red Sea

22. ot & @ FieT a1 aTw Ty e foar # Rua 2

a. 9y b. 3T30H

c. T¢OY d. des

22. Which of the following grassland is located in Australia?
a. Prairie b. Downs

c. steppe d. Weld

23. gfaey 31X AT FRE Iatert & -

a. 9aTg o folw b. 31T STETAT & forw
c. A Tweieor & forT d. I FgwoT & ferw
23. Push and Pull factors are responsible for —

a. For migration b. For slums

c. For land degradation d. for air pollution

24. 2011 Y FAIOTAT & IHTAR SR Y Fel STATEAT el g7

a. 102.70 3 b. 121.02 AT
c.118.15 I3 d. STH A HIg oTar
24. What is the total population of India as per 2011 census?
a. 102.70 crore b. 121.02 crore

c. 118.15 crore d. None of these
25. STIHS g for g A X Rya &7

a Wa@r b. I ALY

c. AGTACT d. IMerady AT
25. Diamond Harbor is situated on which river?

a. Hooghly River b. Ganges River

¢. Mahanadi d. Godavari River
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3rfa- g 30T 92aT (Short Answer Type Question)
Arafaf@d yeat & & el a1 vl F13a08 & |

(Answer any seven question from given below)

26.HHIAIE FIATE ?

What is possibilism?

27. STAEEAT G ohY GREATT Y |

Define population growth

28. 6T HTY fFA FEAE 2

What is Intensive farming?

29. FAfHATOT 3T & 379 a7 FHSTA & ?

What do you mean by Manufacturing Industry ?

30. ool Sfeaai fFd Fea &2

What is Hamleted settlement ?

31. gaqavoi fassra Far g 2

What is sustainable development ?

32. F YT FATE ?
What is seasonal migration ?

33. TR HcleleT & JTTehT T AT 87
What do you mean by trade balance?

34. 3eNMNRIOT AT IfShaT & Flef F YG¥T HET T F 3ceT gl &2

Which pollutants are mainly produced by the process of industrialization?

g 309 92T (Short Answer Type Question)
ffaf@a veal @ fredl & et w1 3av & |

(Answer any six question from given below)

35. Fehcl T HATTATRIUT 3l TS Y 2

Simplify the term Humanization of the Nature

36. STel IRage o cilel oTd IV |
Mention the three advantage of water transport.
37. 3R & TR I 3N o vy gait 3 fasnfora R mar 872 fordY v &1 aférea aofa &Y |
How many categories are industries divided into on the basis of size ? Briefly describe
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anyone.
38. #HIOT SRETAT & HET FHEII3N I oy |

Write the main problems of rural settlelments.
39. %R 3R 37T HI H AR o |
Write the difference between dry and wet agriculture.
40. 9asT 31T 9T Figred feoaoly ¥ |
Write a short notes on wind energy .
41. @ISt & TIETUT UF JeeieT FAT 37T & ?
Why conservation and management of minerals is necessary?
42. STel 31T FeT YGNUT & AHATH & T TR HgeaquT Foia ST |

Give four important suggestions for prevention of water or soil pollution.

&rer 38— e (long Answer type question)
freafaf@a meal & & FFedl aR weat F 3 & |
(Answer any Four question from given below)

43, STIEEAT g o 3T 1 FHSIA & ? Geleh Teehl T faEcl ITEAT HITAT |

What do you understand by population growth? Explain its components in details.

44, 3TN & FATATIRIOT Y FHTTAT &hlel aTel hIehl I TAa<ell STV ?

Elaborate the factor affecting the location of industries?

45. ITHIOT Td AR SE F FEd & ? e [AAYATd §ad |

What is rural and urban settlelment ? Describe its characteristics.

46. 9dTH FIT & ? $H% HRUI I TAdTAT HIfST |

What is migration? Describe its Causes.

47. 9RlagsT Ud TR Ja13il & Hgcd T GiaEdr gulel hifaT|

Describe in detail the importance of transport and communication services.

48.1329 & AT A RArafaf@d s -

Show the following on the world map :-
a. 3TolET (Alaska)

. AfFge! T @WrSr (Mexico)
STt (Japan)

. Hhucr3eT (keptaun)

. #&$ (Mumbai )

® a0 T
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SIRIAVS IfSID 3folzieiNel Ud ufdrgrur ufdvg, it

Answer Sheet — Geography
Class-12 (MCQ)

1 a. e Yeatar

2 a. I eer

3 b 600 FZ

4 a. 31 AGYd 3o &
5 d. 3cUTEehdT 3UTTH
6 b. ReaeeT &7

7 a. SATYR HcJolel

8 a. Pl Td TSI
9 d. 3TaTfaEdT

10 C..75 % § 3TOh STATEIT H TATHS TS H TEATId glell
11 a. 3irenfares s
12 b.S?T‘—[\

13 d. ¥ gfawa

14 c. f& FaoTaT

15 b. SITEgIT

16 d. 3T qef

17 c. Jeirgeh Herel

18 a. oiig 3TTH

19 d. AR

20 b. 3TT=8T Weer

21 b. T AR — olTel IR
22 b.g:s'ﬂ

23 a. yag & fow

24 b. 121.02 S

25 a.gﬂ?ﬁﬂa
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SIR¥IVUS TSP 3lolziellol Ud Ufdrgrur ufdyg, it
aifitios sreAfdd uien
(2023- 2024)
ufercol uest ust
Model Question Paper

F8TT-12 faw- 7 s HHAY- 3 °eT quTfeR-70

A foIGIr:-

o uStgtreft remisra 3ot 9recl 3 3R Sl

Candidates should answer in their own words as much aspossible.

o 218ft uest siforart 3

All questions are compulsory.

o el Uil bl Ao 48 3

Total number of questions is 48.

0 %1 1 A 25 A JEIADICWRI U1 & | U U%el & AR fawmeu {3 s1e 3 18l fameu
DI Aol DISRI YD U%I & 10 01 3icb forerifed 3l

Question No. 01 to 25 are multiple choice questions, each question has four options. Select the

correct option. Each question carries 01 mark.

0 U191 ISR 26 A 34 7D 31fel ofF AR Usl 31 fSR16 21 fepedl 7 ussll oI = Sl
siforart 31 Ui Uesl b1 el 1 3ib forerifea 3

Question numbers 26 to 34 are very short answer questions. Out of which it is mandatory to

answer any 7 questions. Each question carries 01 marks.

0 %1 AT 35 A 42 7D o1 IR Uel 31 f51r1dt A fbodt 6 Uil o e ol siforard 31
U U DI ol 3 3icp forerifea 3

Question numbers 35 to 42 are short answer questions. Out of which it is mandatory to answer

any 6 questions. Each question carries 03 marks.

0 UI%1 ¥R 43 A 48 ST 3tdkRI usst 31 fobodl 4 Uil oI 3R Soll StfordRI 31 Ud Ut
BT 3T 5 3icp forerifea 3

Question numbers 43 to 48 are long answer questions. It is mandatory to answer any 4 questions.
Each question carries 05 marks.

1.37ThR T Helcd H S¢o7 ol AT Thgd g7
A Fefa B.fasra
S-NICET PN
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1.What is increasing in size and density called?

A. Growth B. Development
B. inheritance D. Skill

2. STeTeh ATAT-T9AT | 9o T &-

A. AT 0T B. QTcTaRoT

C. hierel D. faera

2. The child receives from the parents-
A. hereditary traits B. environment
B. Skill D. Development

3. 5o o GHY 2] 1 3T HR G g -

A.2 Treliama B.3 fohaitare

C.1.5 freltamH D.3.5 ferellama

3.The average weight of a baby at the time of birth is —
A. 2 kgs B. 3 kilograms
C. 1.5kg D.3.5 kg

4. 36 HTg o STclh I AT FaTs glcil 6-

A. 62 G#Y B.92 - 95 H&T

C. 72975 4T D.50 HHT

4.The average height of a 36 month old child is-

A.62 cm B.92 - 95 cm

C.72t0 75¢cm D.50cm

5. SR el @i AR feeaa & et & forw fRre) o fqw et aret &b vt
ATH &-
A. SELS B.3r.UT.&r

C.UH. UH. 3N D.gan

5.The name of the vaccine given to the child to protect against diphtheria,
whooping cough and tetanus is-

A. BCG B.D.P.T

C. M.\M.R D. Measles
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6. .97 AT TgoIT SIehT e oT9TdT &-

A. 1.5F81 I B. 2.5 AT W
C5a¥ W D.1a¥ )
6.When is the first DPT vaccine given?
A. at 1.5 months B. at 2.5 months
C. at 5 years D. on 1 year
7. &TIRNIT TUT F6 3T A7 fehT 8-
A SrardY B.&dell
C. @& D.&.4rE
7. Tuberculosis and leprosy are caused by-
A.DPT B. rubella
C. Measles D. B.CG
8. TS T AT A glel AT AT &
A. TTclhs B. 9o
C. Tohdf D. J@r A1
8. lodine deficiency disease is
A. galkand B. Berry Berry
C. scurvy D. rickets
9. AMTEITIE TTEAT Fgd &-
A. Th T 6 IV I 3Geam B. Teh & cileT Ay I 3raeem
C .U ¥ &I 9y &l 3raeern D . Ueh T 8 IV I 31a¥2m
9. The preschool stage is called-
A. 110 6 years old B. one to three years old
C. one to two year old D. 1 to 8 years old
10. AT T2UT TSHISS fFd bR T 51 -
A. cTaTellel oaX B. &rehrelled 3aX
C. 37T hTolled 5ax D. ATYRUT ST

10.What type of fever is malaria and typhoid?
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A. short term fever B. chronic fever

C. intermittent fever D. common fever

11. HoTST @RT FANT & ToIT FRI&T STel &l e § -

A. HQFEIEIT»T B. QFETGI?T

C.IITeI STl D. 3TNt STel

11. Safe water for human use is called -

A. impure water B. pure water

C. colorless water D. odorless water

12. 311, 3R, T (O.R.S)hH afad &I fear e g -

A. §STT 8 TET Tierd ahl B. HIRAT ¥ T T ol
C. fasTeleor & o cafard &t D. TISHhISS H AT T Tard ol
12. 0. R. S (O.R.S) is given to which person?

A. to a person suffering from cholera B. a person suffering from malaria

C. to a person suffering from dehydration = D. a person suffering from typhoid

13. SfTaef T&Teh ilel (3T.3R.TH) RN # fehdeht shal ol 5T i &2

A. STl AT @ie T uery & B. 9IEie &hr

C. FIElgISse ST D.gdr &1

13. Life Saving Goal (ORS) removes the deficiency of what in the body?
A. of water and food B. of protein

C. of carbohydrates D. of fat

14. FleT § Tl & TEH ITANT F FLREH AT 9T &1 ST & ToreenT 7e
ST&TOT Y&TTeTd & -
A. T &Tel B. 3REX aTel

C. @aNY erel D. FaTETe

14. Excessive use of which pulse causes a disease called Lethirism, the main
symptom of which is paralysis -

A. Chickpea lentil B. Pigeon Pea

C. Khesari Dal D. moong dal
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15. 31T AT @ o 37} T AT hgd &-

A.cI3g B. dUd

C. fafarer D. gifer

15. What is the difference between income and expenditure called?

A. Expense B. Savings

C.appropriation D.Loss

16. YTcdehdT fS1H ek Y 3191 @I AT fhaY 3T & @Id H STAT HIdT ThdT &
AT P FESE-

A. 39Tdfesd 9 B. (™@ifehd Uk

C. H1G2H Ik D. dTgsh Uk

16. The check which the recipient can deposit in his own account or someone else's
account is called-

A. dishonored check B. crossed check

C. order check D. bearer check

17. 8T Bl G hieT AT HATeTehIahuT [eg gIdT &-

A. TITHTR B. UH.UL.31

C. 38 .UH. 318 D. 9. U%. T

17. Which standardization mark is there on preserved fruits-

A. agmark B. FPO

C. LS. D.P.F. A

18. TES F $H 10T & T Ugalal AMgT?

A. oo TUT Fell I B. @Y AT Icehlol WM oh Fail a&T
C. IHDI ToedeT a&F D. Othe IT3H a&F

18. What color clothes should be worn in winter?

A. light and cotton clothes B. Dark and bright colored woolen clothes
C. bright linen clothes D. white silk fabric

19. 3T H SBTETATT oh T H USTIR AT el o TolT hioT AT FRAETT e
AT grafl-
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A. BIcdl HaoldHe B. 38ciead

C. Uiforefaas D. AS.A3.TH

19. What education is required to get employment as a dietitian in a hospital?
A. Hotel Management B. dietetics

C. polytechnic D. ICDS

20. 37TYTS GIdl T T&AT fohdail 8lciT & -

A. 30 B. 20

C.14 D.18

20. What is the number of temporary teeth?

A. 30 B. 20

C.14 D. 18

21. 3 G T FSTE@H lrel Urel AT T T3T hT TETTAT &1 hleT AT LT Hgelld o-
A. IR a1 B. 33 3T

C. I T D. dig3r

21. All those colors in which red, yellow or orange predominate are called which
color?

A. primary colours B. cool colors

C. warm colors D. intense color
22. 9TeMeh H ofdT ST Sl JATIT el ST TFd oW TE@TS IS g-
A. AT JUT BT B. €T g Ul
C. BIC &e Fl D.dlsr

22. By using long line in the dress, the person becomes visible-
A. thick and short B. long and thin
C. Short heighted D. Wide

23. foeT 7 & 3192w 1 ggareT Hhifaiu-

A. I B. Tolehd T3
C. hgl & Ths D. M & ¢
23. Identify the absorber from the following:

A. Rubber B. talcum powder
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C. pieces of wood D. pieces of glass

24. Hhe s TR-IR Ul @ ool I8 ST £ 3o¢ T & The, T IHHGR dallad

& TOIT T ST SATaT B-
A. TG B. HeT
C. #Har D. HlS

24. Washing white clothes again and again, they get dirty, what is applied to make
them white and shiny again-

A. glue B. Indigo

C. Fine flour D. Starch

25. 3115, TH . 313 T I gl AT SATT 572

A. T8I Bl 0 B. 319fer vq Higd yameed W
C. fSstell & 39l I D. 7Y 3cUTeehl N

25. Where is the ISI symbol given?

A. on preserved fruits B. on medicines and cosmetics

C. on electrical equipment D. on milk producers

T T 9T 1X7=7

26. IRUFadT H 3T FIT THSTA 62
What do you understand by maturity?
27. gef&r & gRHT QS|
Define growth.
28. AR Taerry &1 fAfFesT 3raram faf@n|
Write the different stages of physical development.
29. STeTeh! & HTYT fAehTH & TLUT AT
State the stages of language development in children.
30. T H 91T F ITT & AT diesh STy
Explain the general methods of prevention from infectious diseases.
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31. TAET @ T AT olg ded T 3T ehdT ATl I TaEUT H 3Teeh F3T glchl 87
Why is the need for Vitamin A and iron more in the pre-school age?

32. FoT¢ fohdel JehR &I 81T 2 TUT shifoly]
What are the types of budget? Describe it.

33. YTH TSIH I dleleh T T F dierdal 7 fafae?

Write in a few lines the impact of the neighbourhood on the child?

34.5Y # [ 7T Ut ht ST fohE T G@RT ol STl 872

By which instrument is the water mixed in milk tested?

T 3T 9T 6x3=18
short answer type questions.

35. T T aTe-fohITel T@at & T oITsT &2
What are the benefits of keeping household accounts?
36. AT 3T T 3119 FIT HHST 67
What do you understand by mental income?
37. Ueh 37T TaaTaeT & T SITehRT fielelr arfeu?
What information should a good advertisement convey?
38. 3uHTFdT EI&T0T T faATa a7 87
What is Consumer Protection Act?
39. ITAT o GAY UgeTel dTel a&T FT Theal IR TAATAT3T T FUTH Y|
Describe any four characteristics of clothes worn while travelling.
40. Y2 9T &Y STTeT aTel fohegl IR IR & I H gdT0?
Tell us about any four finishes given on clothes?
41. STHTA & HIFHA & fIT 3uFeFd HYS HT IR [FATAT TS|
Mention four characteristics of clothes suitable for rainy season.
42. TR o TR H 3TAENT ol T Agcd 672

What is the importance of iodine in the diet of teenagers?
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& 30T e 4x5=20

long answer type questions,

43. IR GG FHI SHeRT T[0T & TIT 37T febeT STl ohT &ATeT T2
While buying a garment, what things will you keep in mind for its quality?
44, ATTRIE T (e T 3T FIT GHST & ? HATThIn 0T [UgeT ol T Fgcd o ?

What do you understand by Standardization Mark? What is the importance of
standardization mark?

45. I Sl T AR Sided H AT HAgcd g7
What is the importance of saving in our life?

46.TRARTTELT H TGN TSI d GHY fohe-TeheT STAT ST EATeT TWAT
3TaLTH 72

What things are necessary to be kept in mind while planning diet in adolescence?
47. HehTHe AN § I91d & foIT ATATTT dlieh SdT0? SHT gAR Siided & F4T

Hgcd g7

Tell general methods to prevent infectious diseases? What is its importance in
our life?

48. FHTRC STol [T TRATSIAT T §2 SHeh 8T HHE hiol-ahiel U 57

What is integrated child development project and what are its target groups?
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SIR¥S IEIP 3feRielol ud ufdrgor ufve, Al
aifties udiem 2023-24

Jiisct U1 usl

FTRAICI(EG Ipfeud usst)
DEIL:-12 fererr :- a1 farsiret

1.A 14.C

2.A 15.B

3.C 16.B

4.B 17.B

5.B 18.B

6.A 19.B

7.D 20.B

8.A 21.C

9.A 22.B

10.B 23.B

11.B 24.B

12.C 25.C

13.A
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